DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

o

(o

ARLINGTON
VIRGINIA

ARLINGTON COUNTY, VIRGINIA
OFFICE OF THE PURCHASING AGENT
2100 CLARENDON BOULEVARD, SUITE 500
ARLINGTON, VIRGINIA 22201

CONTRACT RENEWAL
TO: ALAN TYE & ASSOCIATES, L.C. DATE ISSUED: JUNE 19, 2020
9669-D MAIN STREET CONTRACT NO: 20-157-ITB
FAIRFAX, VIRGINIA 22031 CONTRACT TITLE: STERTIL KONI INGROUND LIFTS

THIS IS A NOTICE OF RENEWAL AND NOT AN ORDER. NO WORK IS AUTHORIZED UNTIL THE VENDOR RECEIVES A VALID
COUNTY PURCHASE ORDER ENCUMBERING CONTRACT FUNDS.

The contract documents consist of the terms and conditions of AGREEMENT No. 20-157-ITB including any
attachments or amendments thereto.

EFFECTIVE DATE: JULY 1, 2023

EXPIRES: JUNE 30, 2024

RENEWALS: ONE (1) ONE (1) ONE RENEWAL REMAINING
COMMODITY CODE(S): 56075

LIVING WAGE: N

EMPLOYEES NOT TO BENEFIT:
NO COUNTY EMPLOYEE SHALL RECEIVE ANY SHARE OR BENEFIT OF THIS CONTRACT NOT AVAILABLE TO THE GENERAL PUBLIC.

VENDOR CONTACT: DAVID BRADLEY VENDOR TEL. NO.: (703) 560-7011
EMAIL ADDRESS: DAVE@ALANTYELIFTS.COM

COUNTY CONTACT: CARMEN RIVERALEHMAN

COUNTY CONTACT EMAIL: CLEHMAN@ARLINGTONVA.US COUNTY TEL. NO.: (703) 228-6465
CONTRACT AUTHORIZATION
THE COUNTY BOARD OF ARLINGTON ALAN TYE $ ASSOCIATES, L.C.

COUNTY, VIRGINIA
PRINT: Meloni Hurley
SIGNATURE: (:Zf;:: 444444 SIGNATURE: (_Dll\/lf)?;yﬂﬂmﬁ{
TITLE: Assistant Purchasing Agent TITLE:  Operatiors“Manager

DATE: 3/14/2023 DATE: 3/13/2023

PRINT: David Bradley




DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

Item No.
2001-08-04
119911
119912
221706
227778
513162
513189
513190
513192
1615655
1615656
3010010
6000704
9079250
9079265
9079700
9079720
9160600
19091255
30001001
30001003
30001004
30001006
30001009
30001013
30001014
30003002
30003100
30006200
30007375
30007400
30501003
30506751
30506753
30540110
30599000
32000102
32000103
32000106
32000108
32000109
32000120
32000175
32000225
32000350
32003001

Item Description

Fitting, Adapter, Straight, %" BPPT x 8m push

Paint, 2 oz. Bottle w/ Brush, RAL 1013 Off White

Paint, 2 oz. Bottle w/ Brush, RAL 3002 Red

Ear For Twin Button Actuator Plate on Sky, Eco & Becker Pendant
Insert, Arrow, on Push Button for Sky, Eco & Becker Pendant
Emergency Stop Actuator For Eco, Diamond & Becker Pendant
Contactor, N/C For, Eco, Diamond & Becker Pendant
Contactor, N/O For Eco, Diamond & Becker Pendant

Switch Actuator For Eco, Diamond & Becker Pendant, 2 Pos Rotating
Stop Button 3 SB 1000-1FC 01-see part # 69141061A

Holder 3 SB 1902-1AC

Rubber Bumper, Battery Cabinet

Hinge Strap on Control Box, Freedom Lift

Hose, Protection for Conversion to Mech JB

Hose, Protection for Converting to Mech JB

Hose, for Conversion to Mech JB

Hose, Air, for Converting to Mech JB

Cylinder for Converting to Mech Lock on JB

LED Lamp Assembly Used On Door Of 1082E, 1060C & 1073C. Green Color
Pawl For ST1065 And 4100

Slide Plate, 15mm, For Mobile Column Guide Block Rollers
Clamp

Slide Plate, 16mm, For Mobile Column Guide Block Rollers
Slide Plate, 18mm, For Mobile Column Guide Block Rollers
Slide Plate, 177mm, For Mobile Column Guide Block Rollers
Nut, Special, 3/4" long

Cap, for Bottom of Thread in Pad Adapter, on 2-post

Flat Rubber Cap, Threaded Pick-up Pad, for SK2.16 Lift
Hydraulic Hose For 2-Post Slave

Printed Circuit Board

Potentiometer Unit Assembly Stertil-Koni Lifts

Packing Ring

Bearing Ring, 0035 Cylinder

Locking Ring, 0035 Cylinder

Cover, Control Box, STO035

Seal Kit, Cylinder, STO035

Support For Hydraulic Unit

Rubber Seal

Rubber Seal

Bolt Cover

Bolt Cover

Ventilator STO035

Bracket, for limit switch, STO035

Cover Plate ST0035

Cable

Axle

ATA Retail
$8.20
$40.99
$40.99
$6.09
$13.38
$285.85
$153.31
$215.10
$368.97
$104.84
$24.76
$166.93
$60.73
$64.59
$72.35
$63.10
$31.11
$3,382.31
$42.37
$315.47
$60.00
$43.38
$60.00
$60.00
$60.00
$60.00
$32.13
$364.18
$108.73
$841.63
$897.09
$60.00
$163.34
$136.03
$255.48
$179.42
$233.50
$50.89
$347.49
$9.11
$9.11
$401.68
$124.79
$500.23
$472.91
$214.23



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

32003002
32003003
32003025
32003100
32006251
32006252
32006253
32006254
32006255
32006256
32006258
32006261
32006262
32006850
32007150
32007250
32007300
32007350
32040150
32040152
32046050
32046100
32206050
32206100
32206250
32206260
32206261
32206910
32206911
32206921
32500101
32500103
32500104
32500105
32500106
32500107
32500108
32500109
32500116
32506101
32506102
32506103
32506106
32506108
32506109
32506270
32506750

Bolt, For STO035

Bushing, for ST1035 Adjustable Liftpad Slide
Handle Grip 0035

Liftpad, Adjustable For 0035 Lift

Reservoir, For STO035

Levelcontrol LEM6LN L=130 ST

Filter, Suction, For STO035

Return Filter 10 Micron - use 32006254US
Pump, PHC 6.0 cm3/Rev. For ST0035

Hydraulic Block, For 0035 Pump Unit

Coupling Pumpside

Valve, Check, for Hydr Units on Superior Controls
Breather Cap

Cylinder, Hydraulic Ram ST0035 Old 32006750
Printed Circuitboard ST0O035

Electric Cable

Cable Tree

Cable, Harness, 0035

Push Pin For Swing Arm 0035

Locking Pin, on Extended Flex Arms, Freedom Lift
Left Oil Pipe STO035

Right Qil Pipe ST0035

Oil Pipe Left Wider Version For STO035

Oil Pipe Right Wider Version For STO035
Hydraulic Unit, ST0035, 208/230 3 Phase 2.2KW

Motor, 230/400 V, 50Hz 3P For STO035 2.7 KW@230v 4KW @ 400v

Check Valve

Hydraulic Unit, STO035D, 230/400V, 3 Phase, 150 Bar

Motor, 3 Ph 220/400V, 60 H, 4. KW, STO035

Motor, 3 Ph 208/230V, 60hz, 2.2kw, MT90, STO035

Cable Channel Cover ST1072/1055
Cover Hydro Unit

Roller, Guide Block, 1060, 1072 & 1073 aka 1020.50.00.30

Bracket, ** USE Item Number 32700101 **
Wheel, Front, for 1065/ & early 1072
Bracket

Cable Support

Shaft For Front Wheel On Most Mobiles
Wheel, Front, For Mobile Cols
Reservoir 8 Liter Steel

Oil Level Eye 8 Liter

Suctionfilter D, 62 DA3/8 FO

Valve Block Assembly 2.0 L/Min
Coupling, Pump Side, Most mobiles
Coupling, Motor Side, Most mobiles
Seal Kit, Pallet Jack, ST1065

Cylinder, Hydraulic Ram ST1065 / 72

$48.73
$43.38
$198.15
$933.61
$1,114.53
$396.85
$190.14
$156.63
$1,620.79
$2,782.02
$92.84
$266.20
$18.63
$3,207.56
$1,685.45
$374.91
$353.47
$244.76
$86.76
$124.79
$342.24
$342.24
$277.43
$277.43
$6,577.93
$1,984.29
$227.38
$6,577.93
$2,609.69
$3,244.49
$212.08
$556.31
$160.67
$28.60
$228.15
$97.99
$152.11
$119.44
$228.15
$842.46
$43.38
$124.79
$1,794.17
$132.13
$282.77
$291.80
$2,859.57



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

32506751
32506752
32506753
32507130
32507150
32507151
32516105
32550102
32550103
32550110
32550111
32550115
32550120
32551150
32552058
32556075
32556150
32556226
32556229
32556232
32556236
32556256
32556280
32556284
32556901
32556902
32556903
32556904
32556905
32556907
32556908
32556910
32556931
32556941
32557101
32557126
32557128
32557150
32557170
32559025
32559045
32559070
32567126
32567200
32591020
32599000
32620101

Bearing Ring

Guide Ring Holder

Retainnig Ring

Cable Connector Cap For ST1065

Communication Cable, 12m, Non-Drive Over, ST1065
Communication Cable, 12m, No ends, ST1065
Pump 1.2 cm3/rev

Shaft, Balancer Pivot

Shaft, Balancer To Pallet Jack

Pawl ST 1072

Distance Piece Short

Nut, Special, Pawl ST1072, 7/8" long

L-Shaped Protection Bracket Pallet

Top Plate ST 1072

Lock Profile, on Guide Block, ST1072,

Hydraulic Pipe

Hydraulic Hose

Locking Plate

Spring

Lever Plate For 1072 P/]

Valve Sleeve

Axle For Pallet Jack

Seal Kit, For Original 1072 P/J
Service Kit For Pallet Jack

Motor, 3-Phase 208/400/460 V

2L Flow Control Valve

6L Flow Control Valve

Non-Return Valve, ST1072 Only
Spring For Check Valve

Red Plastic Cap

Pressure Relief Valve 265 Bar

Flow Control Valve 4.5L

Motor, 3-Ph 575V 2 HP

Motor, 1-Phase, 230V

Cable, From Potentiometer Down To Control Box On Set-ref controls
Control Box, Primary, 1072 (Shell Only)

Door For 1072 Primary Control Box

Communication Cable, 12m Drive Over, Black

Drive Over Connection Cable 30.5M ST1072

Light Control Box 1072 208/230V

Light Control Box, Mobile Column, 440-460

Cap Kit, 1072 Pallet Jack Metal Cap For Original Style Pallet Jack Only
Control box, 1072 Shell Only

Control Box, Secondary 1072 3-Phase 230/400/460/575
Adapter, Saddle, Adjustable, for SK Chassis Crossbeam
Seal Kit, Cylinder, ST1065/ST1072/ST1073/ST1075
Cable Channel ST 1072B Primary

$179.42
$124.79
$86.76
$282.77
$3,361.09
$1,820.96
$1,712.23
$32.13
$19.81
$298.85
$43.38
$60.00
$81.41
$298.85
$851.82
$184.79
$136.03
$6.99
$12.79
$14.21
$49.74
$33.17
$279.25
$136.87
$2,636.63
$233.50
$233.50
$163.34
$70.70
$35.35
$364.18
$239.41
$2,772.66
$1,956.99
$234.64
$851.26
$377.73
$3,451.77
$4,321.56
$1,491.97
$783.40
$124.79
$1,071.14
$5,180.45
$643.55
$625.02
$272.06



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

32700101
32700104
32700105
32700110
32700111
32700116
32700117
32700118
32700120
32700121
32700122
32700128
32700129
32700131
32700134
32700140
32700150
32700160
32700170
32700200
32700250
32700300
32700935
32702000
32702002
32702075
32702085
32702200
32706075
32706200
32706201
32706203
32706205
32706210
32706220
32706225
32706230
32706237
32706240
32706245
32706250
32706290
32706292
32706800
32706900
32707050
32707125

Angle Support, For Potentiometer

Roller, Guide Block, ST1082, ST1085

Wheel For Mobiles With Retractable Wheels
Wheel Shaft Mobiles With Retractable Wheels
Shaft For 1082 Retract Wheel

Top Plate, Beveled Profile

Top Plate, Flat Profile

Pin For Adjustable Fork

Cap For 1082 and Newer Pallet Jack

Shaft, 1082 and Newer P/)

Safety Lock Pawl 1082, 1085

Push Plate

Axle, for Retractable Mechanism to P/JPivot
Cover, Plastic, on Base of Retractable Wheel Lift
Support Bracket

Upper Sheetmetal Cover Lifts With Superior Controls
Support, Front, For Lifts With Retractable Wheels
Rod, Pull, for Retractable Wheels

Hinge ass’y for mobile column retractable wheels
Torsion Bar, For Retractable Wheel Mechanism
Balancer For 1082 Jacking Mech

Balancer For 1082 Batt & Orig 1055-1060 And 1072
Pawl, for Lock on Fork Exten. on Adj Forks ( short pawl )
Guide Block, ST1082 w/ Adjustable Forks

Lock Profile

Adjustable Fork (Left )

Adjustable Fork (Right)

Guide Block ST 1082

Hydraulic Pipe, 1082, 1085, 1073 & New 1060
Pallet Jack Assembly 1082/1085
Wheel, Use 32706201A

Dust Cap For 1082 Pallet Jack Wheels

Hydraulic Valve Assembly 1082 Pallet Jack

Spring Cover Assembly 1082 Pallet Jack

Lowering Valve Kit 1082 Pallet Jack

Lowering Screw Assembly 1082 Pallet Jack

Safety Valve 1082 Style Pallet Jack

Rubber Oil Reservoir For 1082 Pallet Jack-See part # 32706237A
Pallet Jack Handle Mobiles

Seal Kit, P/J 1082

Cover For 1082 Pallet Jack Reservoir ,Black Plastic
Pallet Jack Assembly, New Style 1072/ 1060/ 1055
P/ Cap For 'New' Style 1072 Pallet Jack 90mm Tall
Cylinder, Hydraulic RAM ST 1082, 1085, 1100

Seal Kit, Cylinder, ST1082, ST1085, ST1100
Pushbutton Panel For Superior Controls

Control Box, Superior Contr. Shell Only

$17.67
$222.79
$76.06
$36.96
$25.70
$133.90
$97.99
$86.76
$70.70
$32.13
$315.47
$60.00
$35.28
$103.38
$119.44
$380.80
$260.83
$217.44
$184.58
$391.22
$233.50
$212.08
$22.50
$4,736.36
$710.47
$1,950.55
$1,950.55
$3,310.72
$353.47
$1,331.97
$440.48
$20.90
$92.64
$28.92
$76.52
$26.25
$26.25
$43.17
$228.15
$108.73
$16.07
$1,646.88
$168.71
$3,397.68
$679.65
$869.77
$842.46



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

32707126
32707130
32707150
32707170
32707200
32707300
32707945
32707970
32709122
32709130
32709133
32711052
32724141
32730251
32730254
32730300
32730350
32730360
32731910
32731915
32731920
32731926
32731930
32731932
32731934
32731955
32736150
32737100
32737108
32737109
32737125
32737140
32737160
32737165
32737175
32737180
32737185
32737190
32737200
32739050
32739100
32739101
32739104
32739108
32739110
32739112
32739113

Door Panel, Superior Control Without Pushbutton Board. Sheet Metal Only
Door Panel, Superior Control With Pushbutton Board.

Communication Cable, 12 m Non-Drive Over, Red

Communication Cable, 21.5m Non-Drive Over, Red

Control Box, Primary Superior Control, 3 x 208

Control Box, Secondary Superior Control 3x 208-575

1082 Battery Cut Off Switch

Control Box, Secondary, Turtle Control Single Phase

Hose & Fitting Kit For Weight Guage For ST 1082

LED Lightset for Wireless Only

Cable, LED Harness for Mobile Column

Bracket, Mounting, for Pallet Jack, Weld on Part

Cover ST1082E Sec Column

Battery Retainer Bar

Inspection Glass To View Battery Charger On Batt Lift Requires 1002.22.01.32
Cabinet, Sheet Metal Only, for Battery Lifts, Bolt on Frame

Mounting Frame For 32730300 Sheet Metal Cabinet On Battery Lifts
Sheet Metal Plate On Battery Lift To Cover Hole For Wireless Module
Conversion, Wired To Wireless Lift

Conversion Kit, To Zigbee Wireless, Low Mount, Set of 4

Conversion Kit. To Cabled Battery Lift

Cable, Battery, Red, Motor Starter Relay to Motor Controller

Control Box, Earthlift Complete With Wires

Cable, From PCB To Speedocontroller (Earthlift)

Knob for Speed Control On Earthlift

Control Box, Earthlift, Empty Shell

Hose, Hydraulic, Battery Lift

Control Box Complete 1082 Battery Lift, Set-Ref buttons

Cable, Battery, Red (charger to battery)

Cable, Battery, Black (charger to battery)

Control box, shell only, battery lift with circular battery meter
Communication Cable, 21.5m Battery Lift

Communication Cable, 12m Battery Lift

Cable, Battery, Red (fuse to switch & switch to battery)

Cable, Battery, Red (relay to fuse)

Cable, Battery, Black, (battery to battery)

Cable, Battery, Black, (battery to motor)

Cable, Battery Hook Up 00-Gage /Complete With Ends 41.5"

Cable, charger to receptacle

Pushbutton Panel For Digital Battery Lift

Control Box, Including Wires, Harnesses And Parts For Wired, Digital Battery Co
ID-Key (Bullet shaped) For Digital Battery Lifts.

Cable, Harness For Wireless Unit Including Cable To Module And Cable To P/J Ir
Cable, Harness, Potentiometer To Control Box On Battery Controls Lift
Cable, Harness, E-Stop On Digital Controls

Cable, Lock Release, On Digital Controls

Cable, Harness, Correction Valve To Control Box On Battery Controls Lift

$745.03
$1,277.35
$1,984.29
$2,229.07
$7,284.32
$5,762.24
$118.41
$5,762.24
$217.44
$2,898.64
$426.27
$74.42
$207.84
$179.42
$21.94
$1,005.81
$532.91
$43.38
$1,216.07
$17,294.18
$1,848.25
$69.34
$6,034.31
$407.03
$24.27
$482.75
$260.83
$7,539.65
$103.38
$103.38
$1,576.72
$1,739.54
$1,739.54
$103.38
$103.38
$222.79
$222.79
$183.76
$22.76
$951.16
$6,852.69
$97.05
$250.12
$211.85
$219.59
$76.41
$211.85



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

32739114
32739125
32739150
32739160
32739165
32739180
32739181
32739182
32741125
32800101
32800103
32800105
32800106
32800107
32800112
32800113
32800115
32800116
32800120
32806050
32806750
32806751
32806752
32840110
32899000
33000104
33000105
33000130
33000131
33001005
33001006
33003905
33003915
33099001
33099002
33500178
33501011
33507250
34000103
34000106
34000300
34000900
34000911
34001150
34006750
34007100
34007125

Cable, Harness, Lowering Valve To Control Box On Battery Controls Lift

Control Box, Battery Lift Shell Only, For Digital Controls
Bluetooth Module For Wireless Lift

RF Module ZigBee

Protection Cover - RF Module Galvanized

Bracket, for Pallet Jack Interlock Switch, early models
Connecting Rod On Pallet Jack Interlock

USE 32739182A Switch Bushing For Wireless On Pallet Jack Interlock

Guide Block, For 1082VFW, Extra Wide

Cover, Cable channel, ST1175

Cover, Hydraulic unit, ST1175

Wheel

Pin

Axle 12*178 mm ST1175

Axle Pallet Jack 18mm for ST1175

Cap, pallet jack, ST1175, 2014 & newer

Pawl

Bolt, m12 x 15

Cap Kit, 1175 Pallet Jack 2000 & Newer

Hydraulic Pipe, 1175

Cylinder, Hydraulic Ram ST1175

Bearing Ring

Guide Ring Holder

Cabinet, Sheet Metal Only, for ST1130 Battery Ebright Lifts
Seal Kit, Cylinder, ST1175

Channel

Cover Metal

Pin, Hinge, Extended Flex Arms, Freedom Lift

Bushing, in Hinge Pin, Extended Flex Arms, Freedom Lift & KS2050
Ring, Wiper, KS2050

Ring, Special, KS2050

Support, for Runway, Adjustable, ST4175 & ST4250
Adapters, pick-up, flat, telescopic, set of 2, Freedom Lift
Seal Kit, Cylinder, KS2050, Master

Seal Kit, Cylinder, KS2050, Slave

Spring, in Hinge Pin, Extended Flex Arms, Freedom Lift
Roller, Guide Block, For 4120

Electronic Eye With Cable

Cover (Primary Column ST1055

Wheel For Base Leg 1055-1060

Plate, P/J mount, ST1065 retro-fit

Kit, Retrofit to Replace P/J on ST1065

Wheel For Base Extention On 1055 Series

Top Plate ST 1055

Cylinder, Hydraulic Ram ST1055 / 60

Control Box Assembly With Cable ST1055B, 1060B, 1072B And 1082E

Control box, shell only, 1072B, 1073C, 1082E etc

$211.85
$625.02
$2,806.34
$3,261.65
$119.44
$141.41
$50.89
$51.41
$3,978.53
$342.24
$733.73
$222.79
$163.34
$86.76
$86.76
$111.41
$298.85
$86.76
$78.63
$171.38
$5,653.50
$440.24
$244.76
$2,821.29
$652.32
$136.03
$179.42
$191.22
$65.35
$130.25
$18.33
$381.35
$1,207.78
$440.24
$440.24
$33.43
$85.13
$592.33
$374.91
$228.15
$606.82
$2,247.50
$288.12
$336.89
$3,261.65
$14,033.84
$796.97



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

34007127
34010101
34010103
34017250
34017251
34017260
34017300
34017310
34099000
34100103
34200116
34200600
34200915
34200933
34202702
34202703
34232700
34262700
34400600
34400916
34400940
34490130
35000103
35000104
35000105
35000115
35000116
35000117
35000118
35000130
35000132
35000135
35000136
35000139
35000220
35000221
35000301
35000420
35000602
35000603
35000605
35000702
35000703
35000706
35000707
35000720
35000721

Door Panel For "E" Control Box

Cable Tray Sec Control Box ST1055

Cover Secondary Column ST1055

Communication Cable, 12m ST1055B/1060B/1072B/1082E With Junction Box

Communication Cable Junction Box, ST1055B/1060B/1072B/1082E 1060C, 107.

Communication Cable, 12m ST1055B/1060B/1072B/1082E Less Junction Box
Communication Cable, 22m ST1055B/1060B/1072B/1082E With Junction Box
Communication Cable, 22m ST1055B/1060B/1072B/1082E Less Junction Box
Seal Kit, Cylinder, ST1055, ST1060,12k & 13k, ST4120

Sheetmetal Cover 30 1/2" For 1055 Lift With 1072 Box

Locking Bushing

Cylinder, Hydraulic Ram New 1060, 13,000 lbs Capacity

Extension Kit For New 1060/1075 With Locking Forks

Pawl, for Lock on reducers & extensions( Long pawl )
Communication Cable, 66ft ST1060C, 1073C Less Junction Box
Communication Cable, 33ft ST1060C, 1073C Less Junction Box
Communication Cable, 33ft ST1060C, 1073C Including Junction Box
Communication Cable, 66ft ST1060C, 1073C Including Junction Box
Cylinder, Hydraulic Ram ST ST1073/ST1064/ST1075

Shaft For Front Wheel On New Wider Base Extensions

Weight Gauges For ST 1073 / 1075

Communication Cable, 22m Non-Drive Over, Red Replaced By 32707170
Guide Piece, Freedom Lift

Arm Lock, Lower, Freedom Lift

Arm Lock, Upper, Freedom Lift

Cover, Potentiometer, Freedom 2.26/2.30

Tube, 75mm Spacer, Arm Connection, Freedom Lift

Cover, Potentiometer, Freedom 2.16/2.20

Magnetic Tool Tray, 9.6" x 5.6"

Pin, Hinge, Telescopic Arms, Freedom Lift

Disk, for Double Telescopic Arms, Freedom Lifts

Locking Shaft 2-Post Freedom Lift

Rod, Pull, for Lock Release on Freedom Lift

Support Block, Freedom Lift

Plate, Adapter, Cylinder, 2.16 & 2.20, post 1 & 2

Plate, Adapter, Cylinder, 2.26 & 2.30, post 1 & 2

Adapter, Pad, Thread in, on 2-Post

Cover, for Hydr Unit on Freedom Lift

Hose, Hydraulic, pump to top of lift, Freedom Lift

Hose, Hydraulic, over head, column to column, Freedom Lift

Tube, Hydraulic, w/ fittings, Freedom Lift

Cable, Pigtail from PCB to Outside of Box for Potmeters

Cable, Harness, Control Box Pigtail to Potmeters, Col 1 & 2

Cable, Pigtail from PCB to Outside of Box for Valves

Cable, Harness, Control Box Pigtail to Valves and Locks, Col 1 & 2
Chain, Carrier, w/ PTM & VLM Cables, Freedom Lift

Door, Control Box, Freedom Lift without Button Panel

$733.73
$163.34
$429.53
$2,881.39
$628.65
$2,147.11
$4,158.74
$3,424.46
$599.31
$505.59
$25.17
$2,908.17
$1,489.48
$68.65
$3,424.46
$2,147.13
$2,881.39
$4,158.74
$3,261.65
$320.26
$761.05
$2,555.21
$38.56
$226.65
$487.37
$93.72
$24.93
$40.16
$65.83
$447.02
$112.48
$321.35
$78.52
$208.78
$93.72
$93.72
$317.32
$792.66
$321.35
$712.31
$294.57
$937.24
$749.79
$484.58
$937.24
$951.16
$321.35



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

35000722
35000723
35000727
35000728
35000751
35000754
35000755
35000889
35000901
35000910
35000911
35010650
35050650
37000101
37000200
37000203
37000885
37001003
37001004
37002050
37003501
37003935
37006000
37006010
37006250
37007010
37007030
37007210
37007220
37099001
37099002
38000772
38001102
38001105
38004747
38004761
38004762
38004764
38004793
38004799
38006101
38006105
38006108
38006112
38006150
38006155
38006164

Base, Control box, Freedom Lift

Button Panel, For Freedom 2-post

Sticker, SK Name, Freedom Lift Control Box Door

Front Panel with Buttons, Freedom Lift

Control Box, 220 volt, 50 Hz, Euro Freedom Lift

Control Box, 220-240 volt, Freedom Lift

Control Box,400-460 volt, Freedom Lift

Upgrade Kit, Hydraulic Unit, Freedom 2.16 & 2.20 (new manifold)
Arm Connection Set, Dbl Telescopic, Freedom Lift

Tube, Alum. Conduit, 3100mm, 2-Post, w/ elbow

Tube, Alum. Conduit, 3100mm, 2-Post w/elbow & 300mm extension
Cylinder, Hydraulic Ram, Freedom 2-post SK2.16 / SK2.20
Cylinder, Hydraulic Ram, Freedom 2-post SK2.26/ SK2.30

Plastic Cover 2070/2082 Arm Pivot

Lock Mechanism, for a 2070/2082 Swing Arm

Spring for a 2070/2082 Swing Arm Lock Mechanism

Adapter Plate Kit, 1-Phase, 2-Post Lift

Roller, Guide Block, For SK2082

Locking Disc For Guide Block 2-Post Lift

Guide Block For 2082 2-Post Lift

Pad, Slider, for Telescopic arm, Freedom Lift

Saddle With Pad SK2070/2082

Cylinder, Hydraulic Ram SK2070 Master

Cable Line Kit To Stabilize Overhead Hydraulic Line On 2-post Lifts
Cylinder, Hydraulic Ram Slave SK2070

Cable

Cable

Control Box, 2070/2082

Control Box, 2070/2082 Single Phase, 22-240 Volts

Seal Kit, Cylinder, SK2070, Master

Seal Kit, Cylinder, ST2070, Slave

Cable, Weight Transducer to PCB,

Cover, upper, Superior controls lifts w/ welded on mount (Dutch Made)
Bracket, control box mount

Communication Cable, 21.5m, Ebright Superior, Non-D/O

Cable, Harness Ass'y, Ebright Superior, Motor/Main Relay

Cable, Harness Ass'y, Ebright Superior, Valves & Lock Release
Cable, Harness Ass'y, Ebright Superior, Comm Cables & Pot Meter
Communication Cable, 12m, Ebright Superior, Non-D/O
Communication Cable, 12m Drive Over, Ebright Superior, Black
Cabinet, Sheet Metal Only, for Battery Lifts w/ Welded on Frame
Hinge, Battery Lift Cabinet

Spacer, Battery Lift Cabinet, New Style

Cabinet, Sheet Metal Only, for Battery Ebright Lifts, w/Batt Tray & Panel Inserts
Cabinet, Sheet Metal Only, for Ebright Lifts w/ cut-outs on side. Bottom Tray N¢
Panel, Insert, for Main Switch on Cabinet, Ebright Columns

Panel, Insert, Blank on Cabinet, Ebright Columns

$401.68
$631.98
$59.30
$803.36
$5,189.21
$5,708.12
$5,708.12
$3,930.71
$1,095.60
$482.02
$401.68
$2,446.51
$3,779.62
$97.99
$1,323.66
$133.90
$787.30
$195.48
$28.92
$4,158.74
$28.90
$299.92
$5,327.36
$348.12
$5,327.36
$326.17
$190.14
$7,610.49
$7,610.49
$978.50
$978.50
$164.95
$263.01
$56.93
$3,217.71
$117.56
$244.51
$244.51
$1,836.26
$3,451.77
$978.50
$171.90
$48.70
$1,410.64
$916.00
$94.04
$56.42



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

38006197
38007747
38007748
38007756
38007757
38007758
38007759
38007760
38007761
38007762
38007763
38007764
38007766
38007768
38007771
38007772
38007779
38007780
38007781
38007782
38007783
38007784
38007785
38007786
38007790
38007792
38007793
38007799
38008771
38008790
38008792
38220201
38420300
39225100
39225150
39225155
39225160
39225165
39225170
39225175
39225180
39225185
39225190
39225660
39225910
39225920
39225970

Tray, Bottom Battery, Ebright Lifts w/Bolt on Battery Tray

Kit, to Add Remote Receptacle to an Ebright Column

Dummy Plug, to Replace Remote on an Ebright Column

Cable, Harness, Ebright Remote, PCB to Plug

Cable, Harness Ass'y, Ebright, Potmeter & leads to comm connectors
Communication Cable, Wired, Battery ebright

Cable, Harness Ass'y, Ebright, Power Supply
Control Box, Ebright Controls

ID-Key For Ebright Mobile Column Lifts

Panel, Front, Ebright Ctrl Box, w/ Button Panel

Panel, Base, Ebright Control Box

Display, HMI, Ebright Control Box

Antenna With Wire, Ebright wireless

Repair Kit, Ebright Control Box Cover, Set of 4, w/spacer, screws, nuts, washer
Cable Set, Wireless Ebright Controls

Cable, PCB to P/J Switch

Cable Ass'y., see 38000772, DO NOT USE

Cable, Harness Ass'y, Ebright, Lower & Correction Valve & Unlock
Cable, Harness Ass'y, Ebright, Lower Valve & Unlock

Cable, Harness Ass'y, Ebright, Antennas & Power Supply

Cable, Harness Ass'y, Ebright, Potmeter & P/J Switch

Cable, Harness Ass'y, Ebright Earth, Potmeter, Weight Sensor & P/J Switch
Cable, Harness Ass'y, Ebright, Motor Controller

Cable, Harness Ass'y, Ebright, Motor Relays

Control Box, Ebright Control, Complete w/harness & Face Plate for Wireless.
Panel, Front, Ebright Ctrl Box, w/ Button Panel, & Blue Sticker

Panel, Front, Ebright Ctrl Box, w/ Button Panel, & Display Screen
Sticker, for covering tab slots on Ebright cover

Cable Set, EarthLift Ebright Controls

Control Box, Ebright Control, Complete w/harness & Face Plate for Earthlift.
Panel, Front, Ebright Ctrl Box, w/ Button Panel, & Green Sticker
Guide Block, ST1085, Less Adjustable Forks

Fork Set, ST1100, 12 Inch, 1 Left - 1 Right Per Set

Pin, Center Tube Lock, w/ Chain, JS Series Stand

Bracket, for Folding Leg Ass'y on JSM w/Hdwe

Bracket, for Folding Leg Ass'y on JSH w/Hdwe

Leg, JSM Stand, w/Hdwe

Leg, JSH Stand, w/Hdwe

Plate, Bottom, Spring Retainer on JS w/Hdwe

Tube, Outer, on JSM Stand

Tube, Inner, on JSM Stand

Tube, Outer, on JSH Stand

Tube, Inner, on JSH Stand

Wheels, Assembly, Spring loaded, for JS Foldable Stands, Set of 3
Wheel, Assembly, Spring Loaded, For JS Foldable Stands

Spring For Innertube H Model

Spring For Innertube M Model

$103.45
$426.77
$206.90
$422.64
$459.05
$478.19
$94.04
$3,102.31
$110.26
$851.26
$669.48
$2,837.50
$74.57
$329.52
$937.24
$79.43
$143.47
$642.69
$469.92
$382.56
$161.97
$275.47
$296.76
$321.35
$3,102.31
$913.57
$3,050.59
$0.46
$937.24
$3,102.31
$958.27
$4,134.65
$1,921.54
$69.66
$162.14
$202.69
$188.09
$235.11
$23.51
$282.13
$282.13
$352.66
$352.66
$145.93
$48.80
$167.86
$167.86



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

39225991
39509100
39509105
39509209
40000112
40006075
40006130
40006250
40099001
40099002
41201020
41201050
41201150
41203001
41204001
41206120
41206125
41206130
41206140
41206150
41206160
41206180
41206250
41207101
41207102
41207103
41207104
41209165
41300104
41300105
41300123
41300130
41300150
41300225
41300300
41300301
41300302
41300303
41300304
41300305
41300310
41300315
41300441
41300600
41300610
41300710
41300715

Bracket, for Folding Leg Ass'y on JSH w/Hdwe.

Air Kit With 8' Air Pipe For ST4120,4175,4250 & SKY

Air Installation Kit For ST4120, 4175, 4250 SkyLift

Fitting, Elbow, Brass, 3/8“ Male x Female Thread, for J/B Air Kits
Flexible Tube

Hose, Cyl to Runway, 4-post

Hose, to Master Cyl, ST4100

Cylinder, Hydraulic Ram ST 4100

Seal Kit, Cylinder, ST4080 & ST4100, Master

Seal Kit, Cylinder, ST4080 & ST4100, Slave

Cover, potentiometer, ST4120 lift

Post, ST4120

Pawl, Lock, ST4120 & Freedom Lift

Clamp, Block Style, for 4120

Block, Slide, ST4120 ramp

Hose, Hydraulic, ST4120, Console to Post 1, Red, 1800mm
Hose, Hydraulic, ST4120, Console to Post 2, Yellow, 1800mm
Hose, Hydraulic, ST4120, Console to Post 4, Blue, 4600mm
Hose, Hydraulic, ST4120, Console to Post 3, Green, 3400mm
Pipe, Oil, ST4120, post 1 and 4

Pipe, Qil, ST4120, post 2 and 3

Pipe, Oil, ST4120, cross P1 to P2

Cylinder, Hydraulic Ram ST 4120

Cable, Assembly, Post 1, ST4120, 3.3 meter

Cable, Assembly, Post 2, ST4120, 6.2 meter

Cable, Assembly, Post 3, ST4120, 14.4 meter

Cable, Assembly, Post 4, ST4120, 15.5 meter

Stop Clamp

Lock, Lower, Surface Mount, Skylift, Gen 1

Rod, tension, surface mount, gen 1

Finger Protection

Chain, Cable & Hose Carrier, 1925mm For Surface Mount Skylift
Lock, Upper, Surface Mount, Skylift, Gen 1

Lock, Upper, Surface Mount, Skylift, Gen 2

Set of Cable Channel for SM Sky

Cable Duct L=1600mm For Skylift

Cable Duct Left For Skylift

Cable Duct Right For Skylift

Cable Duct Cover 700mm For Skylift

Cable Protection Cover For Skylift

Cable Duct Threshold For Skylift

Cable Duct 90D Elbow For Skylift

Ground Strip For Ramp

Cylinder, Hydraulic, Skylift, Surface Mount, Gen. 1
Cylinder, Hydraulic, Skylift, Surface Mount, Gen. 2
Console, SKY250-FM, 208/460v

Console, SKY250-SM, 208/460v

$366.77
$692.36
$510.76
$16.82
$288.12
$184.79
$179.42
$10,926.77
$679.65
$679.65
$348.66
$2,637.91
$306.30
$141.48
$95.63
$286.83
$286.83
$391.22
$391.22
$401.68
$401.68
$278.84
$3,751.16
$294.57
$336.89
$598.24
$521.67
$120.51
$6,684.18
$1,275.19
$48.21
$1,168.62
$3,180.24
$2,568.61
$254.73
$348.12
$380.80
$455.24
$206.71
$146.76
$951.16
$1,141.84
$348.12
$6,414.56
$6,414.56
$37,617.20
$37,617.20



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

41300730
41300738
41300739
41300742
41300743
41300750
41300760
41300761
41300775
41300776
41300779
41300785
41300786
41300787
41300788
41300789
41300793
41300799
41300946
41300947
41309036
41309037
41309136
41309147
41309150
41309155
41309160
41309170
41310102
41310103
41310104
41310106
41310107
41310108
41310109
41310110
41310111
41310112
41310113
41310114
41310115
41310116
41310117
41310119
41310120
41310121
41310122

Frame, Stainless Steel, Console, Skylift
Panel, Front, Skylift Console, Washbay
Panel, Side, Skylift Console, Washbay
Cover, Locking, for Washbay Skylift Console
Plate, Locking, for Skylift Locking Cover
Frame, Console, Skylift, Painted

Panel, Front, Skylift Console, Painted

Panel, Side Plate For Skylift Console

Box, Sheet Metal Only For Skylift Control Panel
Cover For Top Of Skylift Control Panel
Cable, Console to Motor, on Skylift

Cable, PCB to ISB, P2, on Skylift

Cable, PCB to ISB, P3, on Skylift

Cable, PCB to ISB, P4, on Skylift

Cable, Transformer to ISB, on Skylift

Cable, with plug, for lock release pneumatic valve on Skylift
Control box, Stainless Steel, Shell only, Skylift

Blocking (Skylift)

Spacer Bushing

Rail, Extension for LED Mounting, Left Side, 1224mm
Rail, Extension for LED Mounting, Right Side, 1224mm
Alum Profile, 1170m, For LED On Extension

Cable set, Control Box to Runway, for LED Array Lights,

Transformer, for LED Lights w/Supply Voltage 400, 460, 575v w/wiring
Connection set, for LED Array Lights w/Power Supply, Wiring, Fuses, Etc
Transformer, for LED Lights w/Supply Voltage 400, 460, 575v w/wiring, More Tl

Secondary Control Box, Sky Lift, Stainless Steel, UL Approved
Ring, locking, 100mm

Axle Pin, Upper Cylinder, Skylift 70mm

Lock, Lower, Flush Mount, Skylift, Gen 1

Spacer, shim, black, 1.5mm, for Sky lifts

Ring, bearing, inner, 3mm, yellow

Ring, bearing, inner, 4mm, white

Spacer, shim, black, 5mm, for Sky lifts

Bearing, Block, 150mm x 115mm x 28mm, Gen 1

Bearing Bushing, 60/55/30

Ring, bearing , outer, 2mm, black

Pin, Cylinder To Leg, Skylift

Bushing, Spacer, Skylift Leg, Stainless Steel

Bearing Bushing, SKY lift leg 85/80x50 mm

Short Axel (Rev E), SKY Lift

Plate, Locking , for 41310116 Axle, Gen 1 Sky

Block, sliding , 80mm x 65mm x 25mm

Bearing, .065x45x25, Skylift leg to fixed footplate

Sliding Block, Sky Lift Leg, Under Runway, 200 x 99 x 25 mm
Support Bracket, Inclinometer, Stainless Steel, Wash Bay

$2,438.79
$951.16
$1,650.01
$341.47
$71.72
$1,232.79
$625.02
$625.02
$570.91
$348.12
$218.90
$117.56
$117.56
$117.56
$117.56
$117.56
$215.19
$2,390.94
$60.00
$97.99
$160.67
$160.67
$160.67
$241.70
$898.10
$1,692.77
$898.10
$6,080.37
$36.44
$1,338.94
$6,684.18
$48.46
$68.31
$56.93
$49.18
$227.70
$80.36
$38.70
$1,630.82
$288.12
$298.85
$459.05
$12.75
$823.70
$302.85
$68.87
$80.36



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

41310123
41310125
41310126
41310128
41310129
41310130
41310131
41310133
41310139
41310144
41310150
41310225
41310226
41310230
41310252
41310254
41310305
41310307
41310354
41310600
41310610
41310621
41310622
41310623
41310624
41310625
41310626
41310627
41310628
41310629
41310651
41310652
41310653
41310654
41310655
41310660
41310662
41310663
41310665
41310671
41310672
41310673
41310674
41310676
41310677
41310678
41310679

Finger Protector

Locking Plate

Plate, Spacer, for Hinge Plate on Skylift, 1mm

Plate, For Cable Chain End

Grommet, for Flex Conduit at End of Skylift Runway

Chain, Cable & Hose Carrier, 2240mm For Flush Mount Skylift

Plate, Lock Stop, Gen 1

Bearing Ring, Skylift

Shim, Bearing block to runway, 1mm, Skylift

Pin, Cylinder To Leg, Skylift, Revised w/Notch

Lock, Upper, Flush Mount, Skylift, Gen 1

Lock, Upper, Flush Mount, Skylift, Gen 2

Bearing, Pillow Block, Gen 2

Lock, Lower, Flush Mount, Skylift, Gen 2

Bolt, Special, for Lock Pawl on Sky Lift

Bolt, Special, Plunger on Skylift Lock Release

Cover, Cable, Surface mt Skylift

Cover, Protection, Surface mt Skylift

Eyelet, Weldment, End Plate, 4-Post & SKY

Cylinder, Hydraulic, Skylift, Flush Mount, Gen. 1

Cylinder, Hydraulic, Skylift, Flush Mount, Gen. 2

Hose, Hydraulic, Skylift, thru Cable Chain, Gen 2, Wash Bay, RED, 3350mm
Hose, Hydraulic, Skylift, thru Cable Chain, Gen 2, Wash Bay, YELLOW, 3350mm
Hose, Hydraulic, Skylift, thru Cable Chain, Gen 2, Wash Bay, GREEN, 3850mm
Hose, Hydraulic, Skylift, thru Cable Chain, Gen 2, Wash Bay, BLUE, 3850mm
Hose, Hydraulic, Skylift, to Cylinder, Wash Bay, 480mm

Hose, Hydraulic, Skylift, Console to Ramp, Gen 2, Wash Bay, RED, 5000mm
Hose, Hydraulic, Skylift, Console to Ramp, Gen 2, Wash Bay, YELLOW, 7500mm
Hose, Hydraulic, Skylift, Console to Ramp, Gen 2, Wash Bay, GREEN, 5000mm
Hose, Hydraulic, Skylift, Console to Ramp, Gen 2, Wash Bay, BLUE, 7500mm
Plate, on lock release, gen 1

Block for bellow, gen 1

Clamping piece, for bellow, on top, gen 1

Bracket, for air de-aerator, gen 1

Clamping piece, for bellow, on bottom no pin, gen 1

Bellows, on lock release, gen 1

Connector, air, for gen 1 lock release

Ring, support , bellow, gen 1

Clamping piece, for bellow, on bottom w/pin, gen 1

Hose, Hydraulic, Skylift, thru Cable Chain, Gen 2, RED, 3350mm

Hose, Hydraulic, Skylift, thru Cable Chain, Gen 2, YELLOW. 3350mm

Hose, Hydraulic, Skylift, thru Cable Chain, Gen 2, GREEN, 3850mm

Hose, Hydraulic, Skylift, thru Cable Chain, Gen 2, BLUE, 3850mm

Hose, Hydraulic, Skylift, Console to Ramp, Gen 2, RED, 5000mm

Hose, Hydraulic, Skylift, Console to Ramp, Gen 2, YELLOW, 7500mm

Hose, Hydraulic, Skylift, Console to Ramp, Gen 2, GREEN, 5000mm

Hose, Hydraulic, Skylift, Console to Ramp, Gen 2, BLUE, 7500mm

$74.96
$37.48
$60.00
$40.16
$47.03
$1,576.72
$174.52
$39.66
$19.58
$1,630.82
$3,603.89
$2,482.19
$229.93
$2,802.52
$80.36
$57.21
$192.80
$182.11
$66.78
$6,631.99
$6,631.99
$562.35
$562.35
$562.35
$562.35
$455.24
$562.35
$869.77
$562.35
$869.77
$151.64
$140.27
$91.09
$66.50
$68.31
$108.84
$94.72
$53.72
$136.62
$380.80
$380.80
$570.91
$570.91
$570.91
$842.46
$570.91
$842.46



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

41310680
41310681
41310682
41310683
41310684
41310710
41310911
41310912
41310913
41310914
41310916
41310918
41310920
41310925
41310930
41310961
41310962
41310975
41311920
41312910
41312920
41315690
41315902
41315903
41315905
41315925
41316690
41316701
41316702
41316703
41316704
41317365
41393671
41393672
41393673
41393674
41393676
41393677
41393678
41393679
41400770
41409155
41500108
41500109
41504002
41504003
41506250

Hose, Hydraulic, Skylift, Gen 1, RED, 8000mm

Hose, Hydraulic, Skylift, Gen 1, GREEN, 8500mm

Hose, Hydraulic, Skylift, Gen 1, YELLOW, 10500mm

Hose, Hydraulic, Skylift, Gen 1, BLUE, 11000mm

Hose, Hydraulic, Skylift, to Cylinder, 480mm

Inclinometer w/ pigtail cable, For Skylift & ECO

Axle, Hinge, for RROP

Plate, Cover, for RROP

Gear, Pinion, for RROP

Block, Guide, for RROP

Bolt, M16 x 100 Special for RROP, w/nut

Spring, Torsion, for RROP

Plate, Stop, for RROP, Painted

Hinge Plate, for RROP, Painted

Rack, Gear, for RROP

Arm, Positioning, Skylift, for J/B Parking

Bracket, Parking Position, Skylift for JB's

Set Axel Locking Plate, SKY Lift

Frame, Base, Pull Section for Modular Pit Cover, Skylift

Frame, Base, for pit cover, 7 Meter Skylift

Drag bar, for pit cover, 7 Meter Skylift

Hose, Hydraulic, Skylift, Along Runway, Gen 2, Wash Bay, 394"

Pin, Pivot, Skylift pit cover

Roller Bushing, Skylift Pit Cover

Drawbar, for Mechanical Pit Covers on Skylift

Pullbar, Skylift Pit Cover

Hose, Hydraulic, Skylift, Along 12M Track, Gen 2, Wash Bay, 12,000mm
Cable, Inclinometer, Skylift, Console to Leg P1, Red, 49'

Cable, Inclinometer, Skylift, Console to Leg P2, Yellow, 54"

Cable, Inclinometer, Skylift, Console to Leg P3, Green, 89'

Cable, Inclinometer, Skylift, Console to Leg P4, Blue, 97'

Fill In Piece For Jacking Beam On Skylift

Hose, Hydraulic, Skylift, Console to Ramp, Gen 2, Red, 11000mm

Hose, Hydraulic, Skylift, Console to Ramp, Gen 2, Yellow, 13500mm
Hose, Hydraulic, Skylift, Console to Ramp, Gen 2, Green, 11000mm
Hose, Hydraulic, Skylift, Console to Ramp, Gen 2, Blue, 13500mm
Hose, Hydraulic, Skylift, Console to Ramp, Gen 2, Wash Bay, Red, 11000mm
Hose, Hydraulic, Skylift, Console to Ramp, Gen 2, Wash Bay, Yellow, 13500mm
Hose, Hydraulic, Skylift, Console to Ramp, Gen 2, Wash Bay, Green, 11000mm
Hose, Hydraulic, Skylift, Console to Ramp, Gen 2, Wash Bay, Blue, 13500mm
Ebright Control Console, Upper, Skylilft

Connection Set, LED Lighting, Sky, Ebright

Block, Runway Stop & Gas Spring Mount, Long, for 4175

Block, Runway Stop & Gas Spring Mount, Short, for 4175

Slide Plate, for ST4175 Drive on Ramp

Spacer for ST4175 Drive on Ramp

Cylinder, Hydraulic Ram ST4175

$951.16
$1,005.81
$1,223.25
$1,277.35
$342.24
$1,658.11
$191.85
$98.75
$61.12
$94.04
$84.79
$199.85
$742.94
$1,105.00
$272.72
$58.37
$109.34
$417.74
$2,063.64
$5,009.62
$2,049.39
$940.43
$165.76
$146.76
$951.16
$1,956.99
$937.24
$467.56
$467.56
$467.56
$467.56
$114.08
$586.24
$667.10
$586.24
$667.10
$808.61
$950.12
$808.61
$950.12
$37,617.20
$37,617.20
$201.72
$216.77
$56.24
$37.48
$5,436.08



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

41506901
42500103
42500105
42500106
42500107
42500108
42500109
42500110
42500112
42501001
42503400
42504001
42504003
42504300
42504400
42506002
42506050
42506250
42506901
42507250
42507911
42507921
42509005
42509071
42527260
42527350
42527400
42529251
42547300
42549897
43500104
43505006
43505007
59000114
59000286
59000592
59001036
59001037
59001039
59001040
59002521
59002743
59002770
59002771
59002794
59002928
60201703

Seal Kit, Cylinder, ST4175

Cable Cover Straight

Shaft 686mm

Shaft 708 mm

Nut

Wedge

Gas Spring Support (Left)

Gas Spring Support (Right)

Housing

Roller, Guide Block, For 4250

Adjustment Screw

Slide block, for drive on ramp

Spacer

Stop Plate, Flip up, for Drive On Ramp

Wheel Stop, 4250 & Skylift

Hydraulic Hose

Oil Pipe For Ram On ST4250

Cylinder, Hydraulic Ram ST4250

Seal Kit, Cylinder, ST4250

Control Box, Primary ST 4250

Wire Harness 4175 Second Control Box

Wire Harness, RS485, Tandem Skylift

Ballaster Box Assembly 4100/4175/4250
Cover, Lighting Transformer, 4175/4250

Cable, Harness, Solonoid Leads, 20 To 38 Foot Tracks
Cable, Harness, Column 3, 20 To 38 Foot Tracks
Cable, Harness, Column 4, 20 To 38 Foot Tracks
Cable Set For 24V Lamp Kit For 4175 & 4250 Lifts

Cable, Harness, ST4250/4175 Col 2 (19’, 26’ & 29’tracks) Appx 100’ Total Lengt!

Hardware Bag For Lighting Kit For 4175 & 4250 Lifts

Filling Plate For Jacking Beam On Skylift

Spring

Spring

Modification - Level Adjuster 1072 Lifts

Communication Cable, 21.5m Drive Over, Black

Switch, Selector, 1072 NYTA

Control Box NYCT 1082

Control Box, Shell 1082 NYCT Empty Box Only

Door Panel, NYCT With Lockout Including Push Button Board
Power Box ST1082 3x220V

Cable, Harness, ST4600, Control Box to Post 2

Secondary Control Box, Sky Lift, Stainless Steel

Remote Control, Sky, W/Key Lock, 15 meter Cable

Rod, Torsion, special for ST1175

Removable metal ebright control cover assembly (prototype)
Alam, Factory Installed, Sky

Spring For "T" Handle Adjustable Fork

$869.77
$212.08
$146.76
$342.24
$152.11
$108.73
$108.73
$108.73
$418.82
$250.12
$190.14
$429.53
$3.17
$806.31
$783.61
$244.76
$228.15
$6,849.46
$869.77

$12,448.87

$761.05
$363.20
$2,609.32
$117.33
$401.68
$244.32
$429.49
$264.78
$2,854.07
$63.55
$32.13
$130.68
$130.68
$1,064.47
$3,296.04
$1,114.53
$6,483.60
$1,152.25
$1,082.79
$4,887.12
$1,418.76
$717.29
$5,486.32
$864.03
$417.68
$467.56
$19.81



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

60203000 Gas Spring, 4 Post Ramp $951.16
60203003 Clamp For Gas Spring $25.70
60203004 See 60203021 : $1,071.14
60203021 Gas Spring, 16KN, ST1175 $1,124.71
60700061 Sticker, Stertil-Koni Name $39.66
60700075 Sticker, Capacity, 7200 Kg $11.15
60700076 Sticker, Capacity, 16,000Ibs $23.02
60700079 Sticker, User Instructions, Set-Ref Controls, French $21.30
60700084 Sticker, Voltage, 3Ph x 230V $3.24
60700089 Sticker, User Instructions, Set-Ref Controls $24.10
60700090 Sticker, Address Label, "Stertil-Koni USA" $24.10
60700092 Sticker, "Risk of Electrical Shock" $9.11
60700093 Sticker, Warning $9.11
60700099 Sticker, Warning, 3-Headed Stand $39.10
60700100 Sticker, Capacity, 25000Ibs $19.81
60700102 Sticker, Name, For 3-Headed Stand $25.17
60700120 Sticker, Operating Instructions ST4250 $47.13
60700124 Sticker, Single/Tandem SelectorSwitch Instructions $47.81
60700133 Sticker, "If Connected...." $12.75
60700134 Sticker, "Do Not Use" $9.11
60700143 Sticker, Capacity, 10,000 lbs $23.02
60700145 Sticker, Capacity, 22,000 lbs $43.93
60700146 Sticker, "Amperage Power Supply Consumption" $23.02
60700149 Sticker, User Instructions, 1055B, 1060B $17.86
60700150 Sticker, Capacity, 8800lbs, 1055 Baseframe Ext. $41.78
60700157 Sticker, Load Distribution ST4250 $26.79
60700189 Sticker, "Qil Dry Piston Rod" $5.88
60700193 Sticker, "Once Desired Height Is......" $8.93
60700200 Sticker, Capacity, 8500 |bs, on Pelican Adptr. $26.27
60700201 Sticker, Fault Codes, Freedom Lift $102.02
60700203 Sticker, Capacity, 18,000 lbs $10.60
60700206 Sticker, Reduced Capacity 12,000 #, For Fork Extensions $53.56
60700211 Sticker, User Instructions $47.13
60700217 Sticker, NYCT Power Box AMP Power Supply $12.75
60700220 Sticker, User Instructions 1082 With Turtle Control $43.93
60700222 Sticker, 115 Volts $5.11
60700223 Sticker, Fuse, F3 $5.11
60700226 Sticker, User Instructions Wireless Lift $76.06
60700233 Sticker, Capacity, 13,000 lbs $10.60
60700238 Sticker, Schematic For Wireless Lift $39.66
60700239 Sticker, Skylift Control Panel $76.06
60700240 Sticker, Loading Diagram, 33,000# Crossbeam $14.60
60700247 Sticker, Amperage Power $60.00
60700251 Sticker, Operation, English $98.55
60700252 Sticker, Capacity, 30,000 lbs, ST4120 $33.66
60700256 Sticker, Safety Instructions ALI/WLSIAO1 $33.66

60700258 Sticker, Load Distribution $33.66



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

60700259
60700265
60700266
60700267
60700268
60700269
60700271
60700272
60700273
60700274
60700279
60700281
60700282
60700297
60700304
60700311
60700313
60700317
60700318
60700319
60700320
60700330
60700331
60700333
60700336
60700337
60700338
60700339
60700340
60700352
60700355
60700357
60700377
60700378
60700385
60700390
60700391
60700396
60700409
60700410
60700415
60700416
60700420
60700421
60700432
60700463
60700500

Sticker, Electrical Current

Sticker, Skylift, Underside Of Console Cover
Sticker, Logo for Skylift Leg,

Sticker, Logo for Skylift Console,

Sticker, Operation, 1082 Wireless

Sticker, Warning, for Foldable Stand
Sticker, Capacity, 78,000 lbs, Sky 250
Sticker, Caution, for Foldable Stand

Sticker, Load distribution, Skylift

Sticker, Power Current For Sky Lift

Sticker, Power consumption, ST2082
Sticker, Loading Diagram, Skylift

Sticker, Capacity, 62,400 lbs, Sky 250
Sticker, Warning, Skylift

Sticker, General Patent Alert

Tag, Hang, Oil Type, Yellow

Sticker, Service

Sticker, Behind Speed Control, Earthlift
Sticker, SK Earth Lift Globe

Sticker, SK Earth Lift

Sticker, Earthlift Schematic

Sticker, Wireless Patent

Sticker, Capacity, 16,500 lbs

Sticker, Fault Codes, Freedom Lift

Sticker, Capacity, 20,000 lbs

Sticker, Capacity, 26,000 lbs

Sticker, Capacity, 30,000 lbs, Freedom 2.30
Sticker, Amperage consumption, Freedom Lift

Sticker, Capacity, 14,500 Ibs, + warning, fork extensions

Sticker, Capacity, 18,500 lbs

Sticker, Instruction, Freedom Lift

Sticker, Patent, Battery Lift

Sticker, Column Name Plate, SK Freedom Lift
Sticker, Capacity, 22,000 lbs, for Reducer Sleeve
Sticker, Operating Instructions, Ebright Controls
Sticker, Blue, Wireless Ebright Control Panel Front
Sticker, Green, EarthLift Ebright Control Panel Front
Sticker, FCC Warning Label

Sticker, Wiring Diagram, Wireless Ebright

Sticker, Wiring Diagram, Earthlift Ebright

Sticker, Capacity, Ag Adapter

Sticker, Warning, Ag Adapter

Sticker, Capacity, 18,500 Ib, for Foldable stand
Sticker, Wiring Diagram for FBA Lift

Sticker, Capacity, 14,000 lbs

Sticker, "...Equipped With a Wireless..."

Sticker, Patent Statement

$35.70
$43.38
$9.73
$98.55
$65.35
$21.86
$8.56
$13.22
$37.31
$40.16
$25.77
$31.07
$35.28
$40.16
$24.64
$32.64
$19.39
$27.49
$103.38
$164.57
$36.96
$25.17
$27.30
$102.02
$24.38
$27.30
$24.38
$7.95
$108.73
$27.30
$32.65
$5.11
$26.79
$32.13
$8.68
$80.36
$107.11
$8.68
$37.30
$37.30
$108.73
$108.73
$19.13
$37.62
$28.05
$8.11
$14.11



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

60700526
60702001
60702002
60702003
60702004
60702005
60702006
60702008
60702011
60702012
60702013
60702014
60702023
60702024
60702025
60702026
60702033
60702034
60709001
60709002
60709003
60709004
60709005
60709006
60709008
60730041
61001008
61001012
65002411
65002546
65002612
65003207
65003280
65003283
65003287
65003291
65003365
65003403
65003405
65003407
65003445
65003447
65003448
65003488
65003526
65003530
65003688

Sticker, Wireless Patent

Sticker, ALl Member Label

Booklet, ALI "Lifting it Right" Safety Manual (Current Edition)
Card, Safety Tips, ALI ST 10

Sticker, ALI, Uniform Warning, WL400W-Now Sold Only In part 60702023
Sticker, ALI, Uniform Caution, WL400C

Sticker, ALI, Safety Instructions, WL400S

ANSI/ALI ALOIM - Current Revision

Sticker, ALI, Uniform Warning, WL200W

Sticker, ALI, Uniform Caution, WL200C

Sticker, ALI, Uniform Instructions, WL200S

Quick Ref. Guide ALI/LP-G Vehicle Lifting Points - Current Revision
Sticker, Set, ALI, WL400, W/C/S for Mobiles
Sticker, Set, ALI, WL200, W/C/S for Platform Lifts
Sticker, Set, ALI, WL101, W/C/S for 2-Posts
Sticker, Ground Emblem

Sticker, Set, ALI, FR400, W/C/S for Mobiles, French
Sticker, Set, ALI, WL200, W/C/S for Platform Lifts, in French
Sticker, Set for Battery Cabinet

Sticker, Set for Wireless Cabinet
Sticker, Set for Earth Lift Cabinet

Sticker, Set for Wireless Ebright Cabinet

Sticker, Set for Ebright Earth Lift

Sticker, Set for Ebright Batt. Cabinet

Sticker, Set for Wireless Ebright Cabinet - ST1130
Fuse-holder, Dinn Rail Mnt, 5x20 Fuse, 1082 BATT
Clamp For Lifting Mobile Coloumn

Scraper Ring

Bolt, M10x50

Bolt, Hex Head, Gr 8.8, Plated, M16 x 140

Bolt, Hex Head, Gr 8.8, Plated, M20 x 65

Bolt, Hex Head, M8 x 25

Bolt, Hex Head, Plated, M6x8

Bolt, Hex Head, M6x12

Bolt, M6 x 20

Bolt, Hex Head, M6x30, DIN 933

Bolt, Hex Head, Gr 8.8, M8 x 25

Bolt, Hex Head, 10mm x 20mm, DIN 933

Bolt, Hex Head, 10mm x 25mm, DIN 933

Bolt, Hex head, Gr. 8.8, M10 x 35, Galv

Bolt, Hex Head, M12 x 25

Bolt, Hex Head, M12x30, DIN 933

Bolt, Hex Head, M12x35, Galv.

Bolt, M14 x 30

Bolt, Hex Head, 16mm x 25mm DIN 933

Bolt, For Base Leg Extend

Bolt, Tap, M24x60

$22.39
$45.91
$7.62
$0.58
$6.78
$6.78
$6.89
$14.28
$45.91
$6.82
$21.09
$8.91
$66.32
§25.51
$22.97
$5.11
$66.32
$33.86
$313.70
$380.52
$444.85
$259.37
$806.84
$269.24
$259.37
$41.02
$1,168.62
$733.73
$5.01
$10.35
$36.96
$3.20
$4.28
$5.01
$3.65
$4.83
$3.65
$4.83
$4.83
$4.31
$5.88
$5.88
$5.88
$11.23
$11.79
$4.83
$42.33



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

65012282
65012292
65012443
65012445
65012448
65012526
65012528
65016004
65025005
65025025
65025029
65025040
65025042
65025044
65025055
65025056
65025057
65025059
65025060
65025064
65025065
65025080
65025087
65025100
65025106
65025107
65025112
65025113
65025124
65025136
65030257
65034170
65034222
65034228
65045026
65050124
65050132
65050134
65050140
65050144
65050903
65051026
65051028
65051036
65051040
65051042
65052920

Screw, M6 x 10, Allen Socket, Cap

Screw, Fillister Head, M6 x 35

Bolt, Allen Socket, M12 x 20,Gr 8

Screw, Counter Sunk, M12X25

Screw, 12mm x 35mm, Allen Socket cap head

Allen Head Screw M16x25

Bolt, Allen Socket, 16mm x 40mm

Bolt, Anchor, M10 x 130 w/ Flat Washer and Hex Nut
Screws, M6 x 12

Screw For KS2050

Bolt, Eye, M12, DIN 580

Bolt, M8 x 40

Screw, FHCS, M16 x 40

Bolt, Button Head, Allen Soc., Plated, M8x16

Bolt, Stud, M6 x 30

Bolt, Allen Socket, Button Head, M10 x 25

Screw, Flat Head, Hex Socket, M12 x 30

Bolt, Button Head w/ Flange, Allen Soc., Gr 10.9, Plated, M8x40
Bolt, Round Head, M12x35, Hex Socket

Bolt, M20x60

Bolt, Allen Soc, M16 x 40, Grade 12.9, DIN 912 G
Screw M12x35 Countersunk

Screw, M4x10

Bolt, For Rear Cover ST1082

Bolt, Shoulder, for lock pawl on fork extensions & reducers
Screw, M6 x 12, Flat Head, Countersunk, DIN 7991
Nut, Flush M6

Washer, Flush Spring, M6

Screw, Flat Head, Hex Socket, M12 x 20

Screw, Button Head Cap Screw, M6 x 10, Ebright Control Box
Screw, M5 x 30, Slotted, Pan Head, Plated

Screw, Phillips, Panhead, M3 x 16

Screw M4 x 12

Screw M4 x 30

Screw, for Hinge Strap on Control Box, Freedom Lift
Nut M4 DIN 934

Nut, Hex, M8

Nut, Hex, 10mm, Galv

Nut, Hex, 16M

Nut M 20

Nut, hex, 16M

Nut, M5, nylock, plated

Nut, M6, Nylock, Plated

Nut, Hex, Nylock, M12

Nut, Hex, Nylock, M16

Nut, Hex, Nylock, M18

Nut, Hex, Flange, M5

$4.83
$4.93
$6.96
$6.96
$9.63
$21.42
$19.27
$30.77
$4.28
$40.16
$36.96
$8.03
$22.76
$5.35
$8.03
$7.50
$9.11
$9.11
$66.43
$40.16
$20.36
$13.39
$4.93
$4.28
$5.35
$44.32
$15.54
$1.60
$17.39
$9.41
$4.28
$1.42
$4.28
$4.83
$17.86
$4.83
$4.28
$4.31
$4.83
$8.03
$75.37
$4.28
$4.83
$3.75
$5.35
$4.70
$1.31



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

65052921
65052926
65055014
65055015
65055018
65055019
65055021
65055023
65055024
65055028
65055031
65055302
65055306
65055414
65055708
65055709
65058018
65058024
65058028
65058032
65058044
65062024
65062028
65062036
65062041
65070030
65070036
65077144
65077190
65099029
65099035
65212532
65213257
65213367
65213534
65214358
65225007
65258228
65261068
65263001
65263006
65263009
65270001
65270002
65277243
65302259
65303285

Nut, Hex, flanged, M3

Nut, Hex, Flange Nut, M6, Ebright Control Box
Washer M5 DIN 127B

Washer Flat 6mm Old# 1038.06.0064
Washer, Flat, Plated, M8

Washer, Flat, 10mm, Galv

Washer, M12, DIN 125A

Washer, M14

Washer, Flat, M16, Plated

Washer A20

Washer, M24

Washer, Flat, M5

Washer, Fender, Plated, M8, x M27

Washer For KS2050

Washer, Fender, M6, M25 OD

Ring For KS2050

Washer, Split Lock, Plated, M6

Washer, Spring, M8

Washer

Washer, Lock, M12

Washer, lock, split ring, M20

Circlip / Cap

Retaining Rings (E Clip) Linkage For Pallet Jack
Circlip 708

Circlip A24 DIN 679 Old # 1038.34.02.40
Washer, Lock, 16MM, Galv., (Special)
Washer, Lock, M16, Plated

Roll Pin 5x50

Roll Pin 8 x 40 DIN 1481

Set Screw M4 x 4 DIN 916

Screw, Spring Loaded, For Control Box Cover
Screw, Allen Socket Cap, M16 x 50, 8.8, Plated
Screw M5x30

Screw, Countersunk M8x30

Screw, Flathead, Countersunk M16x60 Allen Socket

Screw, M8 x 8, Set, Cup Point, S/S

Bolt, Shoulder, M10 (12) x 16

Washer

Locking Ring

Spring Ring SB55 0035

Ring, Retainer, ST1055 & ST1060 Cylinder
Retaining Ring For 1082 Lift Cylinder

Washer, non-metallic, concave, M20, for ST4175 cylinder mount
Washer, non-metallic, convex, M20, for ST4175 cylinder mount

Roll Pin 12 x 30
Bolt, Hex Head, M5 x 40
Bolt, Hex Head, M6x16, 8.8, Galv

$1.42
$0.46
$4.83
$4.83
$4.83
$4.31
$4.83
$5.35
$4.83
$4.28
$7.50
$4.93
$4.28
$4.83
$4.66
$4.83
$4.10
$4.10
$4.83
$4.28
$4.28
$4.83
$4.83
$6.96
$6.36
$11.23
$0.91
$5.88
$6.96
$5.88
$12.86
$24.26
$3.20
$2.68
$11.79
$5.88
$37.48
$4.83
$14.46
$9.11
$27.30
$27.30
$34.82
$30.98
$11.23
$6.12
$5.64



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

65303528
65303538
65303608
65312532
65313534
65325005
65325021
65325080
65350140
65350144
65352922
65355014
65355024
65358044
65370036
65455001
65455002
65725005
65725009
65725014
65725015
65725016
65725019
65750136
65751036
65755021
65760012
65760050
65762024
65762029
65762030
65762037
65870011
65899011
65900106
65999013
66002012
66002015
66003202
66101254
66101261
66101263
66101277
66103907
66103909
66103920
66103921

Bolt, Hex Head, M16x30, Galv

Bolt, Hex Head, M16x80, Galv

Bolt, Hex Head, M20x45, Galv.

Screw, Allen Socket Cap, M16 x 50, 8.8, Galv

Bolt, Flat Head Allen Soc, Galv, M16x60, Sky Lift Extensions
Bolt, Button Head Cap, M6x12

Bolt, Round Head, M12x35, Hex Socket, Galv
Screw, M12 x 35, Countersunk Flat Head, Galv.
Hexagonal Nut, M16, Galv. for Sky Lift Extensions
Hexagonal Nut, M20, Galv., for Sky Lift Extensions
Nut, Hex, Nylock, M12, Galvanized

Washer, M5

Washer, Flat, M16, Galv

Washer, Lock, M20, Galv., for Sky Lift Extensions
Washer, Lock, M16, Galv, for Sky Lift Extensions
Copper Sealing Ring

Copper Sealing Ring Use 65455001

Rollpin, 6 X 40

Bolt, M10x20, For Retractable Wheel

Bolt, Shoulder, M12 x 50, Skylift pit cover or RROP
Bolt, Button Head, M12 x 25

Screw, M8 x 12, DIN 7991, Skylift Pit Cover

Bolt, Shoulder, M12 16x26

Nut, Hex, M12, DIN934, S/S

Nut, Hex, Nylock, M12, S/S

Washer, M12, DIN 125A, S/S

E" Clip For Pin on Retractable Wheels

Clip, Retainer, for Bottom of Thread in Pad Adapter, on 2-Post

Retaining Ring No 9 (E Clip) 1082 Retract Wheels
Circlip

Circlip, # 15

Circlip

Locking Ring Special M6

Plastic Cover 80mm

Ring, Rubber, (washer), Ebright Control Box
Column Shrink Wrap/PE Hose

Wheel For Axlestand & Cross Beam

All Steel Wheels For 3-Head Stand & Crossbeam-“use 66002012“

Lock, With Key, for Skylift locking cover

Distance Tube Spacer Pin (Long) 2070/2082
Distance Tube (Short) Spacer Pin (short) 2070/2082
Distance Tube

Spacer, M6 x 50, Ebright Control Box

Bushing, For Retractable Wheel Mech. on ST1175
Bearings For Retractable Wheels

Bearing Bushing, 60/70/45

Bearing Bushing, 60/70/50

$12.21
$32.92
$21.86
$24.26
$13.22
$5.31
$31.84
$36.36
$5.92
$7.29
$4.70
$4.23
$3.76
$7.29
$5.47
$4.28
$4.53
$17.67
$22.50
$320.82
$9.34
$3.71
$223.34
$9.63
$8.47
$5.64
$14.46
$103.38
$12.86
$6.44
$14.46
$23.02
$4.83
$49.81
$0.39
$326.17
$184.79
$175.97
$430.37
$19.27
$23.02
$45.01
$9.21
$19.75
$54.62
$244.76
$184.53



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

66103925 Bushing, Skylift Pit Cover, IGUS GFM-1618-09, Flanged $40.70
66103926 Bushing, Skylift Pit Cover, IGUS GSM-1618-12 $41.31
66103927 Bushing, Skylift Pit Cover, IGUS GSM-1618-15 $40.70
66103928 Washer, Thrust, Skylift Pit Cover, IGUS GTM-2442-015 $43.38
66201003 Skiffy Distance Brush $8.56
66201004 Knob For KS2050 $23.02
66201034 Rubber Lifting Block STO035 $190.14
66201035 Pressure Pin Skiffy 091 006 $5.88
66201039 Nut Cap M20 $9.63
66201046 Bumper, Rubber, for RROP $67.81
66201055 Distance Bush 12.8 $8.56
66201056 Spacer 6.3-15-15 $7.50
66201085 Rubber Plug Locking Pawl $6.96
66201102 T" Handle For Adjustable Forks $92.64
66201111 Edge Protecter For Skylift Cable Tray $65.35
66201153 Plug, Plastic, to seal pin #41310116 $13.66
66201169 Clamp, to Fasten LED Array Lights $28.22
66700150 Label, 8,800lbs ST 1060FS Model $39.62
66701031 Tube, Aluminum Conduit, 3100mm, 2-Post Overhead $761.05
66701032 Elbow, aluminum conduit, 2-post overhead $478.26
66701033 Coupling, Aluminum Conduit, 2-Post Overhead $184.79
66701034 Bracket For Aluminum Socket $24.10
66701040 Alum Profile, 4860mm, For LED $399.69
68002518 Comm Cable, Bulk, for Ebright Battery Lifts, x Meter $35.64
68021026 Hydraulic Unit, ST4120 Euro, 3x230/400V 50Hz 260 Bar $8,969.77
68030527 Hydraulic Unit, ST1073S, ST1082S 3-Phase 208V, 1.1 cc, 50 hz $5,109.89
68030729 Hydraulic Unit, Euro, 3-phase, 220-400V, 50Hz $5,332.77
68031224 Hydraulic Unit, Skylift, 3 phase, 208-460V, 3500PSI $11,705.08
68033221 Hydraulic Unit, Freedom Lift - SK2.16 - 230/480V 60hz $6,686.64
68033226 Hydraulic Unit, Freedom Lift - SK2.20 - 230/480V 60hz $5,381.99
68033421 Hydraulic Unit, Freedom Lift - SK2.26 - 230/480V 60Hz $5,490.70
68033426 Hydraulic Unit, Freedom Lift - SK2.30 - 230/480V 60Hz $4,902.41
68034221 Hydraulic Unit, Freedom Lift - SK2.16 - 230/480V 60hz, 2018 $5,300.13
68034226 Hydraulic Unit, Freedom Lift - SK2.20 - 230/480V 60hz, 2018 $6,260.41
68034421 Hydraulic Unit, Freedom Lift - SK2.26 - 230/480V 60Hz, 2018 $5,490.70
68034426 Hydraulic Unit, Freedom Lift - SK2.30 - 230/480V 60Hz, 2018 $4,902.41
68035024 Hydraulic Unit, ST4120, 1-Phase 208 $9,023.89
68035122 Hydraulic Unit, ST1055, 1-Phase x 208/230v, 1.1 cc $6,849.46
68035629 Hydraulic Unit, ST1060C, 1-Phase, 208V $4,637.56
68035927 Hydraulic Unit, Mobiles, 4175, 4250, 208/240V, 1-Phase, 1.2cc $5,109.89
68036024 Hydraulic Unit, ST4120, 3-Phase 208/460 $8,915.15
68036122 Hydraulic Unit, ST1055B, 3ph-208V, 1.1 cc, 220 bar $5,289.32
68036127 Hydraulic Unit, ST1060, 3PH 260V, 1.1 CC, 265 Bar $5,289.32
68036629 Hydraulic Unit, ST1060C, 3-Phase 208/460V, 1.1cc $3,790.13
68036729 Hydraulic Unit, ST1060S, 3-Phase 208/460V, 1.1cc $5,870.97
68036827 Hydraulic Unit, 1073C, 3-Phase x 208/460, 1.2cc $4,756.41

68036923 Hydraulic Unit, ST1064S, 208/460V, 3-Phase, 1.2cc, 230 bar $5,327.36



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

68036927
68036929
68037927
68038127
68038423
68038427
68038429
68039003
68039004
68039005
68039006
68039008
68039009
68039011
68039013
68039014
68039018
68039019
68039021
68039022
68039023
68039027
68039028
68039029
68039030
68039033
68039035
68039036
68039037
68039039
68039040
68039043
68039047
68039048
68039049
68039050
68039052
68039053
68039056
68039057
68039058
68039059
68039062
68039063
68039064
68039067
68039074

Hydraulic Unit, Mobiles, 4175, 4250, 208/460V, 3-Phase, 1.2cc, + Retro Fit For :
Hydraulic Unit, ST1100, 3-Phase 208/460V, 1.2cc, 4200 psi
Hydraulic Unit, Mobiles, 4175, 4250, 575V, 3-Phase, 1.2cc
Hydraulic Unit, Earthlift, 1.2cc, 3X24VAC, 3800 ps
Hydraulic Unit, ST1064, 24V, 1.2cc, 230 bar
Hydraulic Unit, ST1075, 1082, 1085, Battery, 24V, 1.2cc
Hydraulic Unit, ST 1100 Batt, 24 V, 1.2cc, 4280 psi
replace with 68039011 Oil Tank 7L, Including Clamp
Cap, Breather, on Plastic Reservoirs

Cap, Drain, on Plastic Reservoirs

Pressure Relief Valve 220 Bar

Pump 1.1 cm3/rev Fits Multiple Mobiles

Clamp, Band, for Plastic Reservoirs

Oil Tank 10L, Plastic, for Most Mobiles

Relay, Motor, Battery Lifts

Motor, 24 VDC Battery Lifts

Valve Block Assembly 4.5 L/Min

Valve Block Assembly 6.0 L/Min
Reservoir, 18 Ltr, For ST4120

Motor, 3 x 208-460 50 Hz, ST 4120 European

Motor, 3 x 208-460 60 Hz, ST 4120

Motor, 3Ph X 208/460V 60 Hz, Sky Lift

Motor, 575V 9 Kw 60hz, Skylift

Motor, 24VAC, 3400 RPM, Earthlift

Manifold, For ST1072/1082 Hydraulic Unit
Reservoir, 75L, For Skylift

Pump, Hydraulic, Dual Assembly, Sky Lift

Valve, Pressure Relief, Set at 240 Bar for SKY 250
Valve, 2/2, NC (inc. Solenoid Coil) For Skylift

Valve, Flow Control, 7.3L/min

Valve, Flow Control, 4.2 |/min, Skylift

Valve, Pressure Relief, 4200psi, ST1100

Pump, 1.2cm3, Earthlift hydr units

Valve, Lowering, Earthlift ** use 68308005 **

Valve, Flow Control, 6L/M Earthlift

Valve, Pressure Relief, 3800 # Earthlift

Motor, 230/460V, Freedom 2-Post

Motor, 575V, Freedom 2-Post

Reservaoir, Qil, 2.6 gal, Plastic, Freedom 2.16 & 2.20
Reservoir, QOil, 4.2 gal, Metal, Freedom 2.26 & 2.30
Valve, Pressure Relief, Freedom Lift

Valve, Flow Control, Lifting, Freedom Lift

Valve, Lowering, Freedom Lift

Coil, Solenoid, for 68039062 valve, Freedom Lift
Speed Sensor, Earthlift Motor

Valve, Flow Control, Lowering, Freedom Lift

Filter, Return, 4 Micron, Skylift

$5,327.36
$4,382.95
$5,327.36
$6,904.07
$6,849.46
$6,849.46
$6,849.46
$233.50
$30.53
$40.16
$319.34
$1,304.64
$26.32
$348.12
$462.20
$2,745.34
$704.37
$741.52
$1,643.74
$5,055.28
$5,191.30
$5,490.70
$7,310.58
$3,052.77
$1,848.25
$1,480.85
$2,115.97
$521.67
$1,304.64
$256.47
$288.12
$342.24
$1,581.23
$1,232.33
$615.92
$788.37
$3,213.44
$2,567.66
$450.95
$535.58
$615.92
$358.83
$964.04
$337.41
$1,679.54
$163.24
$353.47



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

68039077
68039079
68039080
68039081
68039082
68039092
68039106
68039126
68039158
68049008
68049013
68049014
68049017
68055226
68055726
68056226
68056729
68059004
68059014
68059015
68059021
68059028
68059029
68059032
68228000
68228005
68230004
68308005
68308009
68308013
68500916
68510124
68510911
68512140
68515402
68515502
68515702
68575916
68700019
68700118
68700410
68700418
68700422
68700450
68700451
68701105
68701804

Manifold, Complete w/all Valves, Skylift
Manifold, Complete w/all Valves etc, ST4120
Sight Glass, Qil Level, for Skylift Oil Tank
Tube Kit for Mobile Col Pump Unit, w/ Filters
Flange, for 68039027 Skylift motor mount
Reservoir, Qil, 3.9 gal, Plastic, Freedom 2.16 & 2.20
Flange, motor end, skylift

Valve, Flow Control, 2.0 Ltr/Min, Freedom Lift
Valve, Flow Control, 1.4 Ltr/Min, Freedom Lift
Filter, suction, ST4120, ST4100, ST2082
Valve, Flow Control, 9.0 I/min, 2070-2082
2/2 Lowering Valve 2-Post Lift
Return Filter 2-Post Lift

Hydraulic Unit, SK2070, Single Phase
Hydraulic Unit, ST2082, Single Phase
Hydraulic Unit, SK2070, 3PH 208/460
Hydraulic Unit, 2082 3 x 208/460V

Valve Block Assembly ST4100

2/2 Correction Valve 2-Post Lift

Solenoid Coil, 24V

Reservoir 12.1 2070

Motor, 3Ph 208-240 V, ST2070 / ST2082
Motor, 1Ph x 208-240 Volt, 2070 / 2082
Motor, 575V, ST2070

Hose Burst Valve For SK2082

Hose Burst Valve

Relief Valve, ST1065, Old Version

2/2 Valve, With Man. Adjustable (Excl. Solenoid)
do not use, wrong # provided by BV

2/2 Valve NC (ex. Solenoid)

Scraper Ring 0035 Lift

0O-Ring 12.42x1.78

O-Ring 110.72x3.53

0O-Ring 14x1.78 80

O-Ring 40 mm x 2 mm

O-Ring, 50 x 2 - 32706800 Cylinder

O-Ring 070 x 2.5 For 32706800 Cylinder
Bearing Ring 0035
Coupling, 12S, Comp X Comp

Fitting, Elbow, 10S Male x 10S Male

Adapter GE10

Coupling GE 10-PL/R

Straight Coupling

Union GE10 PSR

Straight Adapter

Coupling WSV 15-PL

Adapter, Male X Union Nut

$4,973.19
$4,552.37
$294.57
$428.46
$1,673.67
$450.95
$1,673.67
$245.17
$282.13
$163.34
$250.64
$815.69
$136.03
$6,251.73
$6,534.90
$8,208.75
$5,354.65
$1,386.06
$815.69
$277.43
$450.95
$6,143.02
$4,420.02
$4,783.74
$163.34
$184.79
$255.48
$1,293.93
$2,661.88
$924.40
$190.14
$9.11
$25.70
$9.63
$376.17
$95.32
$108.73
$244.76
$43.93
$74.47
$23.02
$42.83
$36.96
$43.38
$35.35
$108.73
$43.38



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

68702207
68702213
68703004
68703104
68709114
68709213
68790017
68790037
68900000
68900002
68900009
68900043
69002506
69002507
69002510
69061021
69061022
69061023
69061046
69062008
69062034
69062056
69062061
69063003
69063005
69090015
69090050
69090053
69090054
69090100
69090101
69090102
69090103
69090107
69090216
69110001
69120001
69120016
69120017
69120018
69120019
69120020
69120025
69120026
69120029
69120030
69120035

Adjustable Coupling 2070

Banjo Coupling. 90°, ST4175, Skylift Cylinder
Adjustable Elbow

Hydraulic "T" Adaptor

Elbow, WSV 10 PS Stainless Steel, Wash Bay

Coupling, Banjo, 90°, S/S, Wash Bay

Adapter, 1/2"-1/4", for weight transducer kit
Connector, Pressure transmitter, for Earthlift

Screw, Air Bleed

Oil, For Guide Bush, ST0035, 1 Liter, Gliss-Go 68
Hydraulic Oil, BIO, 1 Liter

Transmitter, Pressure, for Weight Display

Flat Cable (Long) ST1055

Flat Cable Assembly (Short) - ST4175

Cable, Assembly Emergency Stop

90° Fitting For Wire Loom On 4175 & 4250

Conduit, Flexible, 28mm dia, in 1 meter increments
Straight Fitting Wire Loom 4250

Conduit, Flexible, 48mm dia, 1 Meter Long

Cable Gland M20x1.5 22052ul1l

Nut, Plastic, for M25 Cable Gland

Cable Gland M25x1.5 22553um3x6

Cable Gland M25x1.5 22553um2x4

Cable Gland, M20 x 1.5 x 1 - 6 mm Cable Size

Cable Gland, With Nut, M32 x 1.5 x 13 - 20 mm Cable Size
Plug, Cable End For Solenoid Valves Etc

Grommet 2790 Type 2 (Part Of Qil Pipe)

Plug

Grommet

Connector, Base, 1065 Communication Cable
Connector Internal (Female) 1065 Communication Cable
Connector Internal (Male) 1065 Communication Cable
Connector Housing, Cable End 1065 Communication Cable

Connector On Control Box 1082 Battery Communication Cable

Plug, Cable End For ISB harnesses

Switch, On/Off for Lighting on SK4070
Switch CA10 A 291-500E Kraus

Switch, Main "E" & "B" Mobiles And 4-Post
Knob, Main Switch (Yellow)

Emergency Stop Button Flat Mushroom, 4-Post & 'B', 'C', 'E' And Digital Battery
Holder, Emergency Stop Button Flat Mushroom, 4-Post & 'B', 'C', 'E' And Digital
NC Contactor, For Emergency Stop Flat Mushroom, 4-Post & 'B', 'C', 'E' And Digi

Switch, Main, 2070

Switch, Main, Battery Lifts

Holder & 2 Contactors for E-Stop, Multiple Lifts
Switch

Switch, Main, Skylift, ECO & Diamond

$119.87
$136.03
$60.00
$124.79
$321.35
$830.14
$52.49
$215.19
$25.70
$108.73
$121.91
$733.73
$114.08
$76.06
$86.76
$174.06
$189.36
$86.76
$155.17
$22.97
$3.02
$24.10
$8.03
$17.39
$22.32
$25.51
$16.07
$27.04
$11.74
$119.44
$130.68
$130.68
$212.08
$296.81
$4.87
$260.83
$257.08
$239.41
$114.08
$190.14
$97.99
$97.99
$570.91
$288.12
$196.02
$227.70

$1,223.25



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

69120039
69120043
69120044
69120045
69120053
69130009
69141001
69141002
69141009
69141010
69141011
69141012
69141014
69141025
69141030
69141031
69141039
69141041
69141050
69141051
69141052
69141053
69141055
69141056
69141061
69141080
69141116
69141122
69141124
69141125
69141127
69141173
69141177
69141178
69141180
69141184
69151002
69151020
69151021
69151026
69152004
69152006
69152008
69153002
69153003
69153004
69154001

E-Stop, replaced by 69120018A

Switch, Main, ebright-superior

Relay, Main safety, ebright-superior

Relay, Ebright-Superior, Normally Open

Relay, Ebright-Superior, Normally Closed

Relay, Motor safety, ebright-superior

Button, Push, w/Blk Insert

Holder For 0035 Button

Pushbutton Type 14

Lamp Holder

Yellow Multi LED

Switch, Main, ST 1065 Primary Box

use # 69141177 Contactor, N/O, Siemens
Switch, Main, ST 1072

Button, Push, w/lamp holder & clear lens insert
Lamp For 0035

use # 69141170 Button, Push, Sky lift console
Contactor, N/C, For Emergency Stop - Used On SK Mobiles
Switch, Main, Superior Controls

Switch, Main, On NYCT 1082 Power Box

Knob For Standard Main Switch # 69141025 Not Lock Out

Knob For NYCTA Main Switch # 69141051 With Lock Out Vendor # Below

Push Button Replacement Set

Switch, Main, Freedom 2-Post

Emergency Stop Button SEE 69141061A

Switch, Kit, W/ Switch, Holder & Contactors, Schneider
Tool For Push Button Removal

Switch, Rotating, 2-Pos, Less Contactors, Siemens
Lens, w/ Holder, Red, for LED Lamp Ass'y

Lamp, LED, for 69141124 & 69141127, Pilot Lamp
Lens, w/ Holder, Green, for LED Lamp Ass'y

Switch, Rotating, 3-Pos, w/ Key, Less Contactors, Schneider
Contactor, N/O, Schneider

Contactor, N/C, For Emergency Stop - Used On SK Mobiles
Contactor, Dual, N/O + N/C, Schneider

Holder for Contactor, Schneider

Relay, Safety

Relay, Motor Starter, Ebright Diamond, ECO

Relay, Motor Starter, Ebright Sky

Main Safety Relay Skylift

When Gone, Use 69152006 Safety Relay

Relay, Magnetic, Motor Starter

Relay, Magnetic, Freedom 2-Post

Thermal Relay (230V-21A)

Thermal Relay 400V-13.5A Including 3RU1126-4ABO Relay & 3RU1926-3AA01 |

Thermal Relay (575V-8,5A)
Main Safety Relay

$430.37
$229.54
$459.05
$255.03
$255.03
$459.05
$81.41
$36.77
$212.08
$108.73
$43.38
$532.91
$53.04
$570.91
$81.41
$12.31
$156.63
§70.70
$570.91
$505.59
$570.91
$195.48
$907.89
$462.20
$435.71
$191.95
$16.96
$228.15
$42.90
$47.81
$42.90
$228.15
$53.04
§70.70
$53.04
$16.47
$239.41
$591.83
$940.43
$1,667.38
$308.09
$380.80
$462.20
$500.23
$500.23
$500.23
$733.73



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

69154003
69154004
69156009
69156011
69156012
69156016
69156025
69171000
69171024
69190014
69190016
69190017
69190018
69190023
69190024
69190029
69190056
69190061
69190062
69190063
69190064
69202004
69202008
69202009
69202031
69203001
69205006
69206004
69206010
69206011
69206012
69206014
69206015
69206016
69206020
69206021
69206024
69206026
69206102
69206402
69206403
69302016
69302020
69451400
69451420
69481501
69500007

Main Safety Relay

Superseded by 69151026 Main Safety Relay Skylift
Safety Relay

see 69156011A Relay For 1082 Power Box

Socket, Dinn Rail Mount, for Relay 69156011A

Relay For 1082 Power Box, 11 pin

Relay, w/ Din Rail Base For Lighting on Ebright Skylift
Switch; 188 U1 AV Bernstein

Switch, Limit ; Bernstein For P/J Interlock On Wireless Lifts
Base, On Cabinet, Ebright Comm Cable & Remote Plug
Connector, Internal, Female, 4 Pin, Comm Cable, Ebright 24 Volt
Connector, Internal, Male, 4 pin, Comm Cable, Ebright 24 Volt
Cover, Dust, Ebright 24 volt comm cable & remote Base
Connector, Housing, Cable end, Ebright 24 Volt
Connector, Female, 8 pin, for Ebright Remote

DO NOT USE

Plug, 2-Wire, Lighting to PCB on 69900145 Board
Comm Connector Housing, Cable End, Ebright-Superior
Comm Connector Base, Ebright-Superior

Comm Connector Insert, Female, Ebright-Superior
Comm Connector Insert, Male, Ebright-Superior
Acoustical Alarm

Acoustical Decent Alarm

Acoustical Decent Alarm In Battery Lifts & Skylifts
Acoustical Alarm, Ebright Control Box

Battery Cond Meter

Intrinsic Barrier For Skylift

Fuse 200mA For 1082

Fuse 125 mAT

Fuse 500 mAT

Fuse 3, 15 AM

Fuse 1A Slow 250V

Fuse 10A Slow

Fuse 1A Slow

Fuse, Class CC, 1/4 Feraz., 460/575 V

Fuse, Class CC, 1/2 Amp, 208/230 V

Fuse 5A, Type CC

Fuse, 1 amp, type CC

Fuse 200A

Fuse Holder, Dinn Rail Mount Type CC Fuse

Fuse Holder 1082 Battery

Connector, 3-Prong Panel Mount Power Supply For Battery Charger. PX0580/6:

Latch For Power Box Used On NYCTA Lifts
Solenoid, Lock Release, Mobile Cols
Solenoid, Lock Release, ST4120, ST4070
Solenoid 24 VDC For Lowering Valve
Transformer 24V 230/400/460/575V

$924.40
$1,712.23
$380.80
$152.11
$44.45
$152.11
$77.79
$364.18
$250.12
$33.20
$26.79
$27.84
$47.53
$46.92
$183.64
$51.02
$16.47
$91.09
$96.92
$204.02
$204.02
$467.56
$260.83
$272.06
$239.10
$1,685.45
$5,028.51
$2.81
$2.81
$2.81
$2.81
$6.60
$7.27
$2.81
$320.82
$320.82
$236.93
$236.93
$288.12
$53.56
$706.96
$38.03
$114.08
$698.79
$494.88
$152.11
$652.32



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

69500009 Transformer, ST1065 230V Letkes 12, circular $652.32
69500010 Transformer ST1065 460V Letkes 12, circular $1,658.11
69500012 Transformer, 230/400V ST 4120, &, 'B', 'C', 'E' Mobiles, Diamond & Eco $1,440.69
69500018 Transformer, 208V - 220V, 24V Fluorescent Lighting on platform Lifts $1,195.94
69500019 Transformer, 208V - 440V, 24V LED Lighting on platform Lifts $1,285.37
69500020 Transformer, 200-230 V $742.29
69500023 Transformer, ebright-superior $612.09
69500024 Transformer, Stepdown, 400v - 575v in, 230v out, for LED Lamps On Platform L $799.37
69500104 Battery Charger, Meanwell For Battery Lift $1,016.31
69500204 Power Supply, For LED Array Lighting on Platforms $1,016.31
69500205 Power Supply, For LED Array Lighting on 2-Posts $705.33
69500301 Motorcontroller, Earthlift $2,283.16
69540007 Encoder For Speed Control On Earthlift w/knob $188.04
69540009 Encoder For Speed Control On Earthlift $159.87
69601101 EPROM ST1072 / V2.4 Rel 10 $570.91
69601102 EPROM ST1072 / V2.4 Rel 10 61 Inch Limit $374.91
69601104 EPROM ST1072 / V2.4 Rel 11 54" or 1372mm (NYCT) $386.59
69601211 EPROM ST4250, 4175, 4100 $124.79
69601301 EPROM ST1055/1072B $124.79
69601601 EPROM ST1060C & ST1073C $127.99
69601701 EPROM ST4120 $124.79
69601801 EPROM for Skylift use w/ 69900240 board $217.44
69602002 EPROM ST1082 superior controls $527.53
69602012 EPROM ST1082 NYCT, w/ Lock-out $527.53
69602501 EPROM 2-Post Freedom Lift $696.25
69620006 SD Card, Used in Ebright PCB $30.60
69700031 Mounting Kit For Lighting On Mobile Columns 2 Required For A Kit $124.79
69700034 Lamp Assembly, fluorescent, For Platform Lifts 5' Fixture $815.69
69700035 Lamp Assembly, fluorescent, 36W, 4' $1,114.53
69700050 Lamp Assembly, fluorescent, 24V For 4-Posts & Skylift $1,168.62
69700051 Mounting Clip For 24V Lamp For 4175,4250 & Skylift $32.13
69700060 LED Lighting Fixture 2 - LED Engine Kits 1- Transparent Rod $1,550.19
69700090 Cable, LED Engine to Harness $255.48
69700095 Cable, Extension, Lighting, 60cm $97.99
69700110 Engine For LED Lighting $652.32
69700115 Cable Set for LED Lighting, Control Box to Runway, 4-Post $1,209.36
69700120 Cable Set for LED Lighting, In Control Box & to Runway, SKY $1,522.10
69700150 LED Array Style Light Bar $540.74
69700151 Cap, End, for LED Array Style Light Bar $26.32
69700160 Cable, Interconnect, for LED Array Style Lights $73.35
69900021 PCB KS 2050 $692.68
69900030 PCB ST1065 (380/415V) $3,635.57
69900031 PCB ST1065 (220/240V) $5,217.76
69900032 PCB Plug-On ST1065 $1,886.99
69900036 Push Button Board ST1065 $3,832.56
69900052 Terminal, Grounding, Dinn Rail Mount, Ebright Superior $41.39

69900058 Terminal, Grounding, Dinn Rail Mount, skylift $40.81



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

69900060
69900080
69900090
69900130
69900131
69900132
69900135
69900136
69900141
69900142
69900145
69900146
69900150
69900152
69900154
69900155
69900160
69900170
69900180
69900190
69900220
69900230
69900240
69900250
69900300
69900321
69900323
70900017
70900029
70900048
70900068
70900073
70900074
70900080
70900081
70900082
70900083
70900085
70900086
70900089
70900090
70900091
70900092
70900093
70900094
70900095
70900096

See Part Number 69900090

PCB 230V, For 4070

PCB, Freedom Lift, KS2038/2050/2070 & 2082
PCB ST 1072

Pushbutton Board + Flatcable Set-Ref Controls

PCB Phase Control Board

PCB Main Superior EN Control "No Lockout"

PCB Main Superior Control With Lockout NYCTA

PCB, Power, ST4100/4175/4250 1055B - 1072B

Push Button Board 4175-4250

PCB, Power Board 4120 And Skylift

PCB, Power Board, ECO Lift

PCB, Main, "B" & "E" Mobiles, 69900240 W/ 69601301 E-Prom
Push Button Board SK1055B

PCB, in pendant #34007930

PCB, Control Board For Diamond & Eco Pendant

PCB, With Digital LCD ST1082 Battery

PCB, Main, "C" Mobiles, 69900240 W/ 69601601 E-Prom
PCB, Main, ST4120, 4-Post, 69900240 W/ 69601701 E-prom
PCB, Main, Skylift. 69900240 W/ 69601801 E-Prom

PCB, Adapter, ST1082 Battery

PCB, Main, ST1082 Battery

PCB, Control Board, Less EPROM

PCB, Main, ST4100/4175/4250, 69900240 W/ 69601211 E-Prom
PCB, With Digital LCD EarthLift

PCB, Mobile Column Ebright Controls

PCB, Power, Ebright Superior

3/8 Noise Reducer

Fitting, Elbow, 8mm Push x 1/8" BPPT, Plastic

Fitting, Elbow, 6m push X 1/8" BPPT

Noise Reducer 2070/2082

Fitting, coupling, 6mm x 6mm, push to connect

Fitting, coupling, 8mm x 8mm, push to connect

Silencer, Skylift Cylinder

Air Hose, Coiled, 8mm For Air Lock Release On Skylift
Silencer, for Skylift, Gen1 Air Valve, Gen 2 Lock Cyl
De-aerator, for skylift lock cylinder

Fitting, "Y", 8mm Compression w/Sleeve

Fitting, Elbow, 8mm push x 1/8" BPPT, All Metal

Fitting, Quick Disconnect, 3/8” FL Thread x M| Qk, for J/B Air Kits
Hose, Air, Coiled for J/B Air Kit

Fitting, Quick Disconnect, 3/8“ Ml x FI, for J/B Air Kits
Fitting, Straight Nipple, 1/4” x 1/8”

Silencer, for Skylift Air Valve, Gen 2

Fitting, 6m Push x Clip in for Air Valve on Skylift
Fitting, "Y", 6mm Push

Use part # 70900096A

$2,588.60
$1,468.01
$2,718.04
$3,213.44
$1,522.10
$869.77
$2,419.19
$2,419.19
$3,397.68
$2,473.28
$1,440.69
$786.40
$2,473.28
$2,397.12
$956.38
$1,658.94
$2,701.96
$2,473.28
$3,152.92
$3,152.92
$1,059.91
$2,419.19
$2,881.39
$2,473.28
$2,772.66
$2,412.46
$1,347.87
$76.06
$28.05
$38.56
$43.93
$15.93
$15.93
$90.28
$315.75
$29.19
$119.44
$222.41
$55.58
$5.77
$625.02
$33.92
$16.59
$115.25
$37.48
$204.55
$123.40



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

70900098
70900103
70900104
70900105
70900106
70905001
70911103
70913101
70913102
70913401
83301314
92903033
92903608
92951030
92952076
92952077
99900001
99901831
99999901
1020500034
1020500035
1020500036
1002.13.00.68
1002.15.02.24
1002.22.01.32
1003.74.00.17
1003.91.70.10
1003.91.74.10
1003.91.76.10
1003.91.80.38
1003.95.05.05
1003.97.03.05
1003.97.03.06
1003.99.44.14
1003917410-US
1009.19.00.29
1009.19.00.75
1018.03.00.01
1018.03.05.04
1020.09.15.10
1020.15.00.90
1020.50.00.05
1020.50.00.07
1020.50.00.35
1020.50.00.40
1020.50.00.45
1024.38.00.12

Sound absorber, for skylift lock cylinder

Fitting, Outlet Plate, 3/8” Female Threads, for J/B Air Kits.
Fitting, Plugged End, for J/B Air Kits

Coupling, for J/B Air Kits

Fitting, Female Thread End, for J/B Air Kits

Cylinder, Pneumatic, Short Stroke, Skylift lock release

Switch, Pneumatic, for Jacking Beam Home Position Kit on Skylift
Valve, Pneumatic, for Lock Release, Skylift, Gen 1

Valve, Pneumatic, for Lock Release, Skylift, Gen 2

Electro Magnet For Air Valve On Skylift

Sticker, ID Plate

Grease, Autol Top 2000, Cartridge

Grease, Ceramic

Kit, Touch up Paint, 2-part Epoxy, Grey, for Washbay Lift. 5 oz.
Paint, Spray,12 oz. can, RAL 3002 red

Paint, Spray,12 oz. can, RAL 1013 off white

Standoff, nylon, for PCB mounting - 10 pcs pkg

Shim, see 41310139

Bridge Rectifier & Capacitor for NY Power Box

Slide Plate, 12mm, For Mobile Column Guide Block Rollers
Slide Plate, 13mm, For Mobile Column Guide Block Rollers
Slide Plate, 14mm, For Mobile Column Guide Block Rollers
Clamp .22mm

Nut For Wire Loom 4250

Rubber Grommet For Insp Glass To View Charger & For P/J Interlock Cable
Fitting, Male Thread x 3/8", Barbed, for J/B Air Kits

Fitting, Elbow, Bulkhead,10S x 10S

Fitting, Tee, 10m, Comp x Swivel x Comp

Fitting, Elbow, 10S x 10S

Hose Burst Check Valve

Straight Adaptor For 4250 Recirculation Breather Kit (Anti Moisture)
Union Elbow For 4250 Air Recirculation Breather Kit (Anti Moisture)
Plug, 1/8" BPPT, w/Seal

Release Valve & Button KO 4040W Lift

Fitting. Tee, 3/8" JIC, Fem x Male x Male

Rubber Pad 10.5cm For Lift 370-03-935 2070/2082

Rubber Buffer M8x21

Filter

Oil Filter

Plastic Cover

Plastic Tool Tray For 2-Post Lift

Pulley For KO2020

Pulley For KO2022

Slide Plate, 13mm, For Guide Block Roller on 4120

Lock, Upper Part, on Extended Flex Arms, Freedom Lift

Lock, Lower Part, on Extended Flex Arms, Freedom Lift
Roller, ST4120 ramp

$37.48
$80.36
$78.97
$59.72
$68.87
$803.36
$901.28
$815.69
$815.69
$36.22
$100.73
$137.58
$286.92
$265.24
$41.86
$41.86
$16.33
$19.58
$18.22
$54.02
$54.02
$54.02
$11.79
$10.19
$3.21
$60.00
$76.06
$42.03
$76.06
$298.85
$86.76
$97.99
$5.32
$364.18
$20.41
$130.68
$28.92
$179.42
$580.63
$128.02
$108.73
$364.18
$337.57
$58.32
$257.15
$317.25
$21.52



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

1028.03.00.11
1028.03.00.12
1031.00.00.61
1031.34.40.61
1031.34.40.63
1033.25.02.05
1035.31.03.60
1035.31.04.28
1035.31.05.85
1035.31.05.87
1035.38.07.79
1035.46.05.66
1035.75.15.06
1035.79.00.16
1036.23.01.70
1036.25.05.12
1036.30.06.16
1036.40.04.11
1036.46.03.45
1036.55.05.13
1037.07.50.08
1037.07.50.16
1037.07.50.20
1037.07.50.24
1037.07.80.03
1037.07.80.06
1038.13.01.10
1038.34.01.00
1038.34.02.40
1038.66.02.66
1038.66.04.24
1401.10.15.00
1401.10.25.40
1500.07.00.24
1500.07.02.11
1500.57.00.05
1500.57.00.06
1611.17.42.40
1611.18.72.60
1611.20.72.80
1611.23.53.10
18-9097A
2L31-08-04
31000766-US
31000767-US
32006254US
32550102-US

Air Tube For 4250 Air Recirculation Breather Kit (Anti Moisture)
Hose, Braided, 3/8” x 25’, for J/B Air Kits
Sticker, Lube Instructions, ST1072

Sticker, User Instructions, ST2082

Sticker, User Instructions, ST2082, French
Spring For KS2050

Bolt, Hex Head, M5x40

Screw, M6 x 40, Hex Head, S/S

Bolt, M10 x 110

Bolt, M10 X 120, Bolt For Castor

Bolt, Hex Head, M16 x 50, 8.8

Screw, M10 x 25 Allen Socket Cap

Bolt, Anchor, M10 x 100

Chemical Anchor Capsule

Screw, Speed Control Knob

Screw, M5 x 12

Screw For KS2050

Screw

Screw, Set, M5x12 For Potentiometer Lead
Screw, Set, M8 X 18

Nut, M8, 1/2 Tall

Nut For Base Leg Extend

Lock Nut M20

Hex Nut, 24mm

Nut, Hex, M3

Nut For KS2050

Washer

Circlip, capped, 10mm

Retaining Washer A24 Replaced By 65062041
Roll pin, 4mm x 16mm

Roll Pin 6 x 30

Ball For Pallet Jack Cap

Ball For ST 1065

Preformed O-Ring

Collerette

1500.57.0005 Solenoid For 2+2 00.06 Valve
1500.057.00.06 2/2 Lower Valve 4080 Lift
Sealing ring, .25 inch

Sealing Washer 18.7 x 26 x 1

Sealing Washer

Sealing Washer

Carrier Weldment, WEB Beam Dolly

Fitting, Tubing. 90 Ell 8mm Push By 1/4" BPT
Cable, Ribbon, 60mm long, for 69900240 PCB
Cable, Ribbon, 300mm long, for 69900240 PCB
Filter, Return, 10 Micron

Shaft, Balancer Pivot, US

$38.03
$149.38
$15.99
$14.45
$14.45
$19.81
$1.60
$5.35
$8.56
$8.56
$20.36
$5.35
$18.76
$43.38
$1.87
$5.35
$5.35
$8.56
$4.83
$5.35
$5.88
$6.44
$6.81
$6.96
$5.18
$2.68
$3.21
$4.79
$5.35
$4.55
$3.75
$12.86
$12.86
$20.90
$255.48
$277.43
$1,141.84
$1.33
$24.64
$9.34
$26.79
$317.80
$19.77
$33.50
$40.16
$113.82
$20.45



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

32550103-US
32556075NY
32556150US
32556283A
32700116-US
32700120K
32700120-US
32700184-1
32700184-2
32700300-US
32706075US
32706201A
32706237-01
32706237-02
32706237A
32706292A
327062928
32731910-NEW
32736150R-US
32736150-US
32739100S
32739160-NEW
32739181A
32739182A
3500.78.00.00
35000720-01
35000720-02
35000720-03
3501.50.90.01
3501.50.90.02
3501.50.90.03

Shaft, Balancer To Pallet Jack, US

Hydraulic pipe New York City - specific - long

Hydraulic Hose U.S.

Oil Plug For 1072 P/J

Top Plate, Beveled Profile, US

Cap Kit For 1082 and Newer Pallet Jack Includes Ball, Set Screw & Lock Nut
Cap For Pallet Jack, 1082, US

Roller, Guide Block, ST1082, ST1085, 1MM over size

Roller, Guide Block, ST1082, ST1085, 2MM over size

Balancer, US

Hydraulic Pipe, 1082 & 1073 & New 1060

Wheel, Pallet jack, fits 32706200

Rubber Oil Reservoir Plug For 1082 Pallet Jack

Retainer Ring For Reservoir Plug For 1082 Pallet Jack

Rubber Oil Reservoir For 1082 Pallet Jack Including Plug & O-Ring Retainer
P/J Cap Kit For 'New' 1072 P/J. Including Shafts & Lock Pins 90mm Tall
Cap Kit For 'New' 1072 P/J. 90mm Tall, w/ ball, nut & set screw
Conversion Kit, To Zigbee Wireless, Low Mount

Hose, Hydraulic, Earthift - US

Hose, Hydraulic, Battery Lift - US

Control Box, Shell, Battery Lift, Including Wire Harness Set

SEE 32739160

Pallet Jack Interlock Assembly, early models

Switch Bushing For Wireless On Pallet Jack Interlock Includes Set-Screw 650990

Cylinder, Hydraulic Ram Type 3656 Carlift

Cable, Less Carrier Chain, PTM & VLM, Freedom Lift

Chain, Carrier, 6 Liink Section, Freedom Lift

Chain, Carrier, Starter Links L & R hand, Freedom Lift
Cover For 2-Post Control Box Including Button Panel
Keyswitch

Switch , Magnetic, EG # LS05.10-NSW

3501.50.90.03.4KW Switch, Magnetic, 0035 With 4KW Motor

3501.50.90.04
3501.50.90.04A
3501.50.90.08
3501.51.90.04
3575.03.03.00
3575.03.04.00
3591.51.07.00
3612.10.10.00
3621.14.02.00
37003935NP
380.07.790
380.08.790
38001101-US
38001102-US
38006108-US

Thermal Relay (ST1065) AEG # BO5-NN

Thermal Relay (ST1065) OEM GE # RT1S

Fuse 5A Slow

Thermal Relay (ST1065 )

Washer, non-metallic, convex, M25, for ST4250 cylinder mount
Washer, non-metallic, concave, M25, for ST4250 cylinder mount
Seal Kit, Cylinder, KO4040W

Seal Kit, Cylinder, KS4045W

Axle, for roller, ST4120 ramp

Saddle With No Rubber Pad

Wireless, Ebright Control, Retrofit Cabinet with Cable Set
Earthlift, Ebright Control, Retrofit Cabinet with Cable Set

Cover, Hydro Unit, ST1085

Cover, upper, Superior controls lifts w/ welded on mount (USA Made)
Spacer, Battery Lift Cabinet, New Style

$16.69
$164.46
$283.76
$6.09
$133.90
$94.04
$62.22
$212.19
$212.19
$51.77
$184.72
$137.72
$10.91
$6.89
$60.98
$219.31
$193.34
$4,323.55
$248.41
$260.83
$3,012.98
$3,023.16
$554.85
$52.42
$7,942.04
$411.24
$40.95
$19.91
$733.73
$445.28
$384.54
$616.83
$251.83
$299.03
$3.14
$462.20
$77.48
§77.48
$293.50
$293.50
$63.12
$170.23
$2,954.58
$2,954.58
$369.45
$157.81
$40.81



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

38007700-US
38007750-US
38007768A
38007793E
38007793W
38007901A
39509100S

35B3000-1HA20

413.09.160
413.09.162
413.09.163
41300104-vZ
41300150-vZ
41300225-VZ
41300230-VZ
41300600-VZ
41300610-vZ
4130078KIT
41310118-RVS
41310118-vZ
41310126-VZ
41310127-VZ
41310130S
41310132-vZ
41310134-RVS
41310150-vZ
41310190-vZ
41310225-VZ
41310230-VZ
41310600R
41310600-VZ
41310610-VZ
41310920-VZ
41310925-WB
41315305-VZ
41317365-VZ
414.09.160
42504300-VZ
42504400-vZ
42509100-vZ
4310.06.02.00
4310.09.00.01
4310.09.00.03
4310.09.00.07
4310.09.00.08
4310.09.00.10
4311.16.00.21

Control System Complete, Wireless
Cabinet, Wireless Ebright, Complete With Control Box, Less Batteries
Repair Kit, Ebright Control Box Cover (for ordering from BV)

Panel, Front, Ebright Earthlift, w/ Button Panel, Display Screen & Green Sticker
Panel, Front, Ebright Wireless, w/ Button Panel, Display Screen & Blue Sticker

Template for Ebright Control Box Repair

Air Kit With 8' Air Pipe For ST4120,4175,4250 & SKY
Emergency Stop Button

Transformer, Additional Power Supply for More Than 12 LED Lights
Set Motor Protection SKY 200/250-460V + 250-575V

Set Motor Protection SKY 200-575V

Lock, Lower, Surface Mount, Skylift, Gen 1, Wash Bay

Lock, Upper, Surface Mount, Skylift, Gen 1, Wash Bay

Lock, Upper, Surface Mount, Skylift, Gen 2, Washbay

Lock, Lower, Surface Mount, Skylift, Gen 2, Wash Bay
Cylinder, Hydraulic, Skylift, Surface Mount, Gen. 1, Wash Bay
Cylinder, Hydraulic, Skylift, Surface Mount, Gen. 2, Wash Bay
Cable Set, to PCB-P1,P2,P3,P4 & to Transformer, on Skylift
Floor Plate, Stainless Steel, Skylift

Base Plate, Galvanized For Skylift

Plate, Spacer, for Hinge Plate on Skylift, 1mm, Galvanized
Plate, Spacer, for Hinge Plate on Skylift, 2mm, Galvanized
Chain, Cable & Hose Carrier, 8 Link Section, Skylift

Plate, Spacer, for Hinge Plate on Skylift, 0.5mm, Galvanized
Floor Plate, Stainless Steel, Skylift

Lock, Upper, Flush Mount, Skylift, Gen 1, Wash Bay

Spacer, for Foot, Skylift, Gen 2, Flush Mount, Wash Bay
Lock, Upper, Flush Mount, Skylift, Gen 2, Wash Bay

Lock, Lower, Flush Mount, Skylift, Gen 2, Wash Bay
Cylinder, Hydraulic, Skylift, Flush Mount, Gen. 1 - Resealed
Cylinder, Hydarulic, Skylift, Flush Mount, Gen. 1, Wash Bay
Cylinder, Hydraulic, Skylift, Flush Mount, Gen. 2, Wash Bay
Plate, Stop, for RROP, Galv. for Washbay

Hinge Plate, for RROP, Galvanized

Weldment, End plate, Skylift runway

Fill In Piece For Jacking Beam On Skylift-galvanized
Transformer, Additional Power Supply for More Than 12 LED Lights, Ebright
Stop Plate, Flip up, for Drive On Ramp, Galvanized

Wheel Stop, Galvanized, 4250 & Skylift

Ramp, Drive On, Transition Plate, Galvanized

Pins, For Jack Stand Height Adjustment

Spring For Axle Stand Column

Thread Bush For Wheel, 3-Head

Pressure Spring For Stands

Bushing, for caster, 3-head stand

Pin, Height Adjusing, For 11.5 Ton 3-Head Stand

Control Valve For MRP

$8,170.23
$7,993.65
$329.52
$2,983.91
$2,983.91
$193.73
$747.94
$68.73
$404.36
$404.36
$404.36
$1,944.93
$2,811.03
$2,568.61
$2,249.41
$6,368.21
$6,523.28
$587.77
$4,820.16
$1,178.27
$44.02
$44.02
$170.20
$44.02
$4,820.16
$3,603.89
$413.79
$2,788.73
$2,616.67
$2,160.94
$6,958.19
$6,631.99
$742.94
$1,105.00
$263.01
$108.57
$404.36
$900.00
$783.61
$652.32
$152.11
$761.05
$21.69
$35.88
$35.88
$369.55
$733.73



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

4311.80.00.13
4311.80.00.18
4311.80.00.29
4311.80.00.86
4311.81.00.15
4311.81.00.27
4311.81.01.04
4CuU61
50B3445
5100.04.23.00
5100.08.05.00
59000302NY
60203002A
60700092-US
60700131A
60700156A
65002612-VZ
65050140-VZ
65051044-VZ
65055024-VZ
65055028-VZ
65213367-VZ
65213534-VZ
68033221NM
68033226NM
68034221NM
68035629NM
68035927NM
68036024NM
68036729NM
68036927NM
68038127NM
68038427NM
68039033S
68039081NF
68056729NM
68700450-US
68790037-US
69004002A
69061046-S
69090106A
69090107A
690901078
69090108A
69090109A
69090111A
69090112A

Seal Kit, Cylinder, MRP-120

Shut Off Valve

Spring End Nut

Check Valve

Cylinder, Hydraulic, MRP120, 6 ton, 12" Jacking Beam

Velocity Valve, MRP J/B

Hose, 740mm, (HH29) MRP J/B

Capacitor, Start, 330V Max Single Phase/MFD 53-64

Snap On Suppressor, 31mm 260ohm, Grade: 31 Ferrite # 0431164181
Channel

Pin, in Hinge Pin, Extended Flex Arms, Freedom Lift

Hydraulic Pipe New York City - specific - Short

Gas Spring With Clevis's And Clips

Sticker, "Risk of Electrical Shock", English & French

Sticker, Caution

Sticker, Load Distribution ST4175

Bolt, Hex Head, Gr 8.8, Plated-galvanized, M20 x 65

Nut, Hex, 16M-galvanized

Nut, Hex,, M20, Galvanized

USE 65355024 forWasher,Flat, M16, galvanized

Washer A20, galvanized

Screw, Countersunk, M8x30, Galv

Screw, Flathead, Countersunk M16x60 Allen Socket, Galvanized
Hydraulic Unit, Freedom Lift - SK2.16 - 230/480V 60hz

Hydraulic Unit, Freedom Lift - SK2.20 - 230/480V 60hz - NO MOTOR
Hydraulic Unit, Freedom Lift - SK2.16 - No Motor, 2018

Hydraulic Unit, ST1060C, 1-Phase, 208V - No Motor

Hydraulic Unit, ST1073S, ST1082S, 1-Phase 208V, 1.1 cc, No Motor
Hydraulic Unit, ST4120, 3-Phase 208/460, NO Motor

Hydraulic Unit, ST1060S, 3-Phase 208/460V, 1.1cc, No Motor
Hydraulic Unit, Mobiles , 4175, 4250, 208/460V, 3-Phase, 1.2cc, + Retro Fit For
Hydraulic Unit, Earthlift, 1.2cc, 3X24VAC, 3800 psi, No Motor
Hydraulic Unit, ST1075, 1082, 1085, Battery, 24 V, 1.2cc, No Motor
Reservoir, 75L, For Skylift, w/Motor Flange, & Sight Glass

Tube Kit for Mobile Col Pump Unit, No Filters

Hydraulic Unit, 2082 3 x 208/460V, No Motor

Tubing Fitting For Hydraulic Line, US ( A93109-37 )

Union

Cable, Charger Power Supply For Battery Lifts, Sold As Spare Parts
Conduit, Flexible, 48mm dia, 25 cm

Housing, Cable End 1082 Battery Communication Cable

Cover With Tether For Base Connector On Control Box 1082 Digital Battery Lift
Connector On Control Box 1082 Battery Communication Cable
Female Plug End 1082 Battery Communication Cable

Male Plug End 1082 Battery Communication Cable

Connector Internal (Female) 1055/1072/1082 Communication Cable
Connector Internal (Male) 1055/1072/1082 Communication Cable

$475.58
$924.40
$163.34
$315.47
$6,795.35
$570.91
$625.02
$44.15
$17.98
$213.09
$14.07
$76.62
$308.20
$9.11
$17.86
$25.51
$33.00
$4.31
$9.10
$4.23
$3.83
$2.68
$11.79
$4,058.45
$2,385.40
$3,357.33
$4,802.13
$2,504.89
$3,657.19
$3,111.42
$3,164.18
$3,274.93
$4,254.79
$3,204.52
$218.63
$2,541.94
$62.12
$4.55
$14.56
$42.68
$110.66
$63.55
$114.19
$57.08
$54.76
$157.29
$157.29



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

69090113A
69090114A
690901148
69120016C
69120018A
69141061A
69141115A
69141176A
69156011A
69206004A
69206010A
69206011A
69206012A
69206014A
69206015A
69206016A
69206022A
69206024A
69206026A
69206102A
69500104A
69500204A
69500205A
69900031L
70900081A
70900096A
90.588.00
92952076A
92952077A
A00007-09
A00196-36
A189150
A93109-37
BATCONSYS
BH-7342-29
BH-7790-42
BH-7790-43
BH-7798-22

Connector Housing, Cable End 1055/1072/1082 Communication Cable
Latch For Comm Connector On Control Box, All A/C Power Mobiles Except 106-

Connector Base 1055/1072/1082 Communication Cable
Switch, Main, "E" & "B" & "C" Mobiles And 4-Post w/ Knob Kit

Emergency Stop Button Assembly Flat Mushroom Button With Holder & 2 Cont
Emergency Stop Button New 'BIG' Style, Includes Holder & 2 Contactors
Pushbutton / Lamp Socket For ST1072, 1055 And Original ST1060 Button Panel:

Switch, Rotating, 2-Pos,W/Contactor & Holder, Schneider
Relay For Superior Control & Power Box, 8 pin

Fuse 200mA For 1082

Fuse 125 mAT

Fuse 500 mAT

Fuse 3, 15 AM

Fuse 1A Slow 250V

Fuse 10A Slow

Fuse 1A Slow

Fuse 6.3A, slow blow, on 69900323 PCB

Fuse 5A, Type CC

Fuse, 1 amp, type CC

Fuse 200A

Battery Charger, Meanwell For Battery Lift

Power Supply, For LED Array Lighting on Platforms

Power Supply, For LED Array Lighting on 2-Posts

PCB ST1065 (220/240V) Less Plug On Board

Air Hose, Coiled, 8mm For Air Lock Release On Skylift-USA
Air Hose, Coiled, 6mm For Air Lock Release On Skylift. USA
Adjustable Saddle (ASI 14X14)

Paint, Spray, 12 oz. Can, RAL 3002 Red

Paint, Spray, 12 oz. Can, RAL 1013 Off White

Locknut, 9/16"-12, Nylon Insert

Bolt, Hex Head, Grade 5, 9/16"-12 X 4-1/2"

Caster, Swivel, 5" for WEB Beam Dolly

See 68700450-US - Tubing Fitting For Hydraulic Line, US
Battery Control System New Style Digital Controls - Complete
Lock, Ass'y, for Mohawk 2-Post Model TP-16

Tube ass’y no 2-0886, Wheel-Tronic 2-post

Velocity Fuse no 6-0422, Wheel-Tronic 2-post

Arm Restraint ass’y no 1-2038, Wheel-Tronic 2-post

CBB60B-450F406M: Capacitor, Run, 450V Max Single Phase / 40 mf

CD16MA-GY-N
CD20MR-GY-N
CD20MR-TE

CD22M6-GY-N
CD22MA-GY-N
CD25M3-GY-N
CD32MR-GY-N

COMP4COMPLETE 4 Valve/EPROM Package Complete 4 Each 32556910 Valves 4 Each 69601101 E

Cable Gland, With Nut, M16 x 1.5 x 1 Hole 4-8 mm Cable Size
Cable Gland, Wth Nut, M20 x 1.5 x 1 - 6 mm Cable Size

Cable Gland, M20 x 1.5 x 1 ea 6 mm Cable Size

Cable Gland, With Nut, M20 x 1.5 x 2 Each 6 mm Cable Size
Cable Gland, With Nut, M20 x 1.5 x 1, 10 - 14 mm Cable Size
Cable Gland, With Nut, M25 x 1.5 x 2 Ea 8 mm Cable Size
Cable Gland, With Nut, M32 x 1.5 x 13 - 20 mm Cable Size

$147.96
$29.13
$172.45
$321.35
$345.84
$147.42
$43.42
$261.94
$15.68
$3.14
$3.14
$3.14
$3.14
§7.41
$8.16
$3.14
$1.75
$48.40
$47.03
$100.61
$495.40
$272.40
$336.70
$2,431.56
$58.20
$42.02
$1,802.39
$48.45
$48.45
$3.06
$23.51
$137.34
$62.12
$3,838.09
$891.18
$220.74
$233.61
$554.29
$137.59
$9.78
$14.08
$41.17
$24.62
$17.86
$32.05
$33.83
$2,495.98



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

D0116-01
D0116-02
D0132-01
D0132-02
DM-25-GY
DP31CS
DUC-16.10.29.HB
DUC-16.10.30.14
E00123

E00124

E00171

E00172

E00173
ECONSYS
Gaugekit
ICN-3P32-SC-35I
IOP-2P59-5C-35I
KWRM15015
NM-25-GY
OPVL49200
OPVLANTISKID

Shim, for Cylinder Casting, 16 ga.,1-hole, 1.5” x 1.75"

Shim, for Cylinder Casting, 16 ga., 2-hole, 1.75” x 6”

Shim, for Cylinder Casting, 20 ga. ,1-hole, 1.5” x 1.75”
Shim, for Cylinder Casting, 20 ga., 2-hole, 1.75” x 6”

Plug, Dome M25 x 1.5, Grey Plastic

Battery, 12V Maintenance Free Cycle Service/Dual Purpose
Capacitor, Run, 377V Max / 40 mf, For SK mobiles
Capacitor, Run, V max / 50 mf Ducati, For 2082 Single Phase
Cord Grip

Locknut, Cord Grip

Tape Switch, ISB, Isolator/Amplifier, SKYIift

Tape Switch, Din-Rail Base, Isolator/Amplifier, SKYIlift

Tape Switch, Power Supply

Complete Electronic Control System Conventional Control System For A Set Of .

5000 psi Gauges w/10s fittings, set of 4 w/case

Ballast For Lighting On Mobiles Old 'ESI' # ES-2-T8-40-UNV-B
Ballast For Lighting On Platform Lifts Old 'ESI' # ES-2-T8-59-UNV-B
Cable, Ext., for Zigbee Relocation

Nut, Binding M25 x 1.5, Grey Plastic

Factory Install of Digital Weight Gauge for Ebright

Stertil-Guard Anti-Skid, Repair Kit, 9.3L, Gray

OPVLANTISKID-RED Stertil-Guard Anti-Skid, Repair Kit, 9.3L, Red

P00459
P00467
P00468
P0O0590
P00639
P0O1131
P01299
P01332
SKOD-24
SUPCONSYS-P
SUPCONSYS-S
X00308
0112-00
01312-11
01312-12
01312-13
02112-01
03112-01
03112-02
03112-03
03112-04
03112-11
03112-12
03112-13

Adapter

O-Ring

Ring

RF Cover - Plastic

Tape Switch, Resistor,1K

Washer, Wave Disc Spring Washer, ECO Centering Link
D100 Crimper Tool and Stand w/Die sets

Seal Kit, Cylinder, Skylift

Self Evacuating Oil Drain, 24 Gal. Capacity w/2 swivel Casters
Superior Control System Primary - Complete System
Superior Control System Secondary - Complete System
Reservoir Vent, Skylift

AWBP Arrangement Assembly

Shim, Plastic "U" Shaped, Blue, 1/16" (0.063)

Shim, Plastic "U" Shaped, Red, 1/8" (0.125)

Shim, Plastic "U" Shaped, Black, 1/4" (0.250)

Bracket, Fixed Pit Hose Mount

see 89000105

see 89000106

see 89000107

see 89000108

See 01312-11

See 01312-12

See 01312-13

0406-17-312-12-R0O Gear Rack, 71.88", Eco Classic Horiz. Drive

$12.19
$18.52
$8.87
$17.55
$4.49
$315.62
$39.71
$54.89
$54.48
$13.62
$1,330.32
$258.76
$632.36
$1.80
$567.50
$118.34
$135.22
$101.76
$5.25
$1,162.24
$2,193.68
$1,013.40
$29.80
$4.25
$21.28
$119.56
$1.47
$7.08
$3,729.29
$619.71
$1,717.30
$3,838.09
$3,838.09
$46.83
$0.00
$0.48
$0.65
$1.05
$136.09
$0.00
$0.00
$0.00
$0.00
$0.00
$0.00
$0.00
$0.00

ECO Parts



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

0406-19-312-13-R0O Gear Rack, 63.75", Eco Classic Horiz. Drive $0.00
04110-00 REV 00 Anchor Plate, Fixed Base, Custom, Includes Bolts, Washers, Shims $5,200.37
04110-11 Stopper Plate, Fixed Mechanism, ECO $268.68
04110-12 Stopper Plate, Fixed Mechanism, Quick Turn, ECO $268.68
04111-01 Stopper Lug, ECO Fixed Scissor, needs P01237 Set Screw $0.00
04111-01C Stopper Lug, ECO Fixed Scissor, needs P01237 Set Screw $150.38
04112-00 Base Plate, Fixed Mechanism $7,768.06
04112-00N Base Plate, Fixed Mechanism, prepped for Nitrating $6,049.76
04152-01 Nylatron Block Outer Leg $282.55
04152-01-L020 Nylatron Block Outer Leg, .020 Larger $282.55
04152-01-L040 Nylatron Block Outer Leg, .040 Larger $282.55
04152-01-S020 Nylatron Block Outer Leg, .020 smaller $282.55
04152-01-S040 Nylatron Block Outer Leg, .040 smaller $282.55
04152-01-S060 Nylatron Block Outer Leg, .060 smaller $282.55
04152-02 Nylatron Block Inner Leg $416.03
04152-02-L020 Nylatron Block Inner Leg, .020 Larger $416.03
04152-02-L040 Nylatron Block Inner Leg, .040 Larger $416.03
04152-02-S020 Nylatron Block Inner Leg, .020 smaller $416.03
04152-02-S040 Nylatron Block Inner Leg, .040 smaller $416.03
04152-02-S060 Nylatron Block Inner Leg, .060 smaller $416.03
04152-04 Spacer Ring, UHMW $39.62
04172-01 Bearing, Slide, Continuous, Outer Leg, Bottom, 14.5" Long $279.10
04172-02 UHMW Slider Continuous Inner Top, 9.25" Long $185.05
04172-03 Bearing, Slide, Continuous, Inner Leg, 9.25" Long, Chamfered $204.97
04212-00 Tier One, Inner Leg $9,662.28
04213-00 Tier One Weldment, Gen 6 $10,966.28
04214-16 Plate, Mounting Base, Inclinometer $158.61
04214-17 Plate, Mounting Disk, Inclinometer $164.68
04222-00 Tier Two, Inner Leg $8,340.53
04232-00 Tier Three, Inner Leg $9,858.17
04312-01 Leaf, Tier One, Left Outer Leg $2,418.18
04312-02 Leaf, Tier One, Right Outer Leg $2,036.81
04322-01 Leaf, Tier Two Leg $1,942.35
04410-00 Centering Link Assembly - Round Includes Bolts And Bearings $303.35
04412-00 Inactive - Centering Link - Round $0.00
04420-00 Centering Link Assembly - Slotted, Includes Bolts And Bearings $97.08
04422-00 Inactive - Centering Link - Slotted $0.00
04424-00 Container w/Grease, ECO Centering Links $2.60
04425-00LH Inactive - Centering Link, Slotted, LH, Weldment $0.00
04425-00RH Inactive - Centering Link, Slotted, RH, Weldment $0.00
04425-04 Pin, Centering Link $0.00
04426-00LH Centering Link, Slotted Hole, LH, Assembly - Including Hardware $459.36
04426-00RH Centering Link, Slotted Hole, RH, Assembly - Including Hardware $459.36
04427-00LH Inactive - Centering Link, Round Hole, LH, Weldment S0.00
04427-00RH Inactive - Centering Link, Round Hole, RH, Weldment $0.00
04428-00LH Inactive - Centering Link, Round Hole, LH, Assembly - Include Hardware S0.00

04428-00RH Inactive - Centering Link, Round Hole, RH, Assembly - Includes Hardware $0.00



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

04431-00LH
04431-00RH
04437-00 LH
04437-00C
04439-00 RH
04439-00C
04512-00
04512-00R
04512-01
04512-02
04512-04
04512-SB
04517-00
04522-00
04532-01

04532-01 REVO1

04532-02

04532-02 REV1

04533-01
04533-02
04540-01
04540-02
04540-03
04540-04
04540-05
04543-00
04612-01
04622-00
04632-00
04712-01
04712-02
04712-03
04713-01
04752-01
04752-02
04752-06
04752-07
04812-00
06122-00N
10050-00
10312-16
10312-17
10312-17G
10312-18
10312-18G
10313-02
10342-16

Inactive - Centering Link, LH, Weldment, Special Recess Cut
Inactive - Centering Link, RH, Weldment, Special Recess Cut
Inactive - Centering Link Assembly, LH

Centering Link Assembly, LH, Gen 3

Inactive - Centering Link Assembly, RH

Centering Link Assembly, RH, Gen 3

Cylinder, Hydraulic, Eco, Pre Gen 6 Only

Inactive - Hydraulic Cylinder ECO

Slider Block Nylatron

Slider Block Nylatron, Inner Leg

Cap, End, Cylinder Base, ECO

Hydraulic Cylinder Safety Bar

Weldment, Lower Lock Support

Lock, Upper, Eco PRE-Gen 6 Only

Lock, Lower Front Side

Lock, Lower, Front Side, Right, Eco PRE-Gen 6 Only, Slotted Holes

Lock, Lower Rear Side

Lock, Lower, Front Side, Left, Eco PRE-Gen 6 Only, Slotted Holes

Lock, Lower, Front Side, Right, Eco Gen 6 Only, Slotted Holes
Lock, Lower, Front Side, Left, Eco Gen 6 Only, Slotted Holes
Link, Lock Release, Gen 6

Pin, Piston Pivot, Lock Release, Gen 6

no longer used-see remarks

Wheel, Lock Release, Gen 6

Spacer, Lock, ECO .39 ID X .625" OD X .313"

Lock, Upper, Eco Gen 6 only

Bumper, Air Cylinder

Base, Air Box

Cover, Air Box

Pin, Pivot, Slide Block Outer Leg

Cylinder Pin, Upper 2" x 14" Round Heat Treated Zinc

Bolt, Anti-Rotation Pin on Cylinder Pin, 1/2-13 X4"

Pin, Upper, Cylinder Pivot, 1 side, Eco Gen 6

Retaining Cap Pin .25 X 2.75 4.13 MEG-2004-04-752-01-R00
Separator (UHMW) MEG-2004-04-752-02-R00

Protector Mechanism, UHMW .050

Separator (UHMW), 3/16" Thick

Plate, Bolster, Powder Coated

Base Plate, Moveable Mechanism, prepped for Nitrating
10 Ft Pit W/O Mechanism, Including Covers, Gen 4
Bearing, Slide, UHMW, Cut Length

Plate, Center Section, 3/8” X 5” X 172.5”

Plate, Center Section, 3/8” X 5” X 172.5”, Galvanized
Bracket, Angle, Cable Carrier Bottom, ECO Lift

Bracket, Angle, Galvanized, Cable Carrier Bottom, ECO Lift
Transition Closure Plate, ECO

Bearing, Slide, UHMW, Cut Length

$0.00
$0.00
$0.00
$462.83
$0.00
$462.83
$7,748.97
$0.00
$0.00
$0.00
$216.68
$0.00
$524.80
$3,039.63
$0.00
$1,259.35
$0.00
$1,252.85
$1,229.45
$1,229.45
$17.76
$74.09
$0.00
$77.14
$74.96
$2,646.99
$161.64
$1,031.83
$587.21
$379.19
$428.61
$461.96
$306.82
$45.50
$39.43
$31.21
$39.43
$11,117.53
$3,809.27
$0.00
$124.38
$814.73
$814.73
$266.95
$266.95
$0.00
$205.84



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

10343-01
10343-02
10510-00
10700-00
10712-01
10712-02
12010-01
12010-03
1205-AA
12112-01
12205-00
12212-00
12212-04
12212-05
12213-00
12310-00
12312-03
12312-14
12312-15
12342-15
12350-00
12412-00G
12413-00
12439-00
12442-00
12442-00-G
12444-00
12445-00
12449-00
12454-00
12612-02
12612-03
12653-00
13055-00G
13312-17
13510-00
13700-00
13712-01
13712-02
15040-00
15050-00
15212-00
15212-07
15212-08
15213-00
15213-02
15220-00

Bearing, Slide, Cut, ECO

Bearing, Slide, Full, Top

Chain, Cable Carrier, for ECO w/10 ft pit

Gear Rack, Eco Horiz. Drive, Set, 10 ft pit, complete w/hdwr
Gear Rack, Eco Horiz. Drive, 19.90" Long, 10 ft Pit

Gear Rack, Eco Horiz. Drive, 71.73" Long, 10 ft Pit
Block, UHMW Insert in Alum. Extruded Cover, ECO
Starter Element, ECO

Seal, Hydraulic Pump, SPX units

25" X 2" X 2" X 12" Angle, Cable Carrier Bottom
Assembly, End Section, ECO Cassette

Weldment, Pit Section, Pit Mechanism

Bearing End Section LT UHMW Turn Around Block
Bearing End Section LT UHMW Turn Around Block
Weldment, End Section, Pit Mechanism

Arc, RH Weldment, ECO Cassette

Top Bar Anchor (typically welded in location)

Spacer - Superseded by P01110

Bearing, Slide, UHMW, Full Length, Bottom

Bearing, Slide, UHMW, Full Length, Carriage Slide

Arc, LH Weldment, ECO Cassette

End Section Cover, Galvanized

Weldment, Floor Cover, End Section, Diamond Plate
ECO, Pit End Section Cover (27.25" away from movable)
ECO, Pit End Cover, Reinforced, Gen 4

ECO, Pit End Cover, Reinforced, Gen 4, Galvanized
Cover, Pit End Section

Cover, Reinforced End Section

Pit End Cover, Reinforced, Gen 5

Reinforced End Section Covers, TTC

Starter Element, Pit Cover, Extruded, Gen1-4

Starter Element, Pit Cover, Extruded, Gen 5

Cover, End Section, 26.50"

Movable Mechanism, Lift Recess Mounted Hinge, Galvanized
Transition Plate, ECO

Chain, Cable Carrier, for ECO & Diamond w/13 ft pit
Gear Rack, Eco Horiz. Drive, Set, 13 ft pit, 1 side, w/hdwr
Gear Rack, Eco Horiz. Drive, 71.73" Long, 13 ft pit

Gear Rack, Eco Horiz. Drive, 27.75" Long, 13 ft pit
Carriage Assembly

Carriage Assembly

Carriage Assembly, TTC Style ECO, Gen4 & Gen4 Hybrid
Bearing, Slide, Carriage, UHMW

Block, Bumper, Rubber, .5"x1.25"x7"

Carriage Assembly, ECO, Gen5 & Gen6 Movable
Starter Element, Spacers, ECO

Drive assembly, complete, ECO

$104.01
$104.01
$1,205.84
$0.00
$616.68
$1,283.63
$81.04
$1,175.29
$74.54
$172.48
$1,867.80
$4,178.06
$2,567.25
$2,675.60
$5,184.34
$1,024.91
$0.00
$0.00
$109.64
$177.68
$1,021.45
$814.73
$3,353.37
$0.00
$0.00
$5,269.71
$0.00
$0.00
$0.00
$0.00
$1,453.50
$520.04
$0.00
$0.00
$4,182.39
$1,445.26
$2,294.36
$1,303.13
$600.63
$0.00
$0.00
$12,913.83
$172.48
$59.37
$12,450.16
$99.67
$20,978.96



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

15222-00
15222-05
15242-00
15252-00
16032-00
16033-00
16033-00N
16036-00
16050-00
16050-00N
16122-00
16122-00N
16133-00

17-122-00-R01
17-142-00-R00

17310-00
17312-00
17312-05
17312-08
17312-11
17312-16
17342-16
17343-01
17350-00
17352-00
17510-00
17700-00
17712-01
17712-02

19-122-00-R01

Mounting Plate, Drive System, Carriage

Half Shaft, 1-1/4" X 1" Ends

Weldment, Hose attachment

Weldment, Cable Carrier Carriage, Igus bracket, ECO lift

Moveable Mech, Gen 4/6 Hybrid, With Limit Switch

Movable Mechanism, Lift Recess Mounted Hinge, Gen 4/6

Movable Mechanism, Lift Recess Mounted Hinge - Nitrate, TTC Gen 4/6
Movable Mechanism w/o Carriage - ECO, Classic Style Lock, Gen 6 Cylinder & Ti
Movable Mechanism w/o Carriage - ECO

Lift Recess Mounted Hinge Mechanism —Nitrate

Base Plate, Movable Unit, ECO

Base Plate, Movable Unit, ECO, Nitrated

Movable Mechanism, Including Sliding Base Adapters (Without Carriage)
Adapter Cradle, 10" Wide

Adapter, H-Accessory

Right Hand Wall, w/attchments, Gen 4 ECO

17' Center Section Right Side GEN 4

Angle, .25" X 2" X 2 X 139.88" Cable Carrier Front

Angle, .25" X 2" X 2" X 105.88" Cable Carrier Rear

Angle, .25" X 2" X 2" X 123.88" Capture Cover Ele

Bearing, Slide, UHMW, Cut Length, Bottom

Bearing Slide, UHMW, 28", Carriage Slide

Bearing Slide, UHMW, 26.5", 3-hole, Carriage Slide

Left Hand Wall, w/attchments, Gen 4 ECO

17' Center Section Left Side GEN 4

Chain, Hose & Cable Carrier, for ECO w/17 ft pit (151 links+end links )
Gear Rack, Eco Horiz. Drive, Set, 17ft pit, complete w/hdwr

Gear Rack, Eco Horiz. Drive, 51.83“ Long, 17 ft Pit

Gear Rack, Eco Horiz. Drive, 71.73" Long, 17 ft Pit

Adapter Cradle, 10" Wide, Sideways

20004-145-222-05R Half Shaft, 1" x 3/4" Ends

2000575
2001529
2002203

Motor, 575 volt, ECO Hydr Units - USE P/N P0O1000
Plate, Spacer, Manifold to Tank, ECO60 & 90
use P00648 Gasket, Tank Lid to Tank, Eco hydr unit

2004-15-222-05-R0 1" Half Shaft 3/4 Both Ends

2834BA
31000745
31050741

31050741-REV-D

31050775
3678-AA
38007767
39040-00
39055-00G
39313-02
39313-02G
500-0172

See PO1111

Housing for Pendant, ECO, Diamond

Cable, Harness Ass'y, Lowering / Unlock, Ebright Eco & Diamond
Cable, Harness Ass'y, Modified, Lowering / Unlock, Ebright Eco & Diamondw/ 3
Control Box, Empty Shell Only, Ebright, ECO

Suction Tube With Filter, SPX

Control Board Software Update Kit, W/Isolator and 2 Jumpers, Ebright
Short Travel Box w/scissor, 990 mm / 39", ECO

39" Movable Mechanism, Lift Recess Mounted Hinge, Galvanized
Transition Plates (Closure)

39" Transition Plates (Closure) Galvanized

Bolt, HHCS, 1/2" x 9 1/2", Gr8

$0.00
$565.54
$156.01
$585.05
$0.00
$0.00
$0.00
$46,369.98
$46,369.98
$0.00
$10,475.29
$5,919.75
$0.00
$0.00
$0.00
$16,414.79
$21,388.70
$1,796.73
$525.25
$688.62
$76.71
$235.31
$128.72
$16,414.79
$0.00
$1,655.02
$0.00
$1,185.25
$1,140.18
$0.00
$0.00
$1,275.53
$108.35
$0.00
$0.00
$0.00
$3,100.72
$844.20
$512.25
$1,188.29
$0.00
$606.71
$0.00
$0.00
$0.00
$0.00
$27.98



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

500-0173
500-0311
513187
513191
60700305-US
60709509
68076024-US
68076224-US
68077024-CA
68077224-CA
68079003
68900009-US
69601901
69620007
89010101
89930002
A00001-10
A00001-12
A00002-10
A00003-10
A00003-12
A00008-12
A00010-20
A00012-10
A00084
A00153
AO00153A
A01122-00
AP00504
AS100-00

ASSY CHG 5658

B01517-00
B02518-00
C01090-00
C01391-00

Bolt, HHCS, 1/2" x 5", Gr8

Coupling, Pump to Motor, SPX Hydr. Units
Lens, Green, For Eco, Diamond & Becker Pendant
Push Button For Eco, Diamond & Becker Pendant
Sticker, Home Light

Sticker, Caution, TTC only, Frn & Eng

Power Unit ECO Lift, L-Prom Motor

Power Unit, Movable ECO Lift, L-Prom Motor
Hydraulic Unit, ECO, Fixed, 575V

Hydraulic Unit, ECO, Movable, 575V

Motor, 460 ECO, L-Prom

Hydraulic Qil, BIO, 55 Gallon Drum

E-Prom for ECO

USB Isolator, used with software update cable
Adapter Stand

ECO External Hand Pump Kit

Nut, Hex, 5/8"-10

Hex Nut, 3/4"-10

Washer, Split Lock, 5/8" Zinc Plated

Washer, Plain 5/8" Diameter, zinc plated
Washer, Plain, zinc plated, 3/4"

Screw, HHCS, GRS, Plated, 1/2-13 X1 1/2
Bolt, Hex Head, 5/8-11 x 2-1/2", Grd 8, Yellow Zinc
Bolt, Hex, 3/4-10 x 1 1/4"

Tubing, Vinyl Air Line, 5/32", Per Inch

Hose, Hydraulic, 3/8", #6 x Inch

Hose, Hydraulic, 3/8", #6 x Foot

Base, Adapter Ass’y, ECO

Pump, Double Action, For ECO Classic
Adapter Stand

Assembly Charge IGUS Cable

Bridge Bracket, Quick Turn, Special Reinforced Support Assembly

Weldment, Custom 8.75” Quick Turn Support
Cover, 9" Access, Fixed Lift Weldment Rev 00
Weldment, Access Cover Fixed Lift

CABLE CARRIER ASS Cable Carrier Assembly Parts

CB422-00
CB522-00
CB532-00
CB622-00
CB632-00
CBV800-00
CF222-00
CF222-00-R00
CF224-00
CF22Y-00
CF412-01

9 3/4" Bridge Bracket With Diamond Plate
Bridge Bracket Special

Bridge Bracket

Bridge Bracket, ECO

Bridge Bracket, Special, 2"

Remote Hanger Assy

Weldment, Cover, Fixed Scissor, Aluminum
Welded alum cover with dish support
Weldment, Cover, Modified, Aluminum
Cover, Aluminum, Fixed, Yellow

Wheel Block, UHMW, 1.5x11.75x23.75, F & R Pit Wall of Fixed Mech.

$11.02
$0.00
$39.46
$67.45
$0.00
$13.00
$0.00
$0.00
$0.00
$0.00
$2,037.70
$12,134.20
$105.30
$234.02
$0.00
$4,119.12
$3.47
$0.00
$1.29
$3.47
$0.00
$6.08
$12.13
$0.00
$0.22
$2.16
$5.22
$2,990.21
$0.00
$2,071.49
$0.00
$0.00
$1,711.05
$1,360.33
$0.00
$0.00
$0.00
$2,816.87
$0.00
$0.00
$0.00
$1,261.52
$2,049.81
$0.00
$1,105.09
$0.00
$718.96



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

CS810-00
CS900-01
CTA-17
Cv102P
Cv103P
CW322-00
CW322-00-G
CWB790-00
CWB970-00
E00001
E00004-B
EO0009-B
E00013
E00021
E00022
E00023
E00024
E00025
E00027
E00028
E00029
E00030
E00031
E00032
E00060
E00076
E00079
E00080
E00081
E00082
E00083
E00084
E00085
E00086
E00087
EO0088
E00093
E00095
E00096
E00098
E00100
E00108
E00109
E00110
E00112
E00113
E00114

Hanger, Remote/Cable, ECO

Plate, For Pendant Receptacle On Console

Cable Track Assembly For 17' Travel Box

Check Valve

Check Valve 2507AA

Wall Mount Bracket

Bracket, Wall Mounted, Galvanized

Control Box Assembly, AWBP

CWB 90 Electrical Control Panel Assembly

Switch, Disconnect, ECO Classic

40A 600V Overload Relay

Circut Breaker 32A 3-Pole

PLC, Classic Eco, Programmed

Handle, Disconnect, Eco Classic

Switch, 3-position, ECO

Contact Block, N/O

Contactor, NC

Switch, Selector, 3 Position, 22mm

Pushbutton, 22mm, ILL

Button, Red, Lowering

Lamp, Pilot, Red

Button, E-Stop, Red

Button, E-Stop Reset, With Green Light

Bracket, Backing

Terminal, Grounding, Din Rail Mount, Eco

Plate, ID, Power on Switch

Plate, ID, E-Stop Button

Connector, RT Angle, #18, Clear Finish

Connector Clamp, With Rubber Bushing, #18, Olive Drab
Crimp Pin, Silver Plated, SZ 16

Wall Receptacle Amphenol Receptacle, Console
Crimp Socket Contacts 10 Each Required Amphenol Receptacle, Console
Cap Screws, 4-40 4 Required Amphenol Receptacle, Console
Locknut 4-40 4 Each Required Amphenol Receptacle, Console
Connector, RT Angle, on Classic Remote

Connector Clamp, Fits EO0083

Contactor, Main, ECO

Relay, Motor Starter, ECO - Superseded to 69151020
IS Barrier

Alarm, Acoustical, ECO lift

Home Light - Blue

Plug, Mate-N-Lock, 4P, Double Row

Pin, Contact, Mate-N-Lock 22-18 AWG

Ring Tongue Terminal 12-10 AWG, #8

Plug, 4-wire, for ECO valve cable harness

Pin, for Plug E00112, Std Crimp

Pin, for Plug E00112, Wide Crimp

$0.00
$195.02
$0.00
$0.00
$108.35
$0.00
$294.69
$0.00
$0.00
$298.60
$0.00
$0.00
$0.00
$262.18
$109.64
$56.34
$0.00
$0.00
$75.84
$36.42
$220.58
$189.81
$68.91
$243.99
$51.13
$17.34
$17.34
$214.94
$72.38
$6.50
$308.98
$7.79
$1.56
$1.35
$368.37
$95.33
$539.12
$227.94
$1,936.87
$302.48
$0.00
$0.00
$0.00
$0.00
$3.03
$0.42
$1.29



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

E00115
E00116
E00117
E00118
E00130
E00131
E00132
E00132 IGUS
E00134
E00140
E00141
E00148
E00149
E00150
E00151
E00152
E00153
E00154
E00162
E00167
E00951
E22ML2
E48R00
EC0603314
EC0603316

ECO GAUGE KIT

Cap, Connector, Mate-N-Lock 4P, Female, Double Row
Socket, Contact, Mate-N-Lock 22-18 AWG

Lumborg M8 Field Connector (Female) 3W ECO Lift
Lumborg M8 Field Connector (Male) 3W ECO Lift

Relay, Power

Base, for Relay, Din Rail Mount

Flex Cable 12x18 AWG, Pendant Cable

Igus CF5 Cable Sold By The Foot

Cable, Inclinometer, 3XAWG22, x inch

Connector, Din Rail Mount, Single

Lamp, Green LED, 24 vdc

Button, E-Stop, Classic ECO Panel

Button, Momentary, Red, Classic ECO Panel & Pendant
Button, Momentary, Black, Classic ECO panel & Pendant
Button, Momentary, Green, Classic ECO Panel & Pendant
Switch, Selector, 3-Position, Maintained, Classic ECO panel & Pendant
Contactor, Normally Open, Classic ECO Panel & Pendant
Switch, Selector, 3-Position, Spring Returned, Classic ECO Panel & Pendant
PLC, for Classic ECO, CPU 222 8DI 6DO

Contactor, Normally Closed, Classic ECO Panel & Pendant
Button, E-Stop, Eco Classic pendant

Stop Button, Red Button Only, For ECO Lift

Legend Plate, Front Panel, Includes EO0071 Thru EO0077
DO NOT USE

Sticker, Vinyl, Eco 60 Logo on Scissor

ECO Gauge Kit

ECO HOME LIGHT K Home Light Retro Fit Kit

ECO Hose

ECO Additional Hose and Cable by Foot

ECO0603313-L099/ Spider Coupling

ECO0604
ECO0604-00
ECO0806-00
EC0O1004-00
ECO1006-00
EC0O1008-00
ECO1304-00
ECO1306-00
ECO1308-00
ECO1704-00
ECO1706-00
ECO1708-00
ECO603201A
ECO603304
ECO603305
ECO603313
ECO603314
ECO603316

use ECO0604-00

Hose Ass'y, 3/8" x 50", w/fittings, Bulkhead to Cylinder

Hose Ass'y, 1/2" x 75", w/fittings, Bulkhead to Cylinder

Hose Ass'y, 1/4" x 159.5", w/Fittings, Thru Chain to Drive Motor, 10 Ft Pit
Hose Ass'y, 3/8" x 210.5", w/Fittings, Thru Chain to Cylinder, 10 Ft Pit
Hose Ass'y, 1/2" x 212.5", w/Fittings, Thru Chain to Cylinder, 10 Ft Pit
Hose Ass'y, 1/4" x 179.0", w/Fittings, Thru Chain to Drive Motor, 13 Ft Pit
Hose Ass'y, 3/8" x 228.5", w/Fittings, Thru Chain to Cylinder, 13 Ft Pit
Hose Ass'y, 1/2" x 230.5", w/Fittings, Thru Chain to Cylinder, 13 Ft Pit
Hose Ass'y, 1/4" x 201.5", w/Fittings, Thru Chain to Drive Motor, 17 Ft Pit
Hose Ass'y, 3/8" x 252.5", w/Fittings, Thru Chain to Cylinder, 17 Ft Pit
Hose Ass'y, 1/2" x 254.5", w/Fittings, Thru Chain to Cylinder, 17 Ft Pit
Power Unit Complete, ECO60 Classic

Coupling Hub, With Keyway

Bolt, Flange, HHFB, 1/2-13 X 1-1/2, Eco

Coupling, Spider, L099/100 Plastic

Sticker, Vinyl, ECO 60, Leg Sticker

Sticker, Vinyl, ECO 60, Head Plate Sticker

$10.84
$7.79
$194.15
$167.27
$82.34
$69.34
$2.60
$0.00
$0.42
$19.93
$161.16
$282.11
$65.01
$65.01
$65.01
$112.67
$84.93
$125.25
$6,452.79
$84.93
$0.00
$0.00
$55.03
$0.00
$95.33
$0.00
$0.00
$0.00
$0.00
$0.00
$234.02
$264.78
$0.00
$0.00
$342.35
$312.02
$419.07
$439.44
$330.22
$444.62
$465.86
$0.00
$110.51
$11.71
$159.05
$18.63
$95.33



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

EC0603320
ECO603329
ECO603332
ECO603332A
ECO603333
ECO603334
ECO60-3338A
ECO60-3503A
ECO60-3603A
ECO60BV5300
ECO60RC-STD
ECO90-3103A
EC0O903314
EC0O903316
ECO903338A
ECO-EHP
ECOFIXED
ECOFIXED-N
ECOHOSEKIT
ECO-PART-KIT
EFP-TTC-F
EFP-TTC-M
EMATO01-00
EMATO02-00
FC-2.5
Festoon 40-00
Festoon 60-00
Festoon-Marta

FTA2A10QV25S8A

G-M11267

Safety Card

Shipping Lumber 2" X 4" X96" Long

Hose, Hydraulic, 1/2", #8, x Inch

Hose, Hydraulic, 1/2", #8, x Foot

Tubing, Polyethylene, 5/32" OD

Tubing, Polyethylene, Black, 1/4" x Inch

Pendant Assembly, ECO 60, Classic

Quick Release Upgrade ECO Classic Pendant

Pendant Assembly, ECO 60 Classic, W/ Amphenol Connector
IGUS Remote Cable Replacement 53'

Cable, Replacement For ECO Remote, 35'

Pendant, Optional, ECO 90

Sticker, Viny,| ECO 90, Leg Sticker

Sticker, Vinyl, ECO 90, Head Plate Sticker

Pendant Assembly, ECO 90, Classic

ECO External Hand Pump Kit

Fixed Mechanism, Classic ECO

Fixed Mechanism, GEN 4, With W44 Steel - ECO

Hose Kit, Hydraulic (6 Pieces), ECO

ECO Part Kit

Hydraulic Unit, TTC ECO only, Fixed, SPX, 575V, 3 Phase
Hydraulic Unit, TTC ECO only, Moveabe, SPX, 575V, 3 Phase
Tool, Mounting Pin, Long, for ECO Scissor Ass'y

Tool, Mounting Pin, Short, for ECO Scissor Ass'y

Valve, flow control. 2.5 gpm, ECO SPX power unit
Festoon Assembly, (used with Part# T12312-00)
Festoon Assembly, (used with Part# T12312-00)
Festoon System For Remote Pendant

Filter Assembly, Classic, ECO 60 & 90

Gasket, Cork, Valve Body on ECO Classic

HA634-V54-BA05-3i Plug, w/Wire, for ECO Classic Valve Solenoid Coils

KP31DK

Pump, hydraulic, for ECO power unit

MEG-0413-02-322-(Bridge, Full, ECO Classic w/ 42" Wide Pit
MEGO05082712200F Lifting Adapter Front Orion 5.5 x 3.7

MFG-0406-12
Oil-Tellus
OPVL89001
P00001
P00002
P0O0004
P00010
P00012
P00013
P00015
P00018
P00019
P000217

Half Shaft, Drive, Carriage
Hydraulic Oil, Tellus, 5 Gallon Pail
Extra Remote Cable, Sold in 5' Increments

Bearing, Journel, Composite Polygon 2" MEG-2004-04-732-02-R00

Nut, Hex, Gr 5, 1/2"

Washer, Flat, Plated, 1/2", USS

Bolt, Hex Head Cap, grd 5, %" x 2”
Washer, Lock, 1/2”

Nut, J-Nut

Bolt, SHCS, GR 8, Black, 1/2"-13 x 2 1/2"
Washer, Lock, Plated, 1/4"

Washer, Flat, Plated, SAE 1/4"

Bearing Journel, Composite, 1-3/4" length

$37.26
$1.01
$2.16
$5.49
$0.42
$0.42
$5,985.42
$1,087.75
$0.00
$0.00
$0.00
$0.00
$18.63
$0.00
$7,595.86
$4,119.12
$44,203.16
$0.00
$0.00
$0.00
$11,594.66
$9,952.22
$812.68
$470.51
$144.48
$0.00
$0.00
$0.00
$0.00
$125.67
$108.35
$563.37
$1,820.13
$0.00
$0.00
$656.55
$0.00
$107.48
$1.74
$1.74
$7.37
$1.29
$3.90
$0.00
$0.42
$0.42
$88.41



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

P00025 Bolt, Retaining (Black) 3/8 X 2-1/2 PUR-00025-00 $6.50
P000263 Stainless Steel 1/2 - 13 x 2 FHCS $0.00
P00028 HHCS GR5 Plated 1/2"-13 x 1 1/4" ECO 60 $5.21
P000283 Riv-Nut $0.00
P0O0030 Velocity Fuse, ECO $597.18
P00032 Screw, Button Head, S/S, 1/4"-20 X 1/2" $1.29
P00039 Bolt, 1/2"- 13 x 2" $0.00
P0O0067 Screw, HHCS, Plated, 1/2-13 X 2.5 $3.47
P00068 replaced by P00256 $0.00
P00069 Washer, Flat, Plated, SAE 3/8" S0.42
P00105 Nut, Hex, Black, 10-24 $0.00
P00136 Washer, Flat, Plated, USS 0 3/4, Zinc Steel S0.42
P00139 Screw, HHCS, GRS5, Plated, 1/2-13 X 3 $2.39
P00141 Screw, HHCS, GRS, Plated, 1/2-13 X1 1/2 $0.00
P00150 Washer, Flat, Plated, SAE 3/4" $2.16
P00150SS Washer, Flat, S/S, SAE 3/4" $6.08
P00165 Muffler, 1/8" ECO $37.26
P00178 Nut, Hex, Gr 5, plated, %”-10 $5.63
P00183 Fitting, Elbow, Bulkhead, 1/2" JIC, #8 $25.13
P00187 Screw, HHCS, GRS, Plated, 3/4-10 X 3 $16.90
P00189 Washer, Lock, Plated, 3/4” $3.03
P00214 Washer, Flat, Plated, SAE 5/8" $1.29
P00214SS Washer, Flat, S/S, SAE 5/8" $2.60
P00215 Washer, Flat, Plated, SAE 1/2 DIA S0.87
P00216 Roll Pin 1/4 X 1 PUR-00216-00 $0.00
P00217 Bearing, Journel, Composite Polygon, 2" dia, 1-3/4" long, MEG-2004-04-732-01 $88.41
P00219 Bolt, Black Finish, 3/8-16 X 1 $3.03
P00223 Cylinder, Pneumatic, lock release, ECO thru Gen 5 $265.23
P00224 Switch, Limit, Air, ECO $815.15
P00229 Bolt, SHCS, GR 8, Black, 10-24 x 1 1/2" $1.74
P00230 Muffler, Air, Eco Classic $151.25
P00233 Drive Motor ECO Low Speed High Torque $8,102.17
P00236 Extrusion, Pit Cover, 45.25", ECO Thru G-4 $746.69
P00237 Gear, Spur, Hardened, For 3/4" Shaft $621.02
P00239 Coupling Hub half shaft side, 3/4", ECO Classic $304.89
P00242 Fitting, Straight Union, Bulkhead, 3/8" JIC, #6 $24.38
P00243 Fitting, Straight Union, Bulkhead, 1/4" JIC, #4 $31.45
P00249 Fitting, Elbow, Bulkhead, 3/8" JIC, #6 $0.00
P00251 Fitting, Elbow, 10m x 6m, ECO $30.76
P00256 Screw, Button Head, S/S/, 1/4-20 X 3/4 $1.74
P00258 Zinc Plated Alloy STL Button SHCS 1/2-13X1-1/4 (ECO) $11.71
P00261 Fitting, Push To Connect, 1/4 " $32.50
P00262 Fitting, Push To Connect, 5/32" $57.21
P00263 Screw, Flat Head, Hex socket, 1/2-13 x 2, S/S $9.53
P00265 obsolete Saddle Stop Assembly With Spring $0.00
P00265-01 Pin, Quick Release on Adapter Base, less Knob $130.43

P00268 HHCS, GR5 $0.00



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

P00269
P00270
P00271
P00273
P00278
P00280
P00281
P00282
P00283
P00285
P00291
P00318
P00319
P00320
P00321
P00323
P00325
P00329
P00330
P00331
P00397
P00402
P00403
P00404
P00405
P00407
P00408
P00409
P00410
P00412
P00413
P00414
P00415
P00416
P00426
P00427
P00428
P00429
P00430
P00431
PO0431A
P00434
P00436
P00437
P00441
P00442
P00444

Nut, Hex

Bolt, Shoulder, PUR-00212-00

Bearing, Journel, Bronze, PUR-00192-00

Screw, Zinc Plated .50"X13X1.25"

Fitting, Elbow, Swivel Nut, 3/2" JIC, #6

Screw, Allen Soc. Cap, Alloy, Zinc Plated Finish, 1/4-20 X 3/4
Rivet, Blind, 3/16" x .626 S/S

Riv-nut, 3/8" x .150

Nut, Riv, %"

Screw, HHCS, GRS, Plated, 1/2-13 X 1/2

Chain, Cable and Hose Carrier, Single Link, ECO & Diamond Lift

Gear, Spur, 14 1/2, 6P, 12 Teeth 2" Pitch ECO Lift 1" Shaft
Mounted Bearing, 1"

Shaft Coupling, With Splines

Machine Key 1/4" x 1/4" x 12" Length

Bearing, Mounted, 1 1/4"

Bolt, Plated, 3/8 X 3, Gear Rack

Knob, Quick Release Pin on Adapter Base

Chain, End Links, Pair, Cable & Hose Carrier, Eco & Diamond
Fitting, Elbow, Union, 1/2" FIP

Valve, Air, 24V, for locks, ECO & Diamond

Clamp, Hose, ECO

Connector, Straight Threaded, ECO

Fitting, Elbow, Swivel Nut, 1/2" JIC, #8

Fitting, Straight Union, Bulkhead, 1/2" JIC, #8

Fitting, Elbow, 5/32" od x 5/32" od, Push to Connect
Hose, 1/4" Coil, ECO Lift

Connector For Coil Hose 1/4" X 1/4" npt ECO Lift
Fitting, Pneumatic, Eco

Fitting, Tee, %4” od x %4” od x %" od, Push to Connect
Fitting, Reducer, %” od x 5/32” od, Push to Connect
Spiral Wrap

superseded to # P00436 Fitting, Union Ell, % Tube x 1/8 NPT
Fitting, Tube Reducer, 3/8" x 1/4”

Fitting, Crimp on, 1/2" JIC, Female Swivel, #8

Fitting, Crimp on, 3/8" JIC, Female Swivel, #6

Fitting, Crimp on, 1/4" JIC, Female Swivel, #4

Fitting, Crimp on, 3/8" Male Thread w/O-Ring, #6

not used

Hose, Hydraulic, 1/4", #4, x Inch

Hose, Hydraulic, 1/4", #4, x Foot

Fitting, Male Adapter, 1/4" Push to Connect x 1/8" NPT
Fitting, Air, Swivel, 1/4" x 1/8"

Fitting, Y, %4” od x %4” od x %4” od, Push to Connect
Fitting, Bulkhead Nut, #6

Fitting, Bulkhead Nut, #8

Valve, Lowering, Double Poppet, Ver. 3.2, Classic ECO

$0.42
$0.00
$7.79
$11.26
$15.16
$2.60
$3.03
$6.50
$10.40
$12.13
$13.43
$299.02
$0.00
$694.67
$8.24
$150.28
$12.13
$39.00
$67.59
$0.00
$305.95
$0.00
$0.00
$0.00
$29.48
$23.84
$93.17
§72.38
$76.71
§71.51
$50.27
$0.00
$0.00
$0.00
$37.26
$34.67
$28.17
$38.58
$0.00
$1.74
$3.99
$39.00
$38.58
$0.00
$8.66
$8.66
$1,287.51



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

P00445
P00446
P00463
P00470
P00471
P00476
P00477
P00478
P00481
P00482
P00483
P00484
P00497
P00498
P0O0500
P00502
P0O0509
P00529
P0O0537
P00540
P00541
P00556
P0O0557
P00581
P00600
P00601
P00602
P00603
P00604
P00605
P00607
P00608
P00609
P00648
P00671
P00672
P00672-ECO
P00682
P00703
P00774
P0O0785
P00797
P00798
P00799
P0O0803
P00865
P00866

Screw, 4-40x1%”, Zinc Plated

Nut, Hex, 4-40, Zinc Plated

Test Coupling FF14784

Cable, PCB to Unlock solenoid, ECO & Diamond
Cable, w/ plug for P0O0397 Valve, for locks, ECO & Diamond
Cap, #4

Cap, #6

Cap, #8

Hex Nipple 3/8 X 1/4 C3069x6x4

Test Hose Assy 60" FF14798

Filter, Qil, ECO Classic

Breather, ECO Classic

Connector, Cord .375-.5 1"

Valve, Main, Classic ECO

Switch, Pressure Sensor, Lock Open

Coil, Solenoid, Main lowering Valve, Classic Eco
Bearing, flange mount, 1” bore

Glass, Qil Level Gauge, ECO Oil Tank

Valve, Lowering, Single Poppet, Ver. 3.1, Classic ECO
Fitting, Elbow, Swivel Nut, #4

Valve, Pressure Relief, drive Motor, Classic ECO
Hydraulic Unit, ECO, Fixed, SPX, 230/460V 3 Phase
Hydraulic Unit, ECO, Movable, SPX, 230/460V 3 Phase
Encoder, Linear, ( potentiometer ) for ECO w/ AWBP
Valve, Retracting Release, ECO90 Classic

Cartridge, Flow Control, Adjustable

Adapter, 1/2 X #8

Adapter, 3/8 X #6

Test Port Adapter

Adapter, 1/4 X #4

Hydraulic Unit, ECO, Fixed, SPX, 575V, 3 Phase
Hydraulic Unit, ECO, Movable, SPX, 575V, 3 Phase
AWBP PLC With Screen

Gasket, Tank Lid to Tank, Eco SPX hydr unit

Fitting, Crimp on, Elbow, 1/2" JIC, Female Swivel,
Replaced by P00672-ECO or PO0672-DIA

Eprom, ECO, use w/ pcb 69900240

Extrusions, Pit Cover, 43.5", ECO G-5/G-6, AKA 12010-02
15 K Resistor

Switch, Selector, Special for TTC ECO 90

PCB, Power Board, Special for TTC ECO 90

Clevis, Piston, Lock Release, Gen 6

Bracket, Pivot, Lock Release, Gen 6, set of 2
Cylinder, Pneumatic, lock release, ECO Gen 6

Clip, Retainer, Lock Release, Gen 6

Switch, Selector, for Pendant

Switch, Selector, 3-Position, Spring Returned,TTC ECO Pendant

$0.00
$0.00
$612.48
$169.01
$52.00
$0.00
$0.00
$0.00
$0.00
$658.71
$829.89
$0.00
$82.29
$727.19
$571.16
$269.12
$112.67
$177.68
$761.43
$0.00
$368.37
$5,555.72
$6,893.09
$3,199.53
$0.00
$744.51
$0.00
$0.00
$0.00
$0.00
$6,976.29
$8,074.01
$5,025.97
$80.02
$121.35
$0.00
$64.09
$569.45
$0.00
$303.10
$2,539.09
$69.77
$63.71
$231.42
$2.60
$218.42
$119.28



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

P0O0879
P0O0911
P00912
P01000
P01001
P01002
P01003
P01005
P01005C
P01043
P01044
P01061
P01062
P01063
P01064
P01097
P01098
P0O1101
P0O1110
PO1111
P0O1112
P01129
P01129SS
P01131SS
P01132
P01141
P01141C
P01142
P01145
P01237
P01253
P01254
P01255
P01264
P01265
P01277A
P01300
P01301
P01309
P01337
P04712-03
P-10-1-100-RV3
PS3.1
PUR-00237-00
PUR-00238-00
PUR-00239-00
Q21610-00

Switch, Rotary, 3 Position, Rotary, TTC Console

Fuse Holder

Fuse, 1 amp

Motor, SPX, 575 volt, ECO / Diamond

Valve, Drive Reverse, ECO Lift, SPX VF6004

Valve, Drive Select, ECO Lifts, SPX VF9286H

Replaced by X00823 --- Valve, Lowering, ECO

Motor, SPX, 240-460 V, 3-ph, ECO / Diamond

Motor, 240-460 V, 3-ph, ECO Classic Only

Label, Caution for Beacon Light

Cylinder, Hydraulic, Eco, Gen 6 Only

Kit, Cartridge Valve, for P0O0557, Movable Power Unit

Kit, Cartridge Valve, for P0O0556, Fixed Power Unit

Kit, Hyd Pump, for P0O0557, Movable Power Unit

Kit, Hyd Pump, for PO0556, Fixed Power Unit

Bolt, Shoulder, 5/16", Allen Socket

Washer, Flat, UHMW .385 ID .625 OD .062 Thick

Test Port Adapter, ECO Classic

Spacer, Gear Rack, Zinc Plated

Gasket, Manifold to Tank, cork,

Pump, for ECO SPX hydraulic unit

Ring, Retaining, for 5/8" Shaft Dia. (ECO)

RETAINING RING, Stainless Steel, for 5/8" SHAFT DIAMETER (ECO)
Washer, Wave Disc Spring Washer, Stainless Steel, ECO Centering Link
Washer, Flat, millspec plastic, 3/4”

Grease, Molykote P40, Centering Links

Grease, Centering Links

Grease Container, EMPTY, for Centering Links

Warning Label, Operator Instructions

Set Screw, Stainless Steel used with Stopper Lug 04111-01C
Bolt, Custom, 1/2-13, w/Epoxy Thread Treatment, Centering Link

Bolt, Custom, 5/8-11, Oversized Repair Bolt, w/Epoxy Thread Treatment, Cente

Plastic Cap, Gen 3 Centering Links

Pin, Clevis, Zinc Plated 3/8" X 1-1/8"

Pin, Cotter, Zinc Finished, Extended Prong, 7/64" x
Grease Gun, for P40 Molykote Grease
T4120-14/Red 14MM T420 Die Set Red
T420-19/Green 19MM T420 Die Set Green
Seal, Shaft, Hydraulic Pump, SPX units

Grease Fittings, ECO

do not use: see 04712-03

Suction Strainer, For Eco Classic

Pump, for ECO SPX hydraulic unit (See P01112)
Spur Gear, 10 Pitch X 16 Tooth

Mounted Bearing, 3/4"

Shaft Coupling, 3/4 - Key X 7/8 - 13 Spline
Quick Turn

$247.02
$268.68
$190.68
$2,852.83
$752.75
$1,505.07
$0.00
$2,413.84
$3,163.56
$10.84
$8,593.61
$3,041.79
$1,000.64
$762.30
$591.97
$8.39
$1.29
$468.04
$13.87
$170.75
$519.62
$1.66
$6.50
$2.60
$10.40
$0.00
$181.59
$0.00
$8.66
$28.17
$33.80
$37.26
$7.37
$3.90
$0.42
$0.00
$74.54
$74.54
$74.54
$74.54
$0.00
$0.00
$537.37
$0.00
$0.00
$0.00
$0.00



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

Q21610-01 LH
Q21610-02 RH
Q21611-00
Q21620-00
RB487-00
RBV090-00
REHAB ECO
RS-04152-01
RS-04152-02
RW372-00G
S8LDD024
T12312-00
V389670E20
VEI-NC-EM-RV
VF-4010
VF-6004
VF-9286H
VH100913-0
VH100913-10
WD-35.5 X 18.5
X00046-A
X00283
X00469
X00823
X00946
X00947
X00948
X00949
X00950
X00951
X00952
X00953
X00955
X00956
X01033
X603300
X99994
X99995
X99996
X99997
X99998
X99999

XA-146920105011

31050763
31050780
31050785
60203015

End Section, Wall Assembly, Gen 4 ECO

End Section, Wall Assembly, Gen 4 ECO

Weldment, End Section Assembly

Quick Turn, End Section, Special

Weldment, End Cover, Diamond

Optional Remote ECO90

Refurbish ECO, Both Mechanisms

Nylatron Block, Outer Leg, Greaseable

Nylatron Block, Inner Leg, Greaseable

Weldment, Fixed Cover, RW, Galvanized

Coil, DIN, 24VDC

Festoon Part Assembly (Hanger for Festoon)
Lowering Valve

Lowering Valve BV Controls

VALVE MAN., 24V, 2 WAY NC, ECO

VALVE BODY, 24V, 2P4W, ECO

VALVE, 24V, 3W2P, ECO

Fabric Cover, Movable - 2 Required Per Movable Mechanism
Fabric Cover, Fixed - 2 Required Per Fixed Mechanism
Wheel Dish 35.5 X 18.5

Locknut

Nut, Hex, 10-24

Cord Grip

Valve, Lowering for BV ECO, Red Alum Knob, VF4010
Push Button, Non Metalic ECO Lift

Operator Grn PB ECO Lift

Push Button, Non Metal ECO Lift

Selector Switch ECO Lift

Selector Switch ECO Lift

Emergency Stop 22.5mm ECO Lift

Contact Block ECO Lift

Diode ECO Lift

Cord, SO, 16-10 x Inch

Connector, Cord, 3/4 x .5 Kit

Relay, Eco Lifts

Gear Rack, no holes, no paint

Cable Carrier Assembly, 17' Box, ECO

Cable Carrier Assembly, 13' Box, ECO

Emergency Stop-3SB3500-1TA20 ECO Lift
Miscellaneous Hardware ECO Lift

Contactor- 3SB3400-OC ECO Lift

Contactor- 3SB3400-0OB ECO Lift

Retractable Reel, With 1/8" X 50' Cable

Cable, Harness Ass'y, from Pendant Jack on Front Panel to PCB
Panel, Front, Ebright, Diamond & ECO & Sky, w/ Button Panel &
Cover,Top, Control Box, Ebright Diamond & ECO
Clevis, for Gas Spring on Diamond Lift

$0.00
$0.00
$0.00
$6,067.10
$4,877.64
$0.00
$21,668.21
$286.89
$398.69
$4,877.64
$0.00
$3,061.72
$0.00
$533.04
$715.06
$671.72
$1,256.76
$10,771.27
$0.00
$0.00
$0.00
$1.29
$0.00
$883.63
$173.35
$173.35
$173.35
$421.66
$255.68
$826.86
$264.78
$0.00
$1.09
$1,057.41
$177.68
$858.07
$0.00
$0.00
$0.00
$0.00
$0.00
$0.00

$0.00 DIAMOND

$210.79
$2,334.86
$742.74
$16.21



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

60203016 Pin, for Gas Spring on Diamond Lift $6.09
60700308 Sticker, Fault Codes, Diamond Lift $0.00
69900340 PCB, Ebright Controls, ECO, Diamond & Sky $2,031.32
89900050 Beacon Light. Diamond, Ebright $3,947.45
01121-01 Plate, To Mount AWBP Potentiometer, Diamond Cassette or Frame $330.38
01121-03 Plate, To Attach AWBP Potmeter Cable, Diamond Cassette $205.52
12123-00 Weldment, Floor Cover End Section, Diamond $0.00
12413-00G Weldment, Floor Cover End Section, Galvanized $0.00
31050771-US Cable, Harness Ass'y, Motor Relay Feedback, Diamond & Eco $85.94
442-00DP Sump Pump Option, Diamond Lift $0.00
500-0053 Cable, Interconnect Sys. for Fluid Det. Switch $1.29
A00006-08 HHCS, 3/8 x 1, GR 5, Zinc Plated $2.04
A00082-16 Fitting, Union, Push to Connect, 5/32" Air Line $10.14
A3012F-00 Fork, Manual, used to Position Flip Up Adapters $0.00
AWBP Retrofit Kit AWBP Retrofit Kit for Diamond Lifts $0.00
BEACON-00 Beacon Light. Diamond $0.00
BEACON-EB Beacon Light. Diamond, Ebright $0.00
BTF-001 Bleeder Tool and Funnel $0.00
C01361-00 Weldment 35.25 Inch, Access Cover Fixed Lift, Diamond $0.00
CBV610-11 Panel, left/right, Diamond 64/96 Console $336.44
CBV610-12 Panel, front/rear, Diamond 64 Console $540.15
CM222-00 Cover, Movable, 21.25" x 27.25", Diamond lift $1,017.44
D130-00 Tool, Diamond Cylinder Lifter S42.12
D190-00 Fluid Notification system, Diamond $2,642.93
D192-00 Fluid Notification System, With Wall Plate, Diamond $2,642.93
D196-00 Fluid Notification Plate, DIA 64/96 $804.24
D214-00-R00 Breather, Ass'y, Water Tight, w/ Plate & O-rings, Diamond Bolster $427.66
D214-04 Plate, Water Tight Breather $162.14
D214-05 Breather, Water Tight, Diamond Bolster $231.06
D250-00 Bolster, Special, 36" Long, DIA $0.00
D260-00 Head Plate, Transit Style $0.00
D280-00 ROO Bolster, Special, 44" Long, DIA $0.00
D285-00 Solid Steel Bolster Assembly Rev 01 $227.00
D290-00 ROO Solid Steel Bolster, Diamond 64 $1,582.52
D352-17 Energy Chain, Hoses & fittings for Diamond 17 ft. Pit, inc. Console to Pit $0.00
D353-01 Plate, Bottom Tie, DIA $329.16
D353-02 Rod, Tension DIA $442.66
D353-03 Bushing, Lock DIA, Plastic $279.70
D355E-01 Shroud,Debris, for Diamond Movable Piston, Right Side $227.00
D355E-02 Clip, Push on, for shroud $32.43
D357E-01 Filler Cover LH Mov Cass .25" x 15.5" x 18.441" $227.00
D360-00 Obsolete, see D360-00CK $0.00
D360-00CK Bar, Lock Assembly, DIA, Rev 2021 $9,071.91
D360-01 Lock Bar, Top Section, Diamond Lift $2,817.27
D360-01CK Lock Bar, Top Section, Diamond Lift, Rev 2021 $5,258.15
D360-04 Bar, Lock Connection $22.11

D360-05 Pin, Lock Bar Pivot $28.37



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

D364-00
D364-01
D364-02
D370-00
D370-00FT
D370-01
D370-02
D370-03
D370-05
D374-00
D376-00
D376-00-R
D435-00
D435-01
D437-00
D437-01
D437-02
D438-00
D438-01
D438-02
D439-00
D442-00
D446-00
D447-06
D4535-01
D458-00
D458-08
D458-09
D484-00LH
D484-00RH
D486-00
D487-00 Rev 00
D517-00
D522-00
D522-03
D570-00
D570-00-01
D570-05
D572-00
D612-21
D615-120-17
D616-00
D616-02
D616-03
D622P-01
D625CE-16
D625CE-16A

Casting, Cylinder Head DIA

Block, Tilt Prevention

Dip Stick, Casting, Diamond

Lock, Pivot Assembly DIA

Lock, Pivot Assembly DIA, FIELD TEST

Lever, Lock Pivot

Pin, Lock Pivot

Latch, Lock Assembly

Cover, Lock Assembly, DIA

Diamond Piston Subassembly

Cylinder, Ass'y, Hydraulic, Diamond

Cylinder, Ass'y, Hydraulic, Diamond, Factory Reconditioned
Balance Assy, Rear Cover, Diamond Lift

Bushing, Rear Balance, Diamond Lift

Linkage, Rear, Upper

DO NOT USE, Use # D437-00

Weldment, Linkage, Rear, Upper

Linkage, Rear, Lower

Linkage, Rear Lower Cover

Linkage, Rear Lower Bar

Weldment, Rear Balance, Diamond

Do Not Use

Frame, Wheel dish, Diamond Lift, inc hdwe and diag. braces
Wheel Dish Brace .25" x 2" x 16.88"

Bushing, Rear Balance

Guide Rail, Rear Cover, Diamond Lift

Guide Rail, Rear Cover

Bracket, Rear cover mount

Plate, Cover, Rear, Left Diamond lift.

Plate, Cover, Rear, Right Diamond lift.

Weldment, Rear Bridge, Diamond

Weldment, Rear Bolted Cover, Diamond

Weldment, Extrusion Clamp

Carriage Weldment RH & LH

Bearing, Slide, DIA

Drive Motor Ass’y, Horizontal Drive Unit, Diamond Lift
Drive Ass’y, Horizontal Drive Unit, Less Motor, Diamond Lift
Shaft, Drive

Weldment, Drive Motor, Diamond Frame

Cover, Front, on Movable Ass'y

Transition Plate, Closure, Diamond w/10 ft Travel
Cover, Pit, Extruded, Assembly

Cover, Extruded, Starter Element, Diamond

Guide Block and Support for cover extrusions, UHMW, Dia
Pipe, Plastic, 1/2"

Edmonton Cover Mov Pocket .38" x 12.625" x 29.802"
Edmonton Cover Mov Pocket .38" x 12.625" x 29.802" A

$4,491.36
$0.00
$0.00
$1,037.72
$1,037.72
$0.00
$0.00
$332.40
$154.04
$32,884.66
$24,228.24
$17,896.54
$2,655.09
$123.03
$478.33
$0.00
$328.34
$895.84
$121.61
$312.13
$482.37
$0.00
$689.52
$60.41
$0.00
$0.00
$283.80
$32.43
$1,897.07
$1,897.07
$1,337.69
$620.20
$299.97
$0.00
$166.20
$6,728.94
$3,554.99
$279.70
$976.92
$0.00
$0.00
$433.73
$458.06
$105.40
$1.63
$227.00
$227.00



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

D680-204-01 Bar, Alignment, for Cover Guide $308.07
D681-00 Weldment, Cover Guide Support, 10 pit $0.00
D681-204-00 Turn Around for 17' Diamond Box $7,831.51
D682-00 Bracket, Suspension, for Cover Guide on 17' Diamond Box $2,610.50
D683-00 Weldment, Cover Guide Support, 17 pit $2,237.57
D687-00 Cover, Removable, on Pit for Movable Unit $1,783.57
D720-00 Power Unit D64, Assembly, DIA $25,647.80
D720-01 Block, Diamond Pump Mount, 1.5 x5 x 5, 6061-T6 SS Alum $275.64
D720-99 Do Not Use $0.00
D771-01 Gear Rack, 77.5" Long, for Diamond Lift $0.00
D771-02 Gear Rack, 58.64" Long,for Diamond Lift $0.00
D771-03 Gear Rack, 18.00" Long, for Diamond Lift $0.00
D771-04 Gear Rack, 9.00" Long, for Diamond Lift $0.00
D810-00 Covers, Semi Permanent, Narow Width Empty Cassette, Fixed Piston Cassette $4,175.19
D820-00 Base, Adapter, Sliding, for Diamond Bolster $2,582.13
D833-00 Covers, Semi Permanent, Narow Width Empty Cassette, 13' Movable Piston Ca: $10,024.50
D870-00 Cover, Assembly, Plumbing, Diamond lift $235.11
D906-00 Control Console, Sloped Top Cover, Diamond 96 $0.00
D910-12 Panel, front/rear, Diamond 96 Console $0.00
D919-00 Reservoir, Assembly for Diamond 3 piston, Rev 06 $0.00
DB001-10 Energy Chain & Hoses, Ass'y, for Diamond 10 ft. Narrow Pit Only $0.00
DB001-13 Energy Chain & Hoses, Ass'y, for Diamond 13 ft. Casette Only $0.00
DB001-17 Energy Chain & Hoses, Ass'y, for Diamond 17 ft. Narrow Pit Only $0.00
DB0440-00 Hose Ass'y, 1/4" x 40', w/Fittings, From ConsoleTo Chain $502.64
DB0840-00 Hose Ass'y, 1/2" x 40', w/Fittings, From ConsoleTo Chain $648.57
DB0860-00 Hose Ass'y, 1/2" x 60', w/Fittings, From ConsoleTo Chain $916.12
DBQ3904-00 Hose Ass'y, 1/4" x 101", w/Fittings, Thru Chain to Drive Motor, Quick Turn Pit $0.00
DBQ615-87-17 Tranisiton Plate, Short, for DIA Quick Turn $0.00
DC114-00 Guide, for carrier chain, Diamond Lift $920.16
DCAA2-00 Energy Chain for Diamond 10 ft. Pit $1,337.69
DEB064-01 Panel, Front/Rear, Diamond & ECO Console, w/ Ebright $353.77
DIACONVKIT Diamond Conversion Kit S8 Diamond $9,714.00
DLCUS2-00 Tube, Hydraulic, Suction, Small $77.01
DP440-00 Shelf, Sump Pump, Diamond Lift $0.00
DQ615-87-17REV01 Transition Plate, Closure, Diamond w/39" Travel QT $0.00
DRCBC-02 Aluminum Trench Cover, 1 Piece $131.58
DWO001-AA Energy Chain & Hoses, Ass'y, for Frame Type Diamond 10 ft. $3,121.26
DWO001-BC Energy Chain & Hoses, Ass'y, for Frame Type Diamond 13 ft. $2,448.36
DW345-00LH Cover Plate, Diamond, Fixed Piston, Left Hand, "V" Opening $708.17
DW345-00RH Cover Plate, Diamond, Fixed Piston, Right Hand, Round Opening $708.17
DWX00-00 Gear Rack, 43.98 inch, Diamond Frame $547.23
E00121 Cord Grip $31.22
E00175 Lamp, Amber LED, 24 vdc $190.51
PO0057 Fitting, Zerk Grease 1/8" NPT, DIA $4.87
P0O0059 Bolt, Hex Hd, Gr 5, 3/8-16 3/4 $0.00
P00406 Fitting, Push to Connect, 1/4" Push x 1/4" Push $28.09
P00433 Fitting, Push to Connect, 1/4" Push x 1/4" NPT with Teflon Seal $0.00



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

P00489 Screw, set, Allen socket, knurled-cup point, 3/8-16 x 3/8 $2.04
P00499 Cover, Dust, for Amphenol Connector on Console $68.91
P0O0507 Motor, Hydraulic, Low Speed, High Torque, for Diamond $3,307.72
P00508 Gear, Beveled, for Drive Unit in Diamond $672.90
PO0511 Cylinder, Pneumatic, Lock Assembly $181.92
P0O0513 Washer, Split Lock, 5/8" Zinc Plated $0.81
P00514 Screw, Socket Head Cap, 5/8”x2%, FT, DIA $23.92
P00548 Screw, Socket Head Cap, 1/4-20x 1 1/2, S/S $3.99
P0O0550 Bolt, Serrated Flange, Hex Head, Diamond Lift $7.71
PO0551 Bearing, Flange Mount, Diamond, Dive Ass'y $206.73
P00552 Bolt, HHCS, 7/16"-20 x 1", Gr 8, Full Thread $0.00
P0O0554 Bolt, SHCS, 3/8-16 x 1.375. Diamond $1.46
PO0555 Screw, Flat Head Self-Drilling Screw, #12X1, DIA $0.00
P00561 Spring, Gas, Diamond Lift $132.86
P0O0578 Grommet, Sealing, 4" Pipe S40.14
P00580 Bearing, Igus, Lock Bar Pivot $32.43
P00582 Set Screw, Diamond Lift $7.13
P00584 Pin,Roll, for Locking Bar $7.71
P0O0585 Piston, Hydraulic, Telescopic, Hi Pressure (REVISION 10) $10,133.94
PO0585-KIT Piston, Install Kit $14,807.72
P00587 Nut, Flange Lock DIA $22.70
P00588-2 Screw, FHMS, 1/2"-24 x 1/2", Phillips $0.81
P00591 Screw, Socket Head Cap, Alloy, Gr 8, 3/4-16 x 2 1/2 $27.33
P00613 Bushing, Flange, Diamond Lift $24.33
P00615 Screw, Hex hd 5/16-18 x 1 1/14 $5.90
P00616 Bearing, Flange mount, Diamond, Rear Balance Weldment $24.33
P00617 Socket Head Shoulder Screw, 18-8, 3/8 Shoulder S44.59
P00619 Washer, Flat, 3/8, 18-8 Stainless Steel $0.81
P00620 Bearing, Sleeve - G300 $16.21
P00623 Screw, Hex Hd 5/8-11 x 2-3/4, Gr8, Zinc $0.00
P00628 Sensor, Oil, Ultra-Sonic, C-G Plastic Barrel, Diamond $1,503.87
P00629 Wiper, DIA Superseded by P01117 $437.79
P00630 Bearing, DIA Superseded by P00964 $126.47
P00632 Valve, Pressure Compensated Flow Control, DIA $299.97
P00633 Cable Asembly, Lock Bar, Diamond $226.61
P00634 Shackle, 5/16", Stainless Steel w/screw pin $0.00
P00640 Urethane Spring, Diamond $109.44
P00649 Valve, Float, for Fluid Notification System $3,013.31
PO0649A Valve, Float, for Fluid Notification System $1,628.45
P0O0651 Spring, Slotted Pin 7/32" x 2 1/4", DIA $0.41
P00652 Clamp, for Riser Pipe on Sump Pump Ass'y $37.71
P00654 Adapter, PVC, Male NPT x Soc, for Riser Pipe on Sump Pump Ass'y $12.85
P00656 Spring, tension, for rear cover mechanism $143.09
P00662 Screw, Socket Head, Shoulder, 5/8 x 1 %, %"”-13 thread $18.40
P00672-DIA Eprom, DIA, use w/ pcb 69900240 $64.09
P00683 Plug, Pipe, 1/8" Black Iron, DIA $0.00

P0O0857 Chain, Cable and Hose Carrier, Single Link, Diamond Frame Version $24.33



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

P0O0858
P00860
P00861
P0O0899
P0O0S55
P00964
P00966
P00967
P00968
P00969
P00970
P00971
P00972
P00974
P00985
P01019
P01025
P01027
P01032
P01045
P01049
P01051
P01052
P01068
P01070
P01071
P01072
P01073
P01074
P01075
P01076
P01077
P01083
P01096
P0O1117
P01125
P01151
P01152
P01154
P01155
P01156
P01167
P01170
P01172
P01177
P01178
P01197

Chain, End Links, Pair, Cable & Hose Carrier, Diamond Frame Version
Resistor, % Watt-47K ohm, DIA

Nut,

Full Coupling, 1 inch, Diamond, Sump Pump

Valve, Air, w/solenoid,

Bearing, Casting, Diamond ( MAIN SEAL ) Formerly PO0630
Plastic Bottle, 4 oz, W/Yorker Lid

Valve, Lowering, 3-Way, N/C, Diamond

Valve, Ball Type Check, Diamond Lift

BIODEGRADABLE WAYLUBE 68 (DIA)

Shim, 0.005", Diamond, Fixed Cylinder Assembly

Shim, 0.010", Diamond, Fixed Cylinder Assembly

Shim, 0.020", Diamond, Fixed Cylinder Assembly

Fitting, 3/8" Female Thread x Barbed

Screw, Socket Head Cap, Stainless Steel, 10-24 x 2
Trolley, for Pendant Festoon, SD CT 03 A SE P 22

Valve, Lowering, Blue Knob, Diamond Lift

Coil, Eco & Diamond Lowering & Eco Drive Reverse Valve
Plug, Cavity, for Diamond Valve Upgrade.

Pump, Sump, CF10, for Diamond, New Style, Plastic Housing
Fitting, Adapter, 1/2" NPT Male x 1/2" soc

Fitting, Elbow, 1/2" Soc x 1/2" soc

Filter, Suction, for Diamond Sump Pump

Fitting, Adapter, 90 deg. Ell

Manifold, Hydraulic Unit, Fixed Piston, Diamond
Manifold, Hydraulic Unit, Movable Piston, Diamond
Valve, Lowering, Red Knob, Diamond Lift

Valve, Pressure Relief, Lift Function, Diamond Lift

Valve, Drive Select, Diamond Lifts

Valve, Drive Reverse, Diamond Lifts

Valve, Pressure Relief, Drive Function, Diamond Lift

Coil, Diamond Drive Select & Drive Reverse Valve, & ECO Drive Select
Reservoir Vent, Diamond

Pump, Hydraulic Unit, Single Directional, Diamond
Wiper Ring, Diamond Cylinder

Do Not Use

O-Ring, Oil Resistant Buna-N, % Fractional Width

O-Ring Oil Resistant 1/8 Fractional Width

Bolt, for top of lock bar

Washer w/ rubber seal, for bolt on top of lock bar

Pin, Roll, for Top of Lock Bar

Connector, for Interconnect Sys Cable

Connector, 3-terminal PCB

Contactor, for P01172

Wiper Ring, Diamond Cylinder

Kit, Seal & O-Ring, Diamond Cylinder

Screw, Hex Head Bleeder, w/ O-ring

$101.34
$0.00
$0.62
$106.34
$693.16
$235.11
$11.15
$0.00
$206.73
$3.65
$0.70
$16.85
$24.75
$0.00
$27.33
$555.34
$336.44
$304.01
$149.99
$1,467.40
$0.81
$0.81
$0.00
$11.40
$0.00
$0.00
$336.44
$0.00
$227.00
$263.49
$0.00
$149.99
$44.59
$1,333.63
$506.70
$0.00
$20.68
$2.04
$142.69
$21.09
$5.28
$0.25
$24.09
$0.29
$121.21
$466.16
$32.43



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

P01236
P01236C
P01285
P01373
P0620
Q2213-00
Q2214-00
RC520-00
RRC7-00R 01
RRC8-00G
VD290115
VvD290119
VD300115

Sensor, Oil, Ultra-Sonic, P-F Metal Barrel, Diamond (New)
Cable, for P01236 Ultra-Sonic, Sensor, Diamond

Seal Kit for P01096 Pump, Diamond

Manifold, Fixed Hydraulic Unit, Complete w/ Valves, Diamond
Sleeve Bearing, Diamond Lift

Weldment, Flush Mount, Quick-Turn End, Left Side, Diamond
Weldment, Flush Mount, Quick-Turn End, Right Side, Diamond
Carriage Assembly

Extension, Drive Side, Turn Around, RW

Wledment, End Section Cover, MF RW, Galvanized SD

Eye Ring, Lifting Lug, Used to lift Diamond Cylinder

Special Adapter, to Remove Top of Diamond Cylinder

Keeper Plate, Keeps Inner Piston from Going Below Outer Piston

$826.93
$48.25
$308.07
$1,633.59
$0.00
$0.00
$0.00
$8,301.73
$603.99
$603.99
$405.36
$405.36
$405.36



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

Item No. *
0112101
0112103
119911
119912
0131211
0131212
0131213
0211201
221706
227778
0311201
0311202
0311203
0311204
0311211
0311212
0311213
0411011
0411012
0411101
0411200
0415201
0415202
0415204
0417201
0417202
0417203
0421200
0421300
0421416
0421417
0422200
0423200
0431201
0431202
0432201
0441000
0441200
0442000
0442200
0442400
0442504
0451200
0451201
0451202
0451204

Item No.
01121-01
01121-03
119911

119912

01312-11
01312-12
01312-13
02112-01
221706

227778

03112-01
03112-02
03112-03
03112-04
03112-11
03112-12
03112-13
04110-11
04110-12
04111-01
04112-00
04152-01
04152-02
04152-04
04172-01
04172-02
04172-03
04212-00
04213-00
04214-16
04214-17
04222-00
04232-00
04312-01
04312-02
04322-01
04410-00
04412-00
04420-00
04422-00
04424-00
04425-04
04512-00
04512-01
04512-02
04512-04

Item Description

Plate, To Mount AWBP Potentiometer, Dia
Plate, To Attach AWBP Potmeter Cable, Dic
Paint, 2 oz. Bottle w/ Brush, RAL 1013 Off \
Paint, 2 oz. Bottle w/ Brush, RAL 3002 Red
Shim, Plastic "U" Shaped, Blue, 1/16" (0.06
Shim, Plastic "U" Shaped, Red, 1/8" (0.125)
Shim, Plastic "U" Shaped, Black, 1/4" (0.25(
Bracket, Fixed Pit Hose Mount

Ear For Twin Button Actuator Plate on Sky,
Insert, Arrow, on Push Button for Sky, Eco ¢
see 89000105

see 89000106

see 89000107

see 89000108

See 01312-11

See 01312-12

See 01312-13

Stopper Plate, Fixed Mechanism, ECO
Stopper Plate, Fixed Mechanism, Quick Tur
Stopper Lug, ECO Fixed Scissor, needs P012
Base Plate, Fixed Mechanism

Nylatron Block Outer Leg

Nylatron Block Inner Leg

Spacer Ring, UHMW

Bearing, Slide, Continuous, Outer Leg, Bott:
UHMW Slider Continuous Inner Top, 9.25"
Bearing, Slide, Continuous, Inner Leg, 9.25"
Tier One, Inner Leg

Tier One Weldment, Gen 6

Plate, Mounting Base, Inclinometer

Plate, Mounting Disk, Inclinometer

Tier Two, Inner Leg

Tier Three, Inner Leg

Leaf, Tier One, Left Outer Leg

Leaf, Tier One, Right Outer Leg

Leaf, Tier Two Leg

Centering Link Assembly - Round Includes E
Inactive - Centering Link - Round

Centering Link Assembly - Slotted, Includes
Inactive - Centering Link - Slotted
Container w/Grease, ECO Centering Links
Pin, Centering Link

Cylinder, Hydraulic, Eco, Pre Gen 6 Only
Slider Block Nylatron

Slider Block Nylatron, Inner Leg

Cap, End, Cylinder Base, ECO

ATA Retail

$330.38
$205.52
$40.99
$40.99
$0.48
$0.65
$1.05
$136.09
$6.09
$13.38
$0.00
$0.00
$0.00
$0.00
$0.00
$0.00
$0.00
$268.68
$268.68
$0.00
$7,768.06
$282.55
$416.03
$39.62
$279.10
$185.05
$204.97
$9,662.28
$10,966.28
$158.61
$164.68
$8,340.53
$9,858.17
$2,418.18
$2,036.81
$1,942.35
$303.35
$0.00
$97.08
$0.00
$2.60
$0.00
$7,748.97
$0.00
$0.00
$216.68



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

0451700
0452200
0453201
0453202
0453301
0453302
0454001
0454002
0454003
0454004
0454005
0454300
0461201
0462200
0463200
0471201
0471202
0471203
0471301
0475201
0475202
0475206
0475207
0481200
513162

513187

513189

513190

513191

513192

1005000
1031216
1031217
1031218
1031302
1034216
1034301
1034302
1051000
1070000
1071201
1071202
1201001
1201003
1211201
1212300
1220500

04517-00
04522-00
04532-01
04532-02
04533-01
04533-02
04540-01
04540-02
04540-03
04540-04
04540-05
04543-00
04612-01
04622-00
04632-00
04712-01
04712-02
04712-03
04713-01
04752-01
04752-02
04752-06
04752-07
04812-00
513162

513187

513189

513190

513191

513192

10050-00
10312-16
10312-17
10312-18
10313-02
10342-16
10343-01
10343-02
10510-00
10700-00
10712-01
10712-02
12010-01
12010-03
12112-01
12123-00
12205-00

Weldment, Lower Lock Support

Lock, Upper, Eco PRE-Gen 6 Only

Lock, Lower Front Side

Lock, Lower Rear Side

Lock, Lower, Front Side, Right, Eco Gen 6 O
Lock, Lower, Front Side, Left, Eco Gen 6 On
Link, Lock Release, Gen 6

Pin, Piston Pivot, Lock Release, Gen 6

no longer used-see remarks

Wheel, Lock Release, Gen 6

Spacer, Lock, ECO .39 ID X .625" OD X .313'
Lock, Upper, Eco Gen 6 only

Bumper, Air Cylinder

Base, Air Box

Cover, Air Box

Pin, Pivot, Slide Block Outer Leg

Cylinder Pin, Upper 2" x 14" Round Heat Tr
Bolt, Anti-Rotation Pin on Cylinder Pin, 1/2-
Pin, Upper, Cylinder Pivot, 1 side, Eco Gen |
Retaining Cap Pin .25 X 2.75 4.13 MEG-200
Separator (UHMW) MEG-2004-04-752-02-1
Protector Mechanism, UHMW .050
Separator (UHMW), 3/16" Thick

Plate, Bolster, Powder Coated

Emergency Stop Actuator For Eco, Diamon
Lens, Green, For Eco, Diamond & Becker Pe
Contactor, N/C For, Eco, Diamond & Becke
Contactor, N/O For Eco, Diamond & Becker
Push Button For Eco, Diamond & Becker Pe
Switch Actuator For Eco, Diamond & Becke
10 Ft Pit W/O Mechanism, Including Cover:
Bearing, Slide, UHMW, Cut Length

Plate, Center Section, 3/8” X5” X 172.5”
Bracket, Angle, Cable Carrier Bottom, ECO |
Transition Closure Plate, ECO

Bearing, Slide, UHMW, Cut Length

Bearing, Slide, Cut, ECO

Bearing, Slide, Full, Top

Chain, Cable Carrier, for ECO w/10 ft pit
Gear Rack, Eco Horiz. Drive, Set, 10 ft pit, ¢
Gear Rack, Eco Horiz. Drive, 19.90" Long, 1!
Gear Rack, Eco Horiz. Drive, 71.73" Long, 1!
Block, UHMW Insert in Alum. Extruded Cov
Starter Element, ECO

25" X 2" X 2" X 12" Angle, Cable Carrier Bo
Weldment, Floor Cover End Section, Diamc
Assembly, End Section, ECO Cassette

$524.80
$3,039.63
$0.00
$0.00
$1,229.45
$1,229.45
$17.76
$74.09
$0.00
$77.14
$74.96
$2,646.99
$161.64
$1,031.83
$587.21
$379.19
$428.61
$461.96
$306.82
$45.50
$39.43
$31.21
$39.43
$11,117.53
$285.85
$39.46
$153.31
$215.10
$67.45
$368.97
$0.00
$124.38
$814.73
$266.95
$0.00
$205.84
$104.01
$104.01
$1,205.84
$0.00
$616.68
$1,283.63
$81.04
$1,175.29
$172.48
$0.00
$1,867.80



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

1221200
1221204
1221205
1221300
1231000
1231203
1231214
1231215
1234215
1235000
1241300
1243900
1244200
1244400
1244500
1244900
1245400
1261202
1261203
1265300
1331217
1351000
1370000
1371201
1371202
1504000
1505000
1521200
1521207
1521208
1521300
1521302
1522000
1522200
1522205
1524200
1525200
1603200
1603300
1603600
1605000
1612200
1613300
1615655
1615656
1731000
1731200

12212-00
12212-04
12212-05
12213-00
12310-00
12312-03
12312-14
12312-15
12342-15
12350-00
12413-00
12439-00
12442-00
12444-00
12445-00
12449-00
12454-00
12612-02
12612-03
12653-00
13312-17
13510-00
13700-00
13712-01
13712-02
15040-00
15050-00
15212-00
15212-07
15212-08
15213-00
15213-02
15220-00
15222-00
15222-05
15242-00
15252-00
16032-00
16033-00
16036-00
16050-00
16122-00
16133-00
1615655

1615656

17310-00
17312-00

Weldment, Pit Section, Pit Mechanism
Bearing End Section LT UHMW Turn Aroun
Bearing End Section LT UHMW Turn Aroun:
Weldment, End Section, Pit Mechanism
Arc, RH Weldment, ECO Cassette

Top Bar Anchor (typically welded in locatio
Spacer - Superseded by P01110

Bearing, Slide, UHMW, Full Length, Bottom
Bearing, Slide, UHMW, Full Length, Carriag:
Arc, LH Weldment, ECO Cassette
Weldment, Floor Cover, End Section, Diam:
ECO, Pit End Section Cover (27.25" away fri
ECO, Pit End Cover, Reinforced, Gen 4
Cover, Pit End Section

Cover, Reinforced End Section

Pit End Cover, Reinforced, Gen 5
Reinforced End Section Covers, TTC
Starter Element, Pit Cover, Extruded, Genl
Starter Element, Pit Cover, Extruded, Gen £
Cover, End Section, 26.50"

Transition Plate, ECO

Chain, Cable Carrier, for ECO & Diamond w
Gear Rack, Eco Horiz. Drive, Set, 13 ft pit, 1
Gear Rack, Eco Horiz. Drive, 71.73" Long, 1.
Gear Rack, Eco Horiz. Drive, 27.75" Long, 1.
Carriage Assembly

Carriage Assembly

Carriage Assembly, TTC Style ECO, Gen4 &'
Bearing, Slide, Carriage, UHMW

Block, Bumper, Rubber, .5"x1.25"x7"
Carriage Assembly, ECO, Gen5 & Gen6 Mo\
Starter Element, Spacers, ECO

Drive assembly, complete, ECO

Mounting Plate, Drive System, Carriage
Half Shaft, 1-1/4" X 1" Ends

Weldment, Hose attachment

Weldment, Cable Carrier Carriage, Igus bra:
Moveable Mech, Gen 4/6 Hybrid, With Lim
Movable Mechanism, Lift Recess Mounted
Movable Mechanism w/o Carriage - ECO, C
Movable Mechanism w/o Carriage - ECO
Base Plate, Movable Unit, ECO

Movable Mechanism, Including Sliding Bas
Stop Button 3 SB 1000-1FC 01-see part # 6¢
Holder 3 SB 1902-1AC

Right Hand Wall, w/attchments, Gen 4 ECQ
17' Center Section Right Side GEN 4

$4,178.06
$2,567.25
$2,675.60
$5,184.34
$1,024.91
$0.00
$0.00
$109.64
$177.68
$1,021.45
$3,353.37
$0.00
$0.00
$0.00
$0.00
$0.00
$0.00
$1,453.50
$520.04
$0.00
$4,182.39
$1,445.26
$2,294.36
$1,303.13
$600.63
$0.00
$0.00
$12,913.83
$172.48
$59.37
$12,450.16
$99.67
$20,978.96
$0.00
$565.54
$156.01
$585.05
$0.00
$0.00
$46,369.98
$46,369.98
$10,475.29
$0.00
$104.84
$24.76
$16,414.79
$21,388.70



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

1731205
1731208
1731211
1731216
1734216
1734301
1735000
1735200
1751000
1770000
1771201
1771202
2000575
2001529
2002203
3010010
3904000
3931302
5000053
5000172
5000173
5000311
6000704
9058800
9079250
9079265
9079700
9079720
9160600
19091255
20010804
30001001
30001003
30001004
30001006
30001009
30001013
30001014
30003002
30003100
30006200
30007375
30007400
30501003
30506751
30506753
30540110

17312-05
17312-08
17312-11
17312-16
17342-16
17343-01
17350-00
17352-00
17510-00
17700-00
17712-01
17712-02
2000575
2001529
2002203
3010010
39040-00
39313-02
500-0053
500-0172
500-0173
500-0311
6000704
90.588.00
9079250
9079265
9079700
9079720
9160600
19091255
2001-08-04
30001001
30001003
30001004
30001006
30001009
30001013
30001014
30003002
30003100
30006200
30007375
30007400
30501003
30506751
30506753
30540110

Angle, .25" X 2" X 2 X 139.88" Cable Carrier
Angle, .25" X 2" X 2" X 105.88" Cable Carrie
Angle, .25" X 2" X 2" X 123.88" Capture Co\
Bearing, Slide, UHMW, Cut Length, Bottom
Bearing Slide, UHMW, 28", Carriage Slide
Bearing Slide, UHMW, 26.5", 3-hole, Carria,
Left Hand Wall, w/attchments, Gen 4 ECO
17' Center Section Left Side GEN 4

Chain, Hose & Cable Carrier, for ECO w/17"
Gear Rack, Eco Horiz. Drive, Set, 17ft pit, cc
Gear Rack, Eco Horiz. Drive, 51.83“ Long, 1
Gear Rack, Eco Horiz. Drive, 71.73" Long, 1
Motor, 575 volt, ECO Hydr Units - USE P/N
Plate, Spacer, Manifold to Tank, ECO60 & 9
use P00648 Gasket, Tank Lid to Tank, Eco h
Rubber Bumper, Battery Cabinet

Short Travel Box w/scissor, 990 mm / 39", |
Transition Plates (Closure)

Cable, Interconnect Sys. for Fluid Det. Switt
Bolt, HHCS, 1/2" x 9 1/2", Gr8

Bolt, HHCS, 1/2" x 5", Gr8

Coupling, Pump to Motor, SPX Hydr. Units
Hinge Strap on Control Box, Freedom Lift
Adjustable Saddle (ASI 14X14)

Hose, Protection for Conversion to Mech Ji
Hose, Protection for Converting to Mech JE
Hose, for Conversion to Mech JB

Hose, Air, for Converting to Mech JB
Cylinder for Converting to Mech Lock on JB
LED Lamp Assembly Used On Door Of 1082
Fitting, Adapter, Straight, %" BPPT x 8m pu:
Pawl For ST1065 And 4100

Slide Plate, 15mm, For Mobile Column Guic
Clamp

Slide Plate, 16mm, For Mobile Column Guic
Slide Plate, 18mm, For Mobile Column Guic
Slide Plate, 17mm, For Mobile Column Guic
Nut, Special, 3/4" long

Cap, for Bottom of Thread in Pad Adapter,
Flat Rubber Cap, Threaded Pick-up Pad, for
Hydraulic Hose For 2-Post Slave

Printed Circuit Board
Potentiometer Unit Assembly Stertil-Koni L
Packing Ring

Bearing Ring, 0035 Cylinder
Locking Ring, 0035 Cylinder

Cover, Control Box, STO035

$1,796.73
$525.25
$688.62
$76.71
$235.31
$128.72
$16,414.79
$0.00
$1,655.02
$0.00
$1,185.25
$1,140.18
$1,275.53
$108.35
$0.00
$166.93
$0.00
$0.00
$1.29
$27.98
$11.02
$0.00
$60.73
$1,802.39
$64.59
$72.35
$63.10
$31.11
$3,382.31
$42.37
$8.20
$315.47
$60.00
$43.38
$60.00
$60.00
$60.00
$60.00
$32.13
$364.18
$108.73
$841.63
$897.09
$60.00
$163.34
$136.03
$255.48



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

30599000
31000745
31050741
31050763
31050775
31050780
31050785
32000102
32000103
32000106
32000108
32000109
32000120
32000175
32000225
32000350
32003001
32003002
32003003
32003025
32003100
32006251
32006252
32006253
32006254
32006255
32006256
32006258
32006261
32006262
32006850
32007150
32007250
32007300
32007350
32040150
32040152
32046050
32046100
32206050
32206100
32206250
32206260
32206261
32206910
32206911
32206921

30599000
31000745
31050741
31050763
31050775
31050780
31050785
32000102
32000103
32000106
32000108
32000109
32000120
32000175
32000225
32000350
32003001
32003002
32003003
32003025
32003100
32006251
32006252
32006253
32006254
32006255
32006256
32006258
32006261
32006262
32006850
32007150
32007250
32007300
32007350
32040150
32040152
32046050
32046100
32206050
32206100
32206250
32206260
32206261
32206910
32206911
32206921

Seal Kit, Cylinder, STO035

Housing for Pendant, ECO, Diamond

Cable, Harness Ass'y, Lowering / Unlock, Ek
Cable, Harness Ass'y, from Pendant Jack on
Control Box, Empty Shell Only, Ebright, ECC
Panel, Front, Ebright, Diamond & ECO & Sk
Cover,Top, Control Box, Ebright Diamond &
Support For Hydraulic Unit

Rubber Seal

Rubber Seal

Bolt Cover

Bolt Cover

Ventilator ST0035

Bracket, for limit switch, STO035

Cover Plate ST0035

Cable

Axle

Bolt, For STO035

Bushing, for ST1035 Adjustable Liftpad Slid
Handle Grip 0035

Liftpad, Adjustable For 0035 Lift
Reservoir, For STO035

Levelcontrol LEM6LN L=130 ST

Filter, Suction, For STO035

Return Filter 10 Micron - use 32006254US
Pump, PHC 6.0 cm3/Rev. For STO035
Hydraulic Block, For 0035 Pump Unit
Coupling Pumpside

Valve, Check, for Hydr Units on Superior Cc
Breather Cap

Cylinder, Hydraulic Ram ST0035 Old 32006
Printed Circuitboard ST0035

Electric Cable

Cable Tree

Cable, Harness, 0035

Push Pin For Swing Arm 0035

Locking Pin, on Extended Flex Arms, Freedc
Left Oil Pipe ST0035

Right Qil Pipe ST0035

Oil Pipe Left Wider Version For STO035

Oil Pipe Right Wider Version For STO035
Hydraulic Unit, ST0035, 208/230 3 Phase 2.
Motor, 230/400 V, 50Hz 3P For ST0035 2.7
Check Valve
Hydraulic Unit, STO035D, 230/400V, 3 Phas
Motor, 3 Ph 220/400V, 60 H, 4. KW, ST003!
Motor, 3 Ph 208/230V, 60hz, 2.2kw, MT90,

$179.42
$3,100.72
$844.20
$210.79
$1,188.29
$2,334.86
$742.74
$233.50
$50.89
$347.49
$9.11
$9.11
$401.68
$124.79
$500.23
$472.91
$214.23
$48.73
$43.38
$198.15
$933.61
$1,114.53
$396.85
$190.14
$156.63
$1,620.79
$2,782.02
$92.84
$266.20
$18.63
$3,207.56
$1,685.45
$374.91
$353.47
$244.76
$86.76
$124.79
$342.24
$342.24
$277.43
$277.43
$6,577.93
$1,984.29
$227.38
$6,577.93
$2,609.69
$3,244.49



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

32500101
32500103
32500104
32500105
32500106
32500107
32500108
32500109
32500116
32506101
32506102
32506103
32506106
32506108
32506109
32506270
32506750
32506751
32506752
32506753
32507130
32507150
32507151
32516105
32550102
32550103
32550110
32550111
32550115
32550120
32551150
32552058
32556075
32556150
32556226
32556229
32556232
32556236
32556256
32556280
32556284
32556901
32556902
32556903
32556904
32556905
32556907

32500101
32500103
32500104
32500105
32500106
32500107
32500108
32500109
32500116
32506101
32506102
32506103
32506106
32506108
32506109
32506270
32506750
32506751
32506752
32506753
32507130
32507150
32507151
32516105
32550102
32550103
32550110
32550111
32550115
32550120
32551150
32552058
32556075
32556150
32556226
32556229
32556232
32556236
32556256
32556280
32556284
32556901
32556902
32556903
32556904
32556905
32556907

Cable Channel Cover ST1072/1055
Cover Hydro Unit

Roller, Guide Block, 1060, 1072 & 1073 aka
Bracket, ** USE Item Number 32700101 **
Wheel, Front, for 1065/ & early 1072
Bracket

Cable Support

Shaft For Front Wheel On Most Mobiles
Wheel, Front, For Mobile Cols
Reservoir 8 Liter Steel

Oil Level Eye 8 Liter

Suctionfilter D, 62 DA3/8 FO

Valve Block Assembly 2.0 L/Min
Coupling, Pump Side, Most mobiles
Coupling, Motor Side, Most mobiles
Seal Kit, Pallet Jack, ST1065

Cylinder, Hydraulic Ram ST1065 / 72
Bearing Ring

Guide Ring Holder

Retainnig Ring

Cable Connector Cap For ST1065
Communication Cable, 12m, Non-Drive Ov¢
Communication Cable, 12m, No ends, ST10
Pump 1.2 cm3/rev

Shaft, Balancer Pivot

Shaft, Balancer To Pallet Jack
Pawl ST 1072

Distance Piece Short

Nut, Special, Pawl ST1072, 7/8" long
L-Shaped Protection Bracket Pallet

Top Plate ST 1072

Lock Profile, on Guide Block, ST1072,
Hydraulic Pipe

Hydraulic Hose

Locking Plate

Spring

Lever Plate For 1072 P/J

Valve Sleeve

Axle For Pallet Jack

Seal Kit, For Original 1072 P/)
Service Kit For Pallet Jack

Motor, 3-Phase 208/400/460 V

2L Flow Control Valve

6L Flow Control Valve

Non-Return Valve, ST1072 Only
Spring For Check Valve

Red Plastic Cap

$212.08
$556.31
$160.67
$28.60
$228.15
$97.99
$152.11
$119.44
$228.15
$842.46
$43.38
$124.79
$1,794.17
$132.13
$282.77
$291.80
$2,859.57
$179.42
$124.79
$86.76
$282.77
$3,361.09
$1,820.96
$1,712.23
$32.13
$19.81
$298.85
$43.38
$60.00
$81.41
$298.85
$851.82
$184.79
$136.03
$6.99
$12.79
$14.21
$49.74
$33.17
$279.25
$136.87
$2,636.63
$233.50
$233.50
$163.34
$70.70
$35.35



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

32556908
32556910
32556931
32556941
32557101
32557126
32557128
32557150
32557170
32559025
32559045
32559070
32567126
32567200
32591020
32599000
32620101
32700101
32700104
32700105
32700110
32700111
32700116
32700117
32700118
32700120
32700121
32700122
32700128
32700129
32700131
32700134
32700140
32700150
32700160
32700170
32700200
32700250
32700300
32700935
32702000
32702002
32702075
32702085
32702200
32706075
32706200

32556908
32556910
32556931
32556941
32557101
32557126
32557128
32557150
32557170
32559025
32559045
32559070
32567126
32567200
32591020
32599000
32620101
32700101
32700104
32700105
32700110
32700111
32700116
32700117
32700118
32700120
32700121
32700122
32700128
32700129
32700131
32700134
32700140
32700150
32700160
32700170
32700200
32700250
32700300
32700935
32702000
32702002
32702075
32702085
32702200
32706075
32706200

Pressure Relief Valve 265 Bar

Flow Control Valve 4.5L

Motor, 3-Ph 575V 2 HP

Motor, 1-Phase, 230V

Cable, From Potentiometer Down To Contr
Control Box, Primary, 1072 (Shell Only)
Door For 1072 Primary Control Box
Communication Cable, 12m Drive Over, Blz
Drive Over Connection Cable 30.5M ST107.
Light Control Box 1072 208/230V

Light Control Box, Mobile Column, 440-46C
Cap Kit, 1072 Pallet Jack Metal Cap For Orig
Control box, 1072 Shell Only

Control Box, Secondary 1072 3-Phase 230/
Adapter, Saddle, Adjustable, for SK Chassis
Seal Kit, Cylinder, ST1065/ST1072/ST1073/
Cable Channel ST 1072B Primary

Angle Support, For Potentiometer

Roller, Guide Block, ST1082, ST1085
Wheel For Mobiles With Retractable Whee
Wheel Shaft Mobiles With Retractable Whe
Shaft For 1082 Retract Wheel

Top Plate, Beveled Profile

Top Plate, Flat Profile

Pin For Adjustable Fork

Cap For 1082 and Newer Pallet Jack

Shaft, 1082 and Newer P/)

Safety Lock Pawl 1082, 1085

Push Plate

Axle, for Retractable Mechanism to P/JPivc
Cover, Plastic, on Base of Retractable Whex
Support Bracket

Upper Sheetmetal Cover Lifts With Superio
Support, Front, For Lifts With Retractable V
Rod, Pull, for Retractable Wheels

Hinge ass’y for mobile column retractable \
Torsion Bar, For Retractable Wheel Mechal
Balancer For 1082 Jacking Mech

Balancer For 1082 Batt & Orig 1055-1060 A
Pawl, for Lock on Fork Exten. on Adj Forks (
Guide Block, ST1082 w/ Adjustable Forks
Lock Profile

Adjustable Fork (Left )

Adjustable Fork (Right)

Guide Block ST 1082

Hydraulic Pipe, 1082, 1085, 1073 & New 1(
Pallet Jack Assembly 1082/1085

$364.18
$239.41
$2,772.66
$1,956.99
$234.64
$851.26
$377.73
$3,451.77
$4,321.56
$1,491.97
$783.40
$124.79
$1,071.14
$5,180.45
$643.55
$625.02
$272.06
$17.67
$222.79
$76.06
$36.96
$25.70
$133.90
$97.99
$86.76
$70.70
$32.13
$315.47
$60.00
$35.28
$103.38
$119.44
$380.80
$260.83
$217.44
$184.58
$391.22
$233.50
$212.08
$22.50
$4,736.36
$710.47
$1,950.55
$1,950.55
$3,310.72
$353.47
$1,331.97



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

32706201
32706203
32706205
32706210
32706220
32706225
32706230
32706237
32706240
32706245
32706250
32706290
32706292
32706800
32706900
32707050
32707125
32707126
32707130
32707150
32707170
32707200
32707300
32707945
32707970
32709122
32709130
32709133
32711052
32724141
32730251
32730254
32730300
32730350
32730360
32731910
32731915
32731920
32731926
32731930
32731932
32731934
32731955
32736150
32737100
32737108
32737109

32706201
32706203
32706205
32706210
32706220
32706225
32706230
32706237
32706240
32706245
32706250
32706290
32706292
32706800
32706900
32707050
32707125
32707126
32707130
32707150
32707170
32707200
32707300
32707945
32707970
32709122
32709130
32709133
32711052
32724141
32730251
32730254
32730300
32730350
32730360
32731910
32731915
32731920
32731926
32731930
32731932
32731934
32731955
32736150
32737100
32737108
32737109

Wheel, Use 32706201A

Dust Cap For 1082 Pallet Jack Wheels
Hydraulic Valve Assembly 1082 Pallet Jack
Spring Cover Assembly 1082 Pallet Jack
Lowering Valve Kit 1082 Pallet Jack
Lowering Screw Assembly 1082 Pallet Jack
Safety Valve 1082 Style Pallet Jack

Rubber Oil Reservoir For 1082 Pallet Jack-S
Pallet Jack Handle Mobiles

Seal Kit, P/J 1082

Cover For 1082 Pallet Jack Reservoir ,Black
Pallet Jack Assembly, New Style 1072/ 106(
P/J Cap For 'New' Style 1072 Pallet Jack 901
Cylinder, Hydraulic RAM ST 1082, 1085, 11
Seal Kit, Cylinder, ST1082, ST1085, ST1100
Pushbutton Panel For Superior Controls
Control Box, Superior Contr. Shell Only
Door Panel, Superior Control Without Push
Door Panel, Superior Control With Pushbut
Communication Cable, 12 m Non-Drive Ove
Communication Cable, 21.5m Non-Drive O
Control Box, Primary Superior Control, 3 x .
Control Box, Secondary Superior Control 3»
1082 Battery Cut Off Switch

Control Box, Secondary, Turtle Control Sing
Hose & Fitting Kit For Weight Guage For ST
LED Lightset for Wireless Only

Cable, LED Harness for Mobile Column
Bracket, Mounting, for Pallet Jack, Weld on
Cover ST1082E Sec Column

Battery Retainer Bar

Inspection Glass To View Battery Charger C
Cabinet, Sheet Metal Only, for Battery Lifts
Mounting Frame For 32730300 Sheet Met:
Sheet Metal Plate On Battery Lift To Cover
Conversion, Wired To Wireless Lift
Conversion Kit, To Zigbee Wireless, Low M
Conversion Kit. To Cabled Battery Lift
Cable, Battery, Red, Motor Starter Relay to
Control Box, Earthlift Complete With Wires
Cable, From PCB To Speedocontroller (Eart
Knob for Speed Control On Earthlift
Control Box, Earthlift, Empty Shell

Hose, Hydraulic, Battery Lift

Control Box Complete 1082 Battery Lift, Se
Cable, Battery, Red (charger to battery)
Cable, Battery, Black (charger to battery)

$440.48
$20.90
$92.64
$28.92
$76.52
$26.25
$26.25
$43.17
$228.15
$108.73
$16.07
$1,646.88
$168.71
$3,397.68
$679.65
$869.77
$842.46
$745.03
$1,277.35
$1,984.29
$2,229.07
$7,284.32
$5,762.24
$118.41
$5,762.24
$217.44
$2,898.64
$426.27
$74.42
$207.84
$179.42
$21.94
$1,005.81
$532.91
$43.38
$1,216.07
$17,294.18
$1,848.25
$69.34
$6,034.31
$407.03
$24.27
$482.75
$260.83
$7,539.65
$103.38
$103.38



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

32737125
32737140
32737160
32737165
32737175
32737180
32737185
32737190
32737200
32739050
32739100
32739101
32739104
32739108
32739110
32739112
32739113
32739114
32739125
32739150
32739160
32739165
32739180
32739181
32739182
32741125
32800101
32800103
32800105
32800106
32800107
32800112
32800113
32800115
32800116
32800120
32806050
32806750
32806751
32806752
32840110
32899000
33000104
33000105
33000130
33000131
33001005

32737125
32737140
32737160
32737165
32737175
32737180
32737185
32737190
32737200
32739050
32739100
32739101
32739104
32739108
32739110
32739112
32739113
32739114
32739125
32739150
32739160
32739165
32739180
32739181
32739182
32741125
32800101
32800103
32800105
32800106
32800107
32800112
32800113
32800115
32800116
32800120
32806050
32806750
32806751
32806752
32840110
32899000
33000104
33000105
33000130
33000131
33001005

Control box, shell only, battery lift with circ
Communication Cable, 21.5m Battery Lift
Communication Cable, 12m Battery Lift
Cable, Battery, Red (fuse to switch & switcl
Cable, Battery, Red (relay to fuse)

Cable, Battery, Black, (battery to battery)
Cable, Battery, Black, (battery to motor)
Cable, Battery Hook Up 00-Gage /Completz
Cable, charger to receptacle

Pushbutton Panel For Digital Battery Lift
Control Box, Including Wires, Harnesses An
ID-Key (Bullet shaped) For Digital Battery Li
Cable, Harness For Wireless Unit Including
Cable, Harness, Potentiometer To Control |
Cable, Harness, E-Stop On Digital Controls
Cable, Lock Release, On Digital Controls
Cable, Harness, Correction Valve To Contro
Cable, Harness, Lowering Valve To Control
Control Box, Battery Lift Shell Only, For Dig
Bluetooth Module For Wireless Lift

RF Module ZigBee

Protection Cover - RF Module Galvanized
Bracket, for Pallet Jack Interlock Switch, ea
Connecting Rod On Pallet Jack Interlock
USE 32739182A Switch Bushing For Wirele:
Guide Block, For 1082VFW, Extra Wide
Cover, Cable channel, ST1175

Cover, Hydraulic unit, ST1175

Wheel

Pin

Axle 12*178 mm ST1175

Axle Pallet Jack 18 mm for ST1175

Cap, pallet jack, ST1175, 2014 & newer
Pawl

Bolt, m12 x 15

Cap Kit, 1175 Pallet Jack 2000 & Newer
Hydraulic Pipe, 1175

Cylinder, Hydraulic Ram ST1175

Bearing Ring

Guide Ring Holder

Cabinet, Sheet Metal Only, for ST1130 Batt
Seal Kit, Cylinder, ST1175

Channel

Cover Meta

Pin, Hinge, Extended Flex Arms, Freedom L
Bushing, in Hinge Pin, Extended Flex Arms,
Ring, Wiper, KS2050

$1,576.72
$1,739.54
$1,739.54
$103.38
$103.38
$222.79
$222.79
$183.76
$22.76
$951.16
$6,852.69
$97.05
$250.12
$211.85
$219.59
$76.41
$211.85
$211.85
$625.02
$2,806.34
$3,261.65
$119.44
$141.41
$50.89
$51.41
$3,978.53
$342.24
$733.73
$222.79
$163.34
$86.76
$86.76
$111.41
$298.85
$86.76
$78.63
$171.38
$5,653.50
$440.24
$244.76
$2,821.29
$652.32
$136.03
$179.42
$191.22
$65.35
$130.25



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

33001006
33003905
33003915
33099001
33099002
33500178
33501011
33507250
34000103
34000106
34000300
34000900
34000911
34001150
34006750
34007100
34007125
34007127
34010101
34010103
34017250
34017251
34017260
34017300
34017310
34099000
34100103
34200116
34200600
34200915
34200933
34202702
34202703
34232700
34262700
34400600
34400916
34400940
34490130
35000103
35000104
35000105
35000115
35000116
35000117
35000118
35000130

33001006
33003905
33003915
33099001
33099002
33500178
33501011
33507250
34000103
34000106
34000300
34000900
34000911
34001150
34006750
34007100
34007125
34007127
34010101
34010103
34017250
34017251
34017260
34017300
34017310
34099000
34100103
34200116
34200600
34200915
34200933
34202702
34202703
34232700
34262700
34400600
34400916
34400940
34490130
35000103
35000104
35000105
35000115
35000116
35000117
35000118
35000130

Ring, Special, KS2050

Support, for Runway, Adjustable, ST4175 &
Adapters, pick-up, flat, telescopic, set of 2,
Seal Kit, Cylinder, KS2050, Master

Seal Kit, Cylinder, KS2050, Slave

Spring, in Hinge Pin, Extended Flex Arms, Fi
Roller, Guide Block, For 4120

Electronic Eye With Cable

Cover (Primary Column ST1055

Wheel For Base Leg 1055-1060

Plate, P/J mount, ST1065 retro-fit

Kit, Retrofit to Replace P/J on ST1065
Wheel For Base Extention On 1055 Series
Top Plate ST 1055

Cylinder, Hydraulic Ram ST1055 / 60
Control Box Assembly With Cable ST1055B,
Control box, shell only, 1072B, 1073C, 108:
Door Panel For "E" Control Box

Cable Tray Sec Control Box ST1055

Cover Secondary Column ST1055
Communication Cable, 12m ST1055B8/1060
Communication Cable Junction Box, ST105!
Communication Cable, 12m ST1055B8/1060
Communication Cable, 22m ST1055B8/1060
Communication Cable, 22m ST1055B8/1060
Seal Kit, Cylinder, ST1055, ST1060,12k & 1:
Sheetmetal Cover 30 1/2" For 1055 Lift Wit
Locking Bushing

Cylinder, Hydraulic Ram New 1060, 13,000
Extension Kit For New 1060/1075 With Loc
Pawl, for Lock on reducers & extensions( Lc
Communication Cable, 66ft ST1060C, 1073
Communication Cable, 33ft ST1060C, 1073
Communication Cable, 33ft ST1060C, 1073
Communication Cable, 66ft ST1060C, 1073
Cylinder, Hydraulic Ram ST ST1073/ST1064
Shaft For Front Wheel On New Wider Base
Weight Gauges For ST 1073 / 1075
Communication Cable, 22m Non-Drive Ove
Guide Piece, Freedom Lift

Arm Lock, Lower, Freedom Lift

Arm Lock, Upper, Freedom Lift

Cover, Potentiometer, Freedom 2.26/2.30
Tube, 75mm Spacer, Arm Connection, Free
Cover, Potentiometer, Freedom 2.16/2.20
Magnetic Tool Tray, 9.6" x 5.6"

Pin, Hinge, Telescopic Arms, Freedom Lift

$18.33
$381.35
$1,207.78
$440.24
$440.24
$33.43
$85.13
$592.33
$374.91
$228.15
$606.82
$2,247.50
$288.12
$336.89
$3,261.65
$14,033.84
$796.97
$733.73
$163.34
$429.53
$2,881.39
$628.65
$2,147.11
$4,158.74
$3,424.46
$599.31
$505.59
$25.17
$2,908.17
$1,489.48
$68.65
$3,424.46
$2,147.13
$2,881.39
$4,158.74
$3,261.65
$320.26
$761.05
$2,555.21
$38.56
$226.65
$487.37
$93.72
$24.93
$40.16
$65.83
$447.02



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

35000132
35000135
35000136
35000139
35000220
35000221
35000301
35000420
35000602
35000603
35000605
35000702
35000703
35000706
35000707
35000720
35000721
35000722
35000723
35000727
35000728
35000751
35000754
35000755
35000889
35000901
35000910
35000911
35010650
35050650
37000101
37000200
37000203
37000885
37001003
37001004
37002050
37003501
37003935
37006000
37006010
37006250
37007010
37007030
37007210
37007220
37099001

35000132
35000135
35000136
35000139
35000220
35000221
35000301
35000420
35000602
35000603
35000605
35000702
35000703
35000706
35000707
35000720
35000721
35000722
35000723
35000727
35000728
35000751
35000754
35000755
35000889
35000901
35000910
35000911
35010650
35050650
37000101
37000200
37000203
37000885
37001003
37001004
37002050
37003501
37003935
37006000
37006010
37006250
37007010
37007030
37007210
37007220
37099001

Disk, for Double Telescopic Arms, Freedom
Locking Shaft 2-Post Freedom Lift

Rod, Pull, for Lock Release on Freedom Lift
Support Block, Freedom Lift

Plate, Adapter, Cylinder, 2.16 & 2.20, post .
Plate, Adapter, Cylinder, 2.26 & 2.30, post
Adapter, Pad, Thread in, on 2-Post

Cover, for Hydr Unit on Freedom Lift

Hose, Hydraulic, pump to top of lift, Freedc
Hose, Hydraulic, over head, column to colu
Tube, Hydraulic, w/ fittings, Freedom Lift
Cable, Pigtail from PCB to Outside of Box fc
Cable, Harness, Control Box Pigtail to Potm
Cable, Pigtail from PCB to Outside of Box fc
Cable, Harness, Control Box Pigtail to Valve
Chain, Carrier, w/ PTM & VLM Cables, Free
Door, Control Box, Freedom Lift without Bt
Base, Control box, Freedom Lift

Button Panel, For Freedom 2-post

Sticker, SK Name, Freedom Lift Control Box
Front Panel with Buttons, Freedom Lift
Control Box, 220 volt, 50 Hz, Euro Freedorr
Control Box, 220-240 volt, Freedom Lift
Control Box,400-460 volt, Freedom Lift
Upgrade Kit, Hydraulic Unit, Freedom 2.16
Arm Connection Set, Dbl Telescopic, Freeds
Tube, Alum. Conduit, 3100mm, 2-Post, w/
Tube, Alum. Conduit, 3100mm, 2-Post w/e
Cylinder, Hydraulic Ram, Freedom 2-post S
Cylinder, Hydraulic Ram, Freedom 2-post S
Plastic Cover 2070/2082 Arm Pivot

Lock Mechanism, for a 2070/2082 Swing Al
Spring for a 2070/2082 Swing Arm Lock Me
Adapter Plate Kit, 1-Phase, 2-Post Lift
Roller, Guide Block, For SK2082

Locking Disc For Guide Block 2-Post Lift
Guide Block For 2082 2-Post Lift

Pad, Slider, for Telescopic arm, Freedom Lif
Saddle With Pad SK2070/2082

Cylinder, Hydraulic Ram SK2070 Master
Cable Line Kit To Stabilize Overhead Hydrat
Cylinder, Hydraulic Ram Slave SK2070
Cable

Cable

Control Box, 2070/2082

Control Box, 2070/2082 Single Phase, 22-2.
Seal Kit, Cylinder, SK2070, Master

$112.48
$321.35
$78.52
$208.78
$93.72
$93.72
$317.32
$792.66
$321.35
§712.31
$294.57
$937.24
$749.79
$484.58
$937.24
$951.16
$321.35
$401.68
$631.98
$59.30
$803.36
$5,189.21
$5,708.12
$5,708.12
$3,930.71
$1,095.60
$482.02
$401.68
$2,446.51
$3,779.62
$97.99
$1,323.66
$133.90
$787.30
$195.48
$28.92
$4,158.74
$28.90
$299.92
$5,327.36
$348.12
$5,327.36
$326.17
$190.14
$7,610.49
$7,610.49
$978.50



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

37099002
38000772
38001102
38001105
38004747
38004761
38004762
38004764
38004793
38004799
38006101
38006105
38006108
38006112
38006150
38006155
38006164
38006197
38007747
38007748
38007756
38007757
38007758
38007759
38007760
38007761
38007762
38007763
38007764
38007766
38007767
38007768
38007771
38007772
38007779
38007780
38007781
38007782
38007783
38007784
38007785
38007786
38007790
38007790
38007792
38007793
38007799

37099002
38000772
38001102
38001105
38004747
38004761
38004762
38004764
38004793
38004799
38006101
38006105
38006108
38006112
38006150
38006155
38006164
38006197
38007747
38007748
38007756
38007757
38007758
38007759
38007760
38007761
38007762
38007763
38007764
38007766
38007767
38007768
38007771
38007772
38007779
38007780
38007781
38007782
38007783
38007784
38007785
38007786
38007790
380.07.790
38007792
38007793
38007799

Seal Kit, Cylinder, ST2070, Slave

Cable, Weight Transducer to PCB,

Cover, upper, Superior controls lifts w/ wel
Bracket, control box mount
Communication Cable, 21.5m, Ebright Supe
Cable, Harness Ass'y, Ebright Superior, Mot
Cable, Harness Ass'y, Ebright Superior, Valv
Cable, Harness Ass'y, Ebright Superior, Conr
Communication Cable, 12m, Ebright Superi
Communication Cable, 12m Drive Over, Eb
Cabinet, Sheet Metal Only, for Battery Lifts
Hinge, Battery Lift Cabinet

Spacer, Battery Lift Cabinet, New Style
Cabinet, Sheet Metal Only, for Battery Ebri;
Cabinet, Sheet Metal Only, for Ebright Lifts
Panel, Insert, for Main Switch on Cabinet, E
Panel, Insert, Blank on Cabinet, Ebright Col
Tray, Bottom Battery, Ebright Lifts w/Bolt ¢
Kit, to Add Remote Receptacle to an Ebrigh
Dummy Plug, to Replace Remote on an Ebr
Cable, Harness, Ebright Remote, PCB to Plu
Cable, Harness Ass'y, Ebright, Potmeter & |
Communication Cable, Wired, Battery ebris
Cable, Harness Ass'y, Ebright, Power Supply
Control Box, Ebright Controls

ID-Key For Ebright Mobile Column Lifts
Panel, Front, Ebright Ctrl Box, w/ Button Pz
Panel, Base, Ebright Control Box

Display, HMI, Ebright Control Box

Antenna With Wire, Ebright wireless
Control Board Software Update Kit, W/Isol:
Repair Kit, Ebright Control Box Cover, Set o
Cable Set, Wireless Ebright Controls

Cable, PCB to P/J Switch

Cable Ass'y., see 38000772, DO NOT USE
Cable, Harness Ass'y, Ebright, Lower & Corr
Cable, Harness Ass'y, Ebright, Lower Valve .
Cable, Harness Ass'y, Ebright, Antennas & F
Cable, Harness Ass'y, Ebright, Potmeter & F
Cable, Harness Ass'y, Ebright Earth, Potmet
Cable, Harness Ass'y, Ebright, Motor Contre
Cable, Harness Ass'y, Ebright, Motor Relays
Control Box, Ebright Control, Complete w/}
Wireless, Ebright Control, Retrofit Cabinet
Panel, Front, Ebright Ctrl Box, w/ Button Pz
Panel, Front, Ebright Ctrl Box, w/ Button Pz
Sticker, for covering tab slots on Ebright co

$978.50
$164.95
$263.01
$56.93
$3,217.71
$117.56
$244.51
$244.51
$1,836.26
$3,451.77
$978.50
$171.90
$48.70
$1,410.64
$916.00
$94.04
$56.42
$103.45
$426.77
$206.90
$422.64
$459.05
$478.19
$94.04
$3,102.31
$110.26
$851.26
$669.48
$2,837.50
$74.57
$606.71
$329.52
$937.24
$79.43
$143.47
$642.69
$469.92
$382.56
$161.97
$275.47
$296.76
$321.35
$3,102.31
$2,954.58
$913.57
$3,050.59
$0.46



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

38008771
38008790
38008790
38008792
38220201
38420300
39225100
39225150
39225155
39225160
39225165
39225170
39225175
39225180
39225185
39225190
39225660
39225910
39225920
39225970
39225991
39509100
39509105
39509209
40000112
40006075
40006130
40006250
40099001
40099002
41201020
41201050
41201150
41203001
41204001
41206120
41206125
41206130
41206140
41206150
41206160
41206180
41206250
41207101
41207102
41207103
41207104

38008771
38008790
380.08.790
38008792
38220201
38420300
39225100
39225150
39225155
39225160
39225165
39225170
39225175
39225180
39225185
39225190
39225660
39225910
39225920
39225970
39225991
39509100
39509105
39509209
40000112
40006075
40006130
40006250
40099001
40099002
41201020
41201050
41201150
41203001
41204001
41206120
41206125
41206130
41206140
41206150
41206160
41206180
41206250
41207101
41207102
41207103
41207104

Cable Set, EarthLift Ebright Controls
Control Box, Ebright Control, Complete w/}
Earthlift, Ebright Control, Retrofit Cabinet v
Panel, Front, Ebright Ctrl Box, w/ Button Pz
Guide Block, ST1085, Less Adjustable Forks
Fork Set, ST1100, 12 Inch, 1 Left - 1 Right P
Pin, Center Tube Lock, w/ Chain, JS Series S
Bracket, for Folding Leg Ass'y on JSM w/Hd
Bracket, for Folding Leg Ass'y on JSH w/Hd\
Leg, JSM Stand, w/Hdwe

Leg, JSH Stand, w/Hdwe

Plate, Bottom, Spring Retainer on JS w/Hdv
Tube, Outer, on JSM Stand

Tube, Inner, on JSM Stand

Tube, Outer, on JSH Stand

Tube, Inner, on JSH Stand

Wheels, Assembly, Spring loaded, for JS Fol
Wheel, Assembly, Spring Loaded, For JS Fol
Spring For Innertube H Model

Spring For Innertube M Model

Bracket, for Folding Leg Ass'y on JSH w/Hd\
Air Kit With 8' Air Pipe For ST4120,4175,42
Air Installation Kit For ST4120, 4175, 4250 !
Fitting, EIbow, Brass, 3/8“ Male x Female T
Flexible Tube

Hose, Cyl to Runway, 4-post

Hose, to Master Cyl, ST4100

Cylinder, Hydraulic Ram ST 4100

Seal Kit, Cylinder, ST4080 & ST4100, Maste
Seal Kit, Cylinder, ST4080 & ST4100, Slave
Cover, potentiometer, ST4120 lift

Post, ST4120

Pawl, Lock, ST4120 & Freedom Lift

Clamp, Block Style, for 4120

Block, Slide, ST4120 ramp

Hose, Hydraulic, ST4120, Console to Post 1
Hose, Hydraulic, ST4120, Console to Post 2
Hose, Hydraulic, ST4120, Console to Post 4
Hose, Hydraulic, ST4120, Console to Post 3
Pipe, Oil, ST4120, post 1 and 4

Pipe, Qil, ST4120, post 2 and 3

Pipe, Oil, ST4120, cross P1 to P2

Cylinder, Hydraulic Ram ST 4120

Cable, Assembly, Post 1, ST4120, 3.3 meter
Cable, Assembly, Post 2, ST4120, 6.2 meter
Cable, Assembly, Post 3, ST4120, 14.4 mete
Cable, Assembly, Post 4, ST4120, 15.5 metze

$937.24
$3,102.31
$2,954.58
$958.27
$4,134.65
$1,921.54
$69.66
$162.14
$202.69
$188.09
$235.11
$23.51
$282.13
$282.13
$352.66
$352.66
$145.93
$48.80
$167.86
$167.86
$366.77
$692.36
$510.76
$16.82
$288.12
$184.79
$179.42
$10,926.77
$679.65
$679.65
$348.66
$2,637.91
$306.30
$141.48
$95.63
$286.83
$286.83
$391.22
$391.22
$401.68
$401.68
$278.84
$3,751.16
$294.57
$336.89
$598.24
$521.67



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

41209165
41300104
41300105
41300123
41300130
41300150
41300225
41300300
41300301
41300302
41300303
41300304
41300305
41300310
41300315
41300441
41300600
41300610
41300710
41300715
41300730
41300738
41300739
41300742
41300743
41300750
41300760
41300761
41300775
41300776
41300779
41300785
41300786
41300787
41300788
41300789
41300793
41300799
41300946
41300947
41309036
41309037
41309136
41309147
41309150
41309155
41309160

41209165
41300104
41300105
41300123
41300130
41300150
41300225
41300300
41300301
41300302
41300303
41300304
41300305
41300310
41300315
41300441
41300600
41300610
41300710
41300715
41300730
41300738
41300739
41300742
41300743
41300750
41300760
41300761
41300775
41300776
41300779
41300785
41300786
41300787
41300788
41300789
41300793
41300799
41300946
41300947
41309036
41309037
41309136
41309147
41309150
41309155
41309160

Stop Clamp

Lock, Lower, Surface Mount, Skylift, Gen 1
Rod, tension, surface mount, gen 1

Finger Protection

Chain, Cable & Hose Carrier, 1925mm For ¢
Lock, Upper, Surface Mount, Skylift, Gen 1
Lock, Upper, Surface Mount, Skylift, Gen 2
Set of Cable Channel for SM Sky

Cable Duct L=1600mm For Skylift

Cable Duct Left For Skylift

Cable Duct Right For Skylift

Cable Duct Cover 700mm For Skylift

Cable Protection Cover For Skylift

Cable Duct Threshold For Skylift

Cable Duct 90D Elbow For Skylift

Ground Strip For Ramp

Cylinder, Hydraulic, Skylift, Surface Mount,
Cylinder, Hydraulic, Skylift, Surface Mount,
Console, SKY250-FM, 208/460v

Console, SKY250-SM, 208/460v

Frame, Stainless Steel, Console, Skylift
Panel, Front, Skylift Console, Washbay
Panel, Side, Skylift Console, Washbay
Cover, Locking, for Washbay Skylift Console
Plate, Locking, for Skylift Locking Cover
Frame, Console, Skylift, Painted

Panel, Front, Skylift Console, Painted
Panel, Side Plate For Skylift Console

Box, Sheet Metal Only For Skylift Control P:
Cover For Top Of Skylift Control Panel
Cable, Console to Motor, on Skylift

Cable, PCB to ISB, P2, on Skylift

Cable, PCB to ISB, P3, on Skylift

Cable, PCB to ISB, P4, on Skylift

Cable, Transformer to ISB, on Skylift

Cable, with plug, for lock release pneumati
Control box, Stainless Steel, Shell only, Skyl
Blocking (Skylift)

Spacer Bushing

Rail, Extension for LED Mounting, Left Side,
Rail, Extension for LED Mounting, Right Sid
Alum Profile, 1170m, For LED On Extension
Cable set, Control Box to Runway, for LED /
Transformer, for LED Lights w/Supply Volta
Connection set, for LED Array Lights w/Pow
Transformer, for LED Lights w/Supply Volta

$120.51
$6,684.18
$1,275.19
$48.21
$1,168.62
$3,180.24
$2,568.61
$254.73
$348.12
$380.80
$455.24
$206.71
$146.76
$951.16
$1,141.84
$348.12
$6,414.56
$6,414.56
$37,617.20
$37,617.20
$2,438.79
$951.16
$1,650.01
$341.47
$71.72
$1,232.79
$625.02
$625.02
$570.91
$348.12
$218.90
$117.56
$117.56
$117.56
$117.56
$117.56
$215.19
$2,390.94
$60.00
$97.99
$160.67
$160.67
$160.67
$241.70
$898.10
$1,692.77
$898.10



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

41309160
41309162
41309163
41309170
41310102
41310103
41310104
41310106
41310107
41310108
41310109
41310110
41310111
41310112
41310113
41310114
41310115
41310116
41310117
41310119
41310120
41310121
41310122
41310123
41310125
41310126
41310128
41310129
41310130
41310131
41310133
41310139
41310144
41310150
41310225
41310226
41310230
41310252
41310254
41310305
41310307
41310354
41310600
41310610
41310621
41310622
41310623

413.09.160
413.09.162
413.09.163
41309170
41310102
41310103
41310104
41310106
41310107
41310108
41310109
41310110
41310111
41310112
41310113
41310114
41310115
41310116
41310117
41310119
41310120
41310121
41310122
41310123
41310125
41310126
41310128
41310129
41310130
41310131
41310133
41310139
41310144
41310150
41310225
41310226
41310230
41310252
41310254
41310305
41310307
41310354
41310600
41310610
41310621
41310622
41310623

Transformer, Additional Power Supply for !
Set Motor Protection SKY 200/250-460V +
Set Motor Protection SKY 200-575V
Secondary Control Box, Sky Lift, Stainless Si
Ring, locking, 100mm

Axle Pin, Upper Cylinder, Skylift 70mm
Lock, Lower, Flush Mount, Skylift, Gen 1
Spacer, shim, black, 1.5mm, for Sky lifts
Ring, bearing, inner, 3mm, yellow

Ring, bearing, inner, 4mm, white

Spacer, shim, black, 5mm, for Sky lifts
Bearing, Block, 150mm x 115mm x 28mm,
Bearing Bushing, 60/55/30

Ring, bearing , outer, 2mm, black

Pin, Cylinder To Leg, Skylift

Bushing, Spacer, Skylift Leg, Stainless Steel
Bearing Bushing, SKY lift leg 85/80x50 mm
Short Axel (Rev E), SKY Lift

Plate, Locking , for 41310116 Axle, Gen 1 S|
Block, sliding , 80mm x 65mm x 25mm
Bearing, .065x45x25, Skylift leg to fixed foc
Sliding Block, Sky Lift Leg, Under Runway, 2
Support Bracket, Inclinometer, Stainless St¢
Finger Protector

Locking Plate

Plate, Spacer, for Hinge Plate on Skylift, 1m
Plate, For Cable Chain End

Grommet, for Flex Conduit at End of Skylift
Chain, Cable & Hose Carrier, 2240mm For F
Plate, Lock Stop, Gen 1

Bearing Ring, Skylift

Shim, Bearing block to runway, 1mm, Skyli
Pin, Cylinder To Leg, Skylift, Revised w/Not
Lock, Upper, Flush Mount, Skylift, Gen 1
Lock, Upper, Flush Mount, Skylift, Gen 2
Bearing, Pillow Block, Gen 2

Lock, Lower, Flush Mount, Skylift, Gen 2
Bolt, Special, for Lock Pawl on Sky Lift

Bolt, Special, Plunger on Skylift Lock Releas
Cover, Cable, Surface mt Skylift

Cover, Protection, Surface mt Skylift
Eyelet, Weldment, End Plate, 4-Post & SKY
Cylinder, Hydraulic, Skylift, Flush Mount, G
Cylinder, Hydraulic, Skylift, Flush Mount, Gi
Hose, Hydraulic, Skylift, thru Cable Chain, C
Hose, Hydraulic, Skylift, thru Cable Chain, C
Hose, Hydraulic, Skylift, thru Cable Chain, C

$404.36
$404.36
$404.36
$6,080.37
$36.44
$1,338.94
$6,684.18
$48.46
$68.31
$56.93
$49.18
$227.70
$80.36
$38.70
$1,630.82
$288.12
$298.85
$459.05
$12.75
$823.70
$302.85
$68.87
$80.36
$74.96
$37.48
$60.00
$40.16
$47.03
$1,576.72
$174.52
$39.66
$19.58
$1,630.82
$3,603.89
$2,482.19
$229.93
$2,802.52
$80.36
$57.21
$192.80
$182.11
$66.78
$6,631.99
$6,631.99
$562.35
$562.35
$562.35



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

41310624
41310625
41310626
41310627
41310628
41310629
41310651
41310652
41310653
41310654
41310655
41310660
41310662
41310663
41310665
41310671
41310672
41310673
41310674
41310676
41310677
41310678
41310679
41310680
41310681
41310682
41310683
41310684
41310710
41310911
41310912
41310913
41310914
41310916
41310918
41310920
41310925
41310930
41310961
41310962
41310975
41311920
41312910
41312920
41315690
41315902
41315903

41310624
41310625
41310626
41310627
41310628
41310629
41310651
41310652
41310653
41310654
41310655
41310660
41310662
41310663
41310665
41310671
41310672
41310673
41310674
41310676
41310677
41310678
41310679
41310680
41310681
41310682
41310683
41310684
41310710
41310911
41310912
41310913
41310914
41310916
41310918
41310920
41310925
41310930
41310961
41310962
41310975
41311920
41312910
41312920
41315690
41315902
41315903

Hose, Hydraulic, Skylift, thru Cable Chain, C
Hose, Hydraulic, Skylift, to Cylinder, Wash [
Hose, Hydraulic, Skylift, Console to Ramp, (
Hose, Hydraulic, Skylift, Console to Ramp, (
Hose, Hydraulic, Skylift, Console to Ramp, (
Hose, Hydraulic, Skylift, Console to Ramp, (
Plate, on lock release, gen 1

Block for bellow, gen 1

Clamping piece, for bellow, on top, gen 1
Bracket, for air de-aerator, gen 1

Clamping piece, for bellow, on bottom no
Bellows, on lock release, gen 1

Connector, air, for gen 1 lock release

Ring, support, bellow, gen 1

Clamping piece, for bellow, on bottom w/p
Hose, Hydraulic, Skylift, thru Cable Chain, C
Hose, Hydraulic, Skylift, thru Cable Chain, C
Hose, Hydraulic, Skylift, thru Cable Chain, C
Hose, Hydraulic, Skylift, thru Cable Chain, C
Hose, Hydraulic, Skylift, Console to Ramp, (
Hose, Hydraulic, Skylift, Console to Ramp, (
Hose, Hydraulic, Skylift, Console to Ramp, (
Hose, Hydraulic, Skylift, Console to Ramp, (
Hose, Hydraulic, Skylift, Gen 1, RED, 8000
Hose, Hydraulic, Skylift, Gen 1, GREEN, 850
Hose, Hydraulic, Skylift, Gen 1, YELLOW, 10
Hose, Hydraulic, Skylift, Gen 1, BLUE, 1100(
Hose, Hydraulic, Skylift, to Cylinder, 480mn
Inclinometer w/ pigtail cable, For Skylift & |
Axle, Hinge, for RROP

Plate, Cover, for RROP

Gear, Pinion, for RROP

Block, Guide, for RROP

Bolt, M16 x 100 Special for RROP, w/nut
Spring, Torsion, for RROP

Plate, Stop, for RROP, Painted

Hinge Plate, for RROP, Painted

Rack, Gear, for RROP

Arm, Positioning, Skylift, for J/B Parking
Bracket, Parking Position, Skylift for JB's
Set Axel Locking Plate, SKY Lift

Frame, Base, Pull Section for Modular Pit C
Frame, Base, for pit cover, 7 Meter Skylift
Drag bar, for pit cover, 7 Meter Skylift
Hose, Hydraulic, Skylift, Along Runway, Ger
Pin, Pivot, Skylift pit cover

Roller Bushing, Skylift Pit Cover

$562.35
$455.24
$562.35
$869.77
$562.35
$869.77
$151.64
$140.27
$91.09
$66.50
$68.31
$108.84
$94.72
$53.72
$136.62
$380.80
$380.80
$570.91
$570.91
$570.91
$842.46
$570.91
$842.46
$951.16
$1,005.81
$1,223.25
$1,277.35
$342.24
$1,658.11
$191.85
$98.75
$61.12
$94.04
$84.79
$199.85
$742.94
$1,105.00
$272.72
$58.37
$109.34
$417.74
$2,063.64
$5,009.62
$2,049.39
$940.43
$165.76
$146.76



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

41315905
41315925
41316690
41316701
41316702
41316703
41316704
41317365
41393671
41393672
41393673
41393674
41393676
41393677
41393678
41393679
41400770
41409155
41409160
41500108
41500109
41504002
41504003
41506250
41506901
42500103
42500105
42500106
42500107
42500108
42500109
42500110
42500112
42501001
42503400
42504001
42504003
42504300
42504400
42506002
42506050
42506250
42506901
42507250
42507911
42507921
42509005

41315905
41315925
41316690
41316701
41316702
41316703
41316704
41317365
41393671
41393672
41393673
41393674
41393676
41393677
41393678
41393679
41400770
41409155
414.09.160
41500108
41500109
41504002
41504003
41506250
41506901
42500103
42500105
42500106
42500107
42500108
42500109
42500110
42500112
42501001
42503400
42504001
42504003
42504300
42504400
42506002
42506050
42506250
42506901
42507250
42507911
42507921
42509005

Drawbar, for Mechanical Pit Covers on Skyl
Pullbar, Skylift Pit Cover

Hose, Hydraulic, Skylift, Along 12M Track, (
Cable, Inclinometer, Skylift, Console to Leg
Cable, Inclinometer, Skylift, Console to Leg
Cable, Inclinometer, Skylift, Console to Leg
Cable, Inclinometer, Skylift, Console to Leg
Fill In Piece For Jacking Beam On Skylift
Hose, Hydraulic, Skylift, Console to Ramp, (
Hose, Hydraulic, Skylift, Console to Ramp, (
Hose, Hydraulic, Skylift, Console to Ramp, (
Hose, Hydraulic, Skylift, Console to Ramp, (
Hose, Hydraulic, Skylift, Console to Ramp, (
Hose, Hydraulic, Skylift, Console to Ramp, (
Hose, Hydraulic, Skylift, Console to Ramp, (
Hose, Hydraulic, Skylift, Console to Ramp, (
Ebright Control Console, Upper, Skylilft
Connection Set, LED Lighting, Sky, Ebright
Transformer, Additional Power Supply for !
Block, Runway Stop & Gas Spring Mount, L
Block, Runway Stop & Gas Spring Mount, S|
Slide Plate, for ST4175 Drive on Ramp
Spacer for ST4175 Drive on Ramp

Cylinder, Hydraulic Ram ST4175

Seal Kit, Cylinder, ST4175

Cable Cover Straight

Shaft 686mm

Shaft 708 mm

Nut

Wedge

Gas Spring Support (Left)

Gas Spring Support (Right)

Housing

Roller, Guide Block, For 4250

Adjustment Screw

Slide block, for drive on ramp

Spacer

Stop Plate, Flip up, for Drive On Ramp
Wheel Stop, 4250 & Skylift

Hydraulic Hose

QOil Pipe For Ram On ST4250

Cylinder, Hydraulic Ram ST4250

Seal Kit, Cylinder, ST4250

Control Box, Primary ST 4250

Wire Harness 4175 Second Control Box
Wire Harness, RS485, Tandem Skylift
Ballaster Box Assembly 4100/4175/4250

$951.16
$1,956.99
$937.24
$467.56
$467.56
$467.56
$467.56
$114.08
$586.24
$667.10
$586.24
$667.10
$808.61
$950.12
$808.61
$950.12
$37,617.20
$37,617.20
$404.36
$201.72
$216.77
$56.24
$37.48
$5,436.08
$869.77
$212.08
$146.76
$342.24
$152.11
$108.73
$108.73
$108.73
$418.82
$250.12
$190.14
$429.53
$3.17
$806.31
$783.61
$244.76
$228.15
$6,849.46
$869.77
$12,448.87
$761.05
$363.20
$2,609.32



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

42509071
42527260
42527350
42527400
42529251
42547300
42549897
43500104
43505006
43505007
59000114
59000286
59000592
59001036
59001037
59001039
59001040
59002521
59002743
59002770
59002771
59002794
59002928
60201703
60203000
60203003
60203004
60203015
60203016
60203021
60700061
60700075
60700076
60700079
60700084
60700089
60700090
60700092
60700093
60700099
60700100
60700102
60700120
60700124
60700133
60700134
60700143

42509071
42527260
42527350
42527400
42529251
42547300
42549897
43500104
43505006
43505007
59000114
59000286
59000592
59001036
59001037
59001039
59001040
59002521
59002743
59002770
59002771
59002794
59002928
60201703
60203000
60203003
60203004
60203015
60203016
60203021
60700061
60700075
60700076
60700079
60700084
60700089
60700090
60700092
60700093
60700099
60700100
60700102
60700120
60700124
60700133
60700134
60700143

Cover, Lighting Transformer, 4175/4250
Cable, Harness, Solonoid Leads, 20 To 38 F«
Cable, Harness, Column 3, 20 To 38 Foot Tr
Cable, Harness, Column 4, 20 To 38 Foot Tr
Cable Set For 24V Lamp Kit For 4175 & 425
Cable, Harness, ST4250/4175 Col 2 (19, 26
Hardware Bag For Lighting Kit For 4175 & 4
Filling Plate For Jacking Beam On Skylift
Spring

Spring

Modification - Level Adjuster 1072 Lifts
Communication Cable, 21.5m Drive Over, E
Switch, Selector, 1072 NYTA
Control Box NYCT 1082

Control Box, Shell 1082 NYCT Empty Box Oi
Door Panel, NYCT With Lockout Including P
Power Box ST1082 3x220V

Cable, Harness, ST4600, Control Box to Pos
Secondary Control Box, Sky Lift, Stainless St
Remote Control, Sky, W/Key Lock, 15 mete
Rod, Torsion, special for ST1175
Removable metal ebright control cover ass
Alam, Factory Installed, Sky

Spring For "T" Handle Adjustable Fork

Gas Spring, 4 Post Ramp

Clamp For Gas Spring

See 60203021 :

Clevis, for Gas Spring on Diamond Lift

Pin, for Gas Spring on Diamond Lift

Gas Spring, 16KN, ST1175

Sticker, Stertil-Koni Name

Sticker, Capacity, 7200 Kg

Sticker, Capacity, 16,000Ibs

Sticker, User Instructions, Set-Ref Controls,
Sticker, Voltage, 3Ph x 230V

Sticker, User Instructions, Set-Ref Controls
Sticker, Address Label, "Stertil-Koni USA"
Sticker, "Risk of Electrical Shock"

Sticker, Warning

Sticker, Warning, 3-Headed Stand

Sticker, Capacity, 25000lbs

Sticker, Name, For 3-Headed Stand

Sticker, Operating Instructions ST4250
Sticker, Single/Tandem SelectorSwitch Insti
Sticker, "If Connected...."

Sticker, "Do Not Use"

Sticker, Capacity, 10,000 lbs

$117.33
$401.68
$244.32
$429.49
$264.78
$2,854.07
$63.55
$32.13
$130.68
$130.68
$1,064.47
$3,296.04
$1,114.53
$6,483.60
$1,152.25
$1,082.79
$4,887.12
$1,418.76
$717.29
$5,486.32
$864.03
$417.68
$467.56
$19.81
$951.16
$25.70
$1,071.14
$16.21
$6.09
$1,124.71
$39.66
$11.15
$23.02
$21.30
$3.24
$24.10
$24.10
$9.11
$9.11
$39.10
$19.81
$25.17
$47.13
$47.81
$12.75
$9.11
$23.02



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

60700145
60700146
60700149
60700150
60700157
60700189
60700193
60700200
60700201
60700203
60700206
60700211
60700217
60700220
60700222
60700223
60700226
60700233
60700238
60700239
60700240
60700247
60700251
60700252
60700256
60700258
60700259
60700265
60700266
60700267
60700268
60700269
60700271
60700272
60700273
60700274
60700279
60700281
60700282
60700297
60700304
60700308
60700311
60700313
60700317
60700318
60700319

60700145
60700146
60700149
60700150
60700157
60700189
60700193
60700200
60700201
60700203
60700206
60700211
60700217
60700220
60700222
60700223
60700226
60700233
60700238
60700239
60700240
60700247
60700251
60700252
60700256
60700258
60700259
60700265
60700266
60700267
60700268
60700269
60700271
60700272
60700273
60700274
60700279
60700281
60700282
60700297
60700304
60700308
60700311
60700313
60700317
60700318
60700319

Sticker, Capacity, 22,000 lbs

Sticker, "Amperage Power Supply Consumg
Sticker, User Instructions, 1055B, 1060B
Sticker, Capacity, 8800lbs, 1055 Baseframe
Sticker, Load Distribution ST4250

Sticker, "Qil Dry Piston Rod"

Sticker, "Once Desired Height Is......"
Sticker, Capacity, 8500 lbs, on Pelican Adpt
Sticker, Fault Codes, Freedom Lift

Sticker, Capacity, 18,000 lbs

Sticker, Reduced Capacity 12,000 #, For Fot
Sticker, User Instructions

Sticker, NYCT Power Box AMP Power Suppl
Sticker, User Instructions 1082 With Turtle
Sticker, 115 Volts

Sticker, Fuse, F3

Sticker, User Instructions Wireless Lift
Sticker, Capacity, 13,000 lbs

Sticker, Schematic For Wireless Lift
Sticker, Skylift Control Panel

Sticker, Loading Diagram, 33,000# Crossbei
Sticker, Amperage Power

Sticker, Operation, English

Sticker, Capacity, 30,000 lbs, ST4120
Sticker, Safety Instructions ALI/WLSIAO1
Sticker, Load Distribution

Sticker, Electrical Current

Sticker, Skylift, Underside Of Console Covel
Sticker, Logo for Skylift Leg,

Sticker, Logo for Skylift Console,

Sticker, Operation, 1082 Wireless

Sticker, Warning, for Foldable Stand
Sticker, Capacity, 78,000 lbs, Sky 250
Sticker, Caution, for Foldable Stand
Sticker, Load distribution, Skylift

Sticker, Power Current For Sky Lift

Sticker, Power consumption, ST2082
Sticker, Loading Diagram, Skylift

Sticker, Capacity, 62,400 lbs, Sky 250
Sticker, Warning, Skylift

Sticker, General Patent Alert

Sticker, Fault Codes, Diamond Lift

Tag, Hang, Oil Type, Yellow

Sticker, Service

Sticker, Behind Speed Control, Earthlift
Sticker, SK Earth Lift Globe

Sticker, SK Earth Lift

$43.93
$23.02
$17.86
$41.78
$26.79
$5.88
$8.93
$26.27
$102.02
$10.60
$53.56
$47.13
$12.75
$43.93
$5.11
$5.11
$76.06
$10.60
$39.66
$76.06
$14.60
$60.00
$98.55
$33.66
$33.66
$33.66
$35.70
$43.38
$9.73
$98.55
$65.35
$21.86
$8.56
$13.22
$37.31
$40.16
$25.77
$31.07
$35.28
$40.16
$24.64
$0.00
$32.64
$19.39
$27.49
$103.38
$164.57



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

60700320
60700330
60700331
60700333
60700336
60700337
60700338
60700339
60700340
60700352
60700355
60700357
60700377
60700378
60700385
60700390
60700391
60700396
60700409
60700410
60700415
60700416
60700420
60700421
60700432
60700463
60700500
60700526
60702001
60702002
60702003
60702004
60702005
60702006
60702008
60702011
60702012
60702013
60702014
60702023
60702024
60702025
60702026
60702033
60702034
60709001
60709002

60700320
60700330
60700331
60700333
60700336
60700337
60700338
60700339
60700340
60700352
60700355
60700357
60700377
60700378
60700385
60700390
60700391
60700396
60700409
60700410
60700415
60700416
60700420
60700421
60700432
60700463
60700500
60700526
60702001
60702002
60702003
60702004
60702005
60702006
60702008
60702011
60702012
60702013
60702014
60702023
60702024
60702025
60702026
60702033
60702034
60709001
60709002

Sticker, Earthlift Schematic

Sticker, Wireless Patent

Sticker, Capacity, 16,500 lbs

Sticker, Fault Codes, Freedom Lift

Sticker, Capacity, 20,000 Ibs

Sticker, Capacity, 26,000 lbs

Sticker, Capacity, 30,000 lbs, Freedom 2.30
Sticker, Amperage consumption, Freedom
Sticker, Capacity, 14,500 lbs, + warning, for
Sticker, Capacity, 18,500 lbs

Sticker, Instruction, Freedom Lift

Sticker, Patent, Battery Lift

Sticker, Column Name Plate, SK Freedom Li
Sticker, Capacity, 22,000 lbs, for Reducer Sl
Sticker, Operating Instructions, Ebright Con
Sticker, Blue, Wireless Ebright Control Pane
Sticker, Green, EarthlLift Ebright Control Pa
Sticker, FCC Warning Label

Sticker, Wiring Diagram, Wireless Ebright
Sticker, Wiring Diagram, Earthlift Ebright
Sticker, Capacity, Ag Adapter

Sticker, Warning, Ag Adapter

Sticker, Capacity, 18,500 Ib, for Foldable st:
Sticker, Wiring Diagram for FBA Lift
Sticker, Capacity, 14,000 lbs

Sticker, "...Equipped With a Wireless..."
Sticker, Patent Statement

Sticker, Wireless Patent
Sticker, ALl Member Label

Booklet, ALl "Lifting it Right" Safety Manua
Card, Safety Tips, ALI ST 10

Sticker, ALI, Uniform Warning, WL400W-Nc
Sticker, ALI, Uniform Caution, WL400C
Sticker, ALI, Safety Instructions, WL400S
ANSI/ALI ALOIM - Current Revision

Sticker, ALl, Uniform Warning, WL200W
Sticker, ALI, Uniform Caution, WL200C
Sticker, ALI, Uniform Instructions, WL200S
Quick Ref. Guide ALI/LP-G Vehicle Lifting Pc
Sticker, Set, ALI, WL400, W/C/S for Mobiles
Sticker, Set, ALI, WL200, W/C/S for Platforr
Sticker, Set, ALI, WL101, W/C/S for 2-Posts
Sticker, Ground Emblem

Sticker, Set, ALI, FR400, W/C/S for Mobiles,
Sticker, Set, ALI, WL200, W/C/S for Platforr
Sticker, Set for Battery Cabinet

Sticker, Set for Wireless Cabinet

$36.96
$25.17
$27.30
$102.02
$24.38
$27.30
$24.38
§7.95
$108.73
$27.30
$32.65
$5.11
$26.79
$32.13
$8.68
$80.36
$107.11
$8.68
$37.30
$37.30
$108.73
$108.73
$19.13
$37.62
$28.05
$8.11
$14.11
$22.39
$45.91
$7.62
$0.58
$6.78
$6.78
$6.89
$14.28
$45.91
$6.82
$21.09
$8.91
$66.32
$25.51
$22.97
$5.11
$66.32
$33.86
$313.70
$380.52



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

60709003
60709004
60709005
60709006
60709008
60709509
60730041
61001008
61001012
65002411
65002546
65002612
65003207
65003280
65003283
65003287
65003291
65003365
65003403
65003405
65003407
65003445
65003447
65003448
65003488
65003526
65003530
65003688
65012282
65012292
65012443
65012445
65012448
65012526
65012528
65016004
65025005
65025025
65025029
65025040
65025042
65025044
65025055
65025056
65025057
65025059
65025060

60709003
60709004
60709005
60709006
60709008
60709509
60730041
61001008
61001012
65002411
65002546
65002612
65003207
65003280
65003283
65003287
65003291
65003365
65003403
65003405
65003407
65003445
65003447
65003448
65003488
65003526
65003530
65003688
65012282
65012292
65012443
65012445
65012448
65012526
65012528
65016004
65025005
65025025
65025029
65025040
65025042
65025044
65025055
65025056
65025057
65025059
65025060

Sticker, Set for Earth Lift Cabinet

Sticker, Set for Wireless Ebright Cabinet
Sticker, Set for Ebright Earth Lift

Sticker, Set for Ebright Batt. Cabinet
Sticker, Set for Wireless Ebright Cabinet - S
Sticker, Caution, TTC only, Frn & Eng
Fuse-holder, Dinn Rail Mnt, 5x20 Fuse, 108
Clamp For Lifting Mobile Coloumn
Scraper Ring

Bolt, M10x50

Bolt, Hex Head, Gr 8.8, Plated, M16 x 140
Bolt, Hex Head, Gr 8.8, Plated, M20 x 65
Bolt, Hex Head, M8 x 25

Bolt, Hex Head, Plated, M6x8

Bolt, Hex Head, M6x12

Bolt, M6 x 20

Bolt, Hex Head, M6x30, DIN 933

Bolt, Hex Head, Gr 8.8, M8 x 25

Bolt, Hex Head, 10mm x 20mm, DIN 933
Bolt, Hex Head, 10mm x 25mm, DIN 933
Bolt, Hex head, Gr. 8.8, M10 x 35, Galv
Bolt, Hex Head, M12 x 25

Bolt, Hex Head, M12x30, DIN 933

Bolt, Hex Head, M12x35, Galv.

Bolt, M14 x 30

Bolt, Hex Head, 16mm x 25mm DIN 933
Bolt, For Base Leg Extend
Bolt, Tap, M24x60

Screw, M6 x 10, Allen Socket, Cap

Screw, Fillister Head, M6 x 35

Bolt, Allen Socket, M12 x 20,Gr 8

Screw, Counter Sunk, M12X25

Screw, 12mm x 35mm, Allen Socket cap he
Allen Head Screw M16x25

Bolt, Allen Socket, 16mm x 40mm

Bolt, Anchor, M10 x 130 w/ Flat Washer an
Screws, M6 x 12

Screw For KS2050

Bolt, Eye, M12, DIN 580

Bolt, M8 x 40

Screw, FHCS, M16 x 40

Bolt, Button Head, Allen Soc., Plated, M8x1
Bolt, Stud, M6 x 30

Bolt, Allen Socket, Button Head, M10 x 25
Screw, Flat Head, Hex Socket, M12 x 30
Bolt, Button Head w/ Flange, Allen Soc., Gr
Bolt, Round Head, M12x35, Hex Socket

$444.85
$259.37
$806.84
$269.24
$259.37

$13.00

$41.02

$1,168.62

$733.73
$5.01
$10.35
$36.96
$3.20
$4.28
$5.01
$3.65
$4.83
$3.65
$4.83
$4.83
$4.31
$5.88
$5.88
$5.88
$11.23
$11.79
$4.83
$42.33
$4.83
$4.93
$6.96
$6.96
$9.63
$21.42
$19.27
$30.77
$4.28
$40.16
$36.96
$8.03
$22.76
$5.35
$8.03
§7.50
$9.11
$9.11
$66.43



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

65025064
65025065
65025080
65025087
65025100
65025106
65025107
65025112
65025113
65025124
65025136
65030257
65034170
65034222
65034228
65045026
65050124
65050132
65050134
65050140
65050144
65050903
65051026
65051028
65051036
65051040
65051042
65052920
65052921
65052926
65055014
65055015
65055018
65055019
65055021
65055023
65055024
65055028
65055031
65055302
65055306
65055414
65055708
65055709
65058018
65058024
65058028

65025064
65025065
65025080
65025087
65025100
65025106
65025107
65025112
65025113
65025124
65025136
65030257
65034170
65034222
65034228
65045026
65050124
65050132
65050134
65050140
65050144
65050903
65051026
65051028
65051036
65051040
65051042
65052920
65052921
65052926
65055014
65055015
65055018
65055019
65055021
65055023
65055024
65055028
65055031
65055302
65055306
65055414
65055708
65055709
65058018
65058024
65058028

Bolt, M20x60

Bolt, Allen Soc, M16 x 40, Grade 12.9, DIN ¢
Screw M12x35 Countersunk

Screw, M4x10

Bolt, For Rear Cover ST1082

Bolt, Shoulder, for lock pawl on fork extens
Screw, M6 x 12, Flat Head, Countersunk, DI
Nut, Flush M6

Washer, Flush Spring, M6

Screw, Flat Head, Hex Socket, M12 x 20
Screw, Button Head Cap Screw, M6 x 10, El
Screw, M5 x 30, Slotted, Pan Head, Plated
Screw, Phillips, Panhead, M3 x 16
Screw M4 x 12

Screw M4 x 30

Screw, for Hinge Strap on Control Box, Free
Nut M4 DIN 934

Nut, Hex, M8

Nut, Hex, 10mm, Galv

Nut, Hex, 16 M

Nut M 20

Nut, hex, 16M

Nut, M5, nylock, plated

Nut, M6, Nylock, Plated

Nut, Hex, Nylock, M12

Nut, Hex, Nylock, M16

Nut, Hex, Nylock, M18

Nut, Hex, Flange, M5

Nut, Hex, flanged, M3

Nut, Hex, Flange Nut, M6, Ebright Control E
Washer M5 DIN 127B

Washer Flat 6mm Old# 1038.06.0064
Washer, Flat, Plated, M8

Washer, Flat, 10mm, Galv
Washer, M12, DIN 125A

Washer, M14

Washer, Flat, M16, Plated

Washer A20

Washer, M24

Washer, Flat, M5

Washer, Fender, Plated, M8, x M27
Washer For KS2050

Washer, Fender, M6, M25 OD
Ring For KS2050

Washer, Split Lock, Plated, M6

Washer, Spring, M8

Washer

$40.16
$20.36
$13.39
$4.93
$4.28
$5.35
$44.32
$15.54
$1.60
$17.39
$9.41
$4.28
$1.42
$4.28
$4.83
$17.86
$4.83
$4.28
$4.31
$4.83
$8.03
$75.37
$4.28
$4.83
$3.75
$5.35
$4.70
$1.31
$1.42
$0.46
$4.83
$4.83
$4.83
$4.31
$4.83
$5.35
$4.83
$4.28
$7.50
$4.93
$4.28
$4.83
$4.66
$4.83
$4.10
$4.10
$4.83



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

65058032
65058044
65062024
65062028
65062036
65062041
65070030
65070036
65077144
65077190
65099029
65099035
65212532
65213257
65213367
65213534
65214358
65225007
65258228
65261068
65263001
65263006
65263009
65270001
65270002
65277243
65302259
65303285
65303528
65303538
65303608
65312532
65313534
65325005
65325021
65325080
65350140
65350144
65352922
65355014
65355024
65358044
65370036
65455001
65455002
65725005
65725009

65058032
65058044
65062024
65062028
65062036
65062041
65070030
65070036
65077144
65077190
65099029
65099035
65212532
65213257
65213367
65213534
65214358
65225007
65258228
65261068
65263001
65263006
65263009
65270001
65270002
65277243
65302259
65303285
65303528
65303538
65303608
65312532
65313534
65325005
65325021
65325080
65350140
65350144
65352922
65355014
65355024
65358044
65370036
65455001
65455002
65725005
65725009

Washer, Lock, M12
Washer, lock, split ring, M20

Circlip / Cap

Retaining Rings (E Clip) Linkage For Pallet J:
Circlip 708

Circlip A24 DIN 679 Old # 1038.34.02.40
Washer, Lock, 16MM, Galv., (Special)
Washer, Lock, M16, Plated

Roll Pin 5x50

Roll Pin 8 x 40 DIN 1481

Set Screw M4 x 4 DIN 916

Screw, Spring Loaded, For Control Box Cov:
Screw, Allen Socket Cap, M16 x 50, 8.8, Pla
Screw M5x30

Screw, Countersunk M8x30

Screw, Flathead, Countersunk M16x60 Alle
Screw, M8 x 8, Set, Cup Point, S/S

Bolt, Shoulder, M10 (12) x 16

Washer

Locking Ring

Spring Ring SB55 0035

Ring, Retainer, ST1055 & ST1060 Cylinder
Retaining Ring For 1082 Lift Cylinder
Washer, non-metallic, concave, M20, for S
Washer, non-metallic, convex, M20, for ST«
Roll Pin 12 x 30

Bolt, Hex Head, M5 x 40

Bolt, Hex Head, M6x16, 8.8, Galv

Bolt, Hex Head, M16x30, Galv

Bolt, Hex Head, M16x80, Galv

Bolt, Hex Head, M20x45, Galv.

Screw, Allen Socket Cap, M16 x 50, 8.8, Gal
Bolt, Flat Head Allen Soc, Galv, M16x60, Sk
Bolt, Button Head Cap, M6x12

Bolt, Round Head, M12x35, Hex Socket, Ga
Screw, M12 x 35, Countersunk Flat Head, G
Hexagonal Nut, M16, Galv. for Sky Lift Exte
Hexagonal Nut, M20, Galv., for Sky Lift Exte
Nut, Hex, Nylock, M12, Galvanized
Washer, M5

Washer, Flat, M16, Galv

Washer, Lock, M20, Galv., for Sky Lift Exter
Washer, Lock, M16, Galv, for Sky Lift Exten.
Copper Sealing Ring

Copper Sealing Ring Use 65455001
Rollpin, 6 X 40

Bolt, M10x20, For Retractable Wheel

$4.28
$4.28
$4.83
$4.83
$6.96
$6.36
$11.23
$0.91
$5.88
$6.96
$5.88
$12.86
$24.26
$3.20
$2.68
$11.79
$5.88
$37.48
$4.83
$14.46
$9.11
$27.30
$27.30
$34.82
$30.98
$11.23
$6.12
$5.64
$12.21
$32.92
$21.86
$24.26
$13.22
$5.31
$31.84
$36.36
$5.92
§7.29
$4.70
$4.23
$3.76
§7.29
$5.47
$4.28
$4.53
$17.67
$22.50



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

65725014
65725015
65725016
65725019
65750136
65751036
65755021
65760012
65760050
65762024
65762029
65762030
65762037
65870011
65899011
65900106
65999013
66002012
66002015
66003202
66101254
66101261
66101263
66101277
66103907
66103909
66103920
66103921
66103925
66103926
66103927
66103928
66201003
66201004
66201034
66201035
66201039
66201046
66201055
66201056
66201085
66201102
66201111
66201153
66201169
66700150
66701031

65725014
65725015
65725016
65725019
65750136
65751036
65755021
65760012
65760050
65762024
65762029
65762030
65762037
65870011
65899011
65900106
65999013
66002012
66002015
66003202
66101254
66101261
66101263
66101277
66103907
66103909
66103920
66103921
66103925
66103926
66103927
66103928
66201003
66201004
66201034
66201035
66201039
66201046
66201055
66201056
66201085
66201102
66201111
66201153
66201169
66700150
66701031

Bolt, Shoulder, M12 x 50, Skylift pit cover
Bolt, Button Head, M12 x 25

Screw, M8 x 12, DIN 7991, Skylift Pit Cover
Bolt, Shoulder, M12 16x26

Nut, Hex, M12, DIN934, S/S

Nut, Hex, Nylock, M12, S/S
Washer, M12, DIN 125A, S/S

E" Clip For Pin on Retractable Wheels

Clip, Retainer, for Bottom of Thread in Pad
Retaining Ring No 9 (E Clip) 1082 Retract W
Circlip

Circlip, # 15

Circlip

Locking Ring Special M6

Plastic Cover 80mm

Ring, Rubber, (washer), Ebright Control Bo»
Column Shrink Wrap/PE Hose

Wheel For Axlestand & Cross Beam

All Steel Wheels For 3-Head Stand & Crossk
Lock, With Key, for Skylift locking cover
Distance Tube Spacer Pin (Long) 2070/208:
Distance Tube (Short) Spacer Pin (short) 20
Distance Tube

Spacer, M6 x 50, Ebright Control Box
Bushing, For Retractable Wheel Mech. on ¢
Bearings For Retractable Wheels

Bearing Bushing, 60/70/45

Bearing Bushing, 60/70/50

Bushing, Skylift Pit Cover, IGUS GFM-1618-
Bushing, Skylift Pit Cover, IGUS GSM-1618-
Bushing, Skylift Pit Cover, IGUS GSM-1618-
Washer, Thrust, Skylift Pit Cover, IGUS GTN
Skiffy Distance Brush

Knob For KS2050

Rubber Lifting Block STO035

Pressure Pin Skiffy 091 006

Nut Cap M20

Bumper, Rubber, for RROP

Distance Bush 12.8

Spacer 6.3-15-15
Rubber Plug Locking Pawl

T" Handle For Adjustable Forks

Edge Protecter For Skylift Cable Tray

Plug, Plastic, to seal pin # 41310116
Clamp, to Fasten LED Array Lights

Label, 8,800lbs ST 1060FS Model

Tube, Aluminum Conduit, 3100mm, 2-Post

$320.82
$9.34
$3.71
$223.34
$9.63
$8.47
$5.64
$14.46
$103.38
$12.86
$6.44
$14.46
$23.02
$4.83
$49.81
$0.39
$326.17
$184.79
$175.97
$430.37
$19.27
$23.02
$45.01
$9.21
$19.75
$54.62
$244.76
$184.53
$40.70
$41.31
$40.70
$43.38
$8.56
$23.02
$190.14
$5.88
$9.63
$67.81
$8.56
$7.50
$6.96
$92.64
$65.35
$13.66
$28.22
$39.62
$761.05



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

66701032
66701033
66701034
66701040
68002518
68021026
68030527
68030729
68031224
68033221
68033226
68033421
68033426
68034221
68034226
68034421
68034426
68035024
68035122
68035629
68035927
68036024
68036122
68036127
68036629
68036729
68036827
68036923
68036927
68036929
68037927
68038127
68038423
68038427
68038429
68039003
68039004
68039005
68039006
68039008
68039009
68039011
68039013
68039014
68039018
68039019
68039021

66701032
66701033
66701034
66701040
68002518
68021026
68030527
68030729
68031224
68033221
68033226
68033421
68033426
68034221
68034226
68034421
68034426
68035024
68035122
68035629
68035927
68036024
68036122
68036127
68036629
68036729
68036827
68036923
68036927
68036929
68037927
68038127
68038423
68038427
68038429
68039003
68039004
68039005
68039006
68039008
68039009
68039011
68039013
68039014
68039018
68039019
68039021

Elbow, aluminum conduit, 2-post overhead
Coupling, Aluminum Conduit, 2-Post Overh
Bracket For Aluminum Socket

Alum Profile, 4860mm, For LED

Comm Cable, Bulk, for Ebright Battery Lifts,
Hydraulic Unit, ST4120 Euro, 3x230/400V 5
Hydraulic Unit, ST1073S, ST1082S 3-Phase .
Hydraulic Unit, Euro, 3-phase, 220-400V, 5(
Hydraulic Unit, Skylift, 3 phase, 208-460V, :
Hydraulic Unit, Freedom Lift - SK2.16 - 230,
Hydraulic Unit, Freedom Lift - SK2.20 - 230,
Hydraulic Unit, Freedom Lift - SK2.26 - 230,
Hydraulic Unit, Freedom Lift - SK2.30 - 230,
Hydraulic Unit, Freedom Lift - SK2.16 - 230,
Hydraulic Unit, Freedom Lift - SK2.20 - 230,
Hydraulic Unit, Freedom Lift - SK2.26 - 230,
Hydraulic Unit, Freedom Lift - SK2.30 - 230,
Hydraulic Unit, ST4120, 1-Phase 208
Hydraulic Unit, ST1055, 1-Phase x 208/230
Hydraulic Unit, ST1060C, 1-Phase, 208V
Hydraulic Unit, Mobiles, 4175, 4250, 208/2
Hydraulic Unit, ST4120, 3-Phase 208/460
Hydraulic Unit, ST1055B, 3ph-208V, 1.1 cc,
Hydraulic Unit, ST1060, 3PH 260V, 1.1 CC, .
Hydraulic Unit, ST1060C, 3-Phase 208/460\
Hydraulic Unit, ST1060S, 3-Phase 208/460\
Hydraulic Unit, 1073C, 3-Phase x 208/460,
Hydraulic Unit, ST1064S, 208/460V, 3-Phas
Hydraulic Unit, Mobiles, 4175, 4250, 208/4
Hydraulic Unit, ST1100, 3-Phase 208/460V,
Hydraulic Unit, Mobiles, 4175, 4250, 575V,
Hydraulic Unit, Earthlift, 1.2cc, 3X24VAC, 3.
Hydraulic Unit, ST1064, 24V, 1.2cc, 230 bar
Hydraulic Unit, ST1075, 1082, 1085, Batter
Hydraulic Unit, ST 1100 Batt, 24 V, 1.2cgc, 4.
replace with 68039011 OQil Tank 7L, Includ
Cap, Breather, on Plastic Reservoirs

Cap, Drain, on Plastic Reservoirs

Pressure Relief Valve 220 Bar

Pump 1.1 cm3/rev Fits Multiple Mobiles
Clamp, Band, for Plastic Reservoirs

Oil Tank 10L, Plastic, for Most Mobiles
Relay, Motor, Battery Lifts

Motor, 24 VDC Battery Lifts

Valve Block Assembly 4.5 L/Min

Valve Block Assembly 6.0 L/Min
Reservoir, 18 Ltr, For ST4120

$478.26
$184.79
$24.10
$399.69
$35.64
$8,969.77
$5,109.89
$5,332.77
$11,705.08
$6,686.64
$5,381.99
$5,490.70
$4,902.41
$5,300.13
$6,260.41
$5,490.70
$4,902.41
$9,023.89
$6,849.46
$4,637.56
$5,109.89
$8,915.15
$5,289.32
$5,289.32
$3,790.13
$5,870.97
$4,756.41
$5,327.36
$5,327.36
$4,382.95
$5,327.36
$6,904.07
$6,849.46
$6,849.46
$6,849.46
$233.50
$30.53
$40.16
$319.34
$1,304.64
$26.32
$348.12
$462.20
$2,745.34
$704.37
$741.52
$1,643.74



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

68039022
68039023
68039027
68039028
68039029
68039030
68039033
68039035
68039036
68039037
68039039
68039040
68039043
68039047
68039048
68039049
68039050
68039052
68039053
68039056
68039057
68039058
68039059
68039062
68039063
68039064
68039067
68039074
68039077
68039079
68039080
68039081
68039082
68039092
68039106
68039126
68039158
68049008
68049013
68049014
68049017
68055226
68055726
68056226
68056729
68059004
68059014

68039022
68039023
68039027
68039028
68039029
68039030
68039033
68039035
68039036
68039037
68039039
68039040
68039043
68039047
68039048
68039049
68039050
68039052
68039053
68039056
68039057
68039058
68039059
68039062
68039063
68039064
68039067
68039074
68039077
68039079
68039080
68039081
68039082
68039092
68039106
68039126
68039158
68049008
68049013
68049014
68049017
68055226
68055726
68056226
68056729
68059004
68059014

Motor, 3 x 208-460 50 Hz, ST 4120 Europe:
Motor, 3 x 208-460 60 Hz, ST 4120

Motor, 3Ph X 208/460V 60 Hz, Sky Lift
Motor, 575V 9 Kw 60hz, Skylift

Motor, 24VAC, 3400 RPM, Earthlift
Manifold, For ST1072/1082 Hydraulic Unit
Reservoir, 75L, For Skylift

Pump, Hydraulic, Dual Assembly, Sky Lift
Valve, Pressure Relief, Set at 240 Bar for Sk
Valve, 2/2, NC (inc. Solenoid Coil) For Skylif
Valve, Flow Control, 7.3L/min

Valve, Flow Control, 4.2 |/min, Skylift
Valve, Pressure Relief, 4200psi, ST1100
Pump, 1.2cm3, Earthlift hydr units

Valve, Lowering, Earthlift ** use 68308005
Valve, Flow Control, 6L/M Earthlift

Valve, Pressure Relief, 3800 # Earthlift
Motor, 230/460V, Freedom 2-Post

Motor, 575V, Freedom 2-Post

Reservoir, QOil, 2.6 gal, Plastic, Freedom 2.1
Reservaoir, Qil, 4.2 gal, Metal, Freedom 2.2¢
Valve, Pressure Relief, Freedom Lift

Valve, Flow Control, Lifting, Freedom Lift
Valve, Lowering, Freedom Lift

Coil, Solenoid, for 68039062 valve, Freedor
Speed Sensor, Earthlift Motor

Valve, Flow Control, Lowering, Freedom Lif
Filter, Return, 4 Micron, Skylift

Manifold, Complete w/all Valves, Skylift
Manifold, Complete w/all Valves etc, ST41:
Sight Glass, Qil Level, for Skylift Qil Tank
Tube Kit for Mobile Col Pump Unit, w/ Filte
Flange, for 68039027 Skylift motor mount
Reservoir, Oil, 3.9 gal, Plastic, Freedom 2.1
Flange, motor end, skylift

Valve, Flow Control, 2.0 Ltr/Min, Freedom
Valve, Flow Control, 1.4 Ltr/Min, Freedom
Filter, suction, ST4120, ST4100, ST2082
Valve, Flow Control, 9.0 I/min, 2070-2082
2/2 Lowering Valve 2-Post Lift
Return Filter 2-Post Lift

Hydraulic Unit, SK2070, Single Phase
Hydraulic Unit, ST2082, Single Phase
Hydraulic Unit, SK2070, 3PH 208/460
Hydraulic Unit, 2082 3 x 208/460V

Valve Block Assembly ST4100

2/2 Correction Valve 2-Post Lift

$5,055.28
$5,191.30
$5,490.70
$7,310.58
$3,052.77
$1,848.25
$1,480.85
$2,115.97
$521.67
$1,304.64
$256.47
$288.12
$342.24
$1,581.23
$1,232.33
$615.92
$788.37
$3,213.44
$2,567.66
$450.95
$535.58
$615.92
$358.83
$964.04
$337.41
$1,679.54
$163.24
$353.47
$4,973.19
$4,552.37
$294.57
$428.46
$1,673.67
$450.95
$1,673.67
$245.17
$282.13
$163.34
$250.64
$815.69
$136.03
$6,251.73
$6,534.90
$8,208.75
$5,354.65
$1,386.06
$815.69



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

68059015
68059021
68059028
68059029
68059032
68079003
68228000
68228005
68230004
68308005
68308009
68308013
68500916
68510124
68510911
68512140
68515402
68515502
68515702
68575916
68700019
68700118
68700410
68700418
68700422
68700450
68700451
68701105
68701804
68702207
68702213
68703004
68703104
68709114
68709213
68790017
68790037
68900000
68900002
68900009
68900043
69002506
69002507
69002510
69061021
69061022
69061023

68059015
68059021
68059028
68059029
68059032
68079003
68228000
68228005
68230004
68308005
68308009
68308013
68500916
68510124
68510911
68512140
68515402
68515502
68515702
68575916
68700019
68700118
68700410
68700418
68700422
68700450
68700451
68701105
68701804
68702207
68702213
68703004
68703104
68709114
68709213
68790017
68790037
68900000
68900002
68900009
68900043
69002506
69002507
69002510
69061021
69061022
69061023

Solenoid Coil, 24V

Reservoir 12.1 2070

Motor, 3Ph 208-240 V, ST2070 / ST2082
Motor, 1Ph x 208-240 Volt, 2070 / 2082
Motor, 575V, ST2070

Motor, 460 ECO, L-Prom

Hose Burst Valve For SK2082

Hose Burst Valve

Relief Valve, ST1065, Old Version

2/2 Valve, With Man. Adjustable (Excl. Sole
do not use, wrong # provided by BV

2/2 Valve NC (ex. Solenoid)

Scraper Ring 0035 Lift

O-Ring 12.42x1.78

O-Ring 110.72x3.53

O-Ring 14x1.78 80

O-Ring 40 mm x 2 mm

O-Ring, 50 x 2 - 32706800 Cylinder

O-Ring 070 x 2.5 For 32706800 Cylinder
Bearing Ring 0035
Coupling, 12S, Comp X Comp

Fitting, Elbow, 10S Male x 10S Male
Adapter GE10

Coupling GE 10-PL/R

Straight Coupling

Union GE10 PSR

Straight Adapter

Coupling WSV 15-PL

Adapter, Male X Union Nut

Adjustable Coupling 2070

Banjo Coupling. 90°, ST4175, Skylift Cylinde
Adjustable Elbow

Hydraulic "T" Adaptor

Elbow, WSV 10 PS Stainless Steel, Wash Ba
Coupling, Banjo, 90°, S/S, Wash Bay
Adapter, 1/2"-1/4", for weight transducer |
Connector, Pressure transmitter, for Earthl
Screw, Air Bleed

Oil, For Guide Bush, ST0035, 1 Liter, Gliss-G
Hydraulic Oil, BIO, 1 Liter

Transmitter, Pressure, for Weight Display
Flat Cable (Long) ST1055

Flat Cable Assembly (Short) - ST4175
Cable, Assembly Emergency Stop

90° Fitting For Wire Loom On 4175 & 4250
Conduit, Flexible, 28mm dia, in 1 meter inc
Straight Fitting Wire Loom 4250

$277.43
$450.95
$6,143.02
$4,420.02
$4,783.74
$2,037.70
$163.34
$184.79
$255.48
$1,293.93
$2,661.88
$924.40
$190.14
$9.11
$25.70
$9.63
$376.17
$95.32
$108.73
$244.76
$43.93
$74.47
$23.02
$42.83
$36.96
$43.38
$35.35
$108.73
$43.38
$119.87
$136.03
$60.00
$124.79
$321.35
$830.14
$52.49
$215.19
$25.70
$108.73
$121.91
§733.73
$114.08
$76.06
$86.76
$174.06
$189.36
$86.76



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

69061046
69062008
69062034
69062056
69062061
69063003
69063005
69090015
69090050
69090053
69090054
69090100
69090101
69090102
69090103
69090107
69090216
69110001
69120001
69120016
69120017
69120018
69120019
69120020
69120025
69120026
69120029
69120030
69120035
69120039
69120043
69120044
69120045
69120053
69130009
69141001
69141002
69141009
69141010
69141011
69141012
69141014
69141025
69141030
69141031
69141039
69141041

69061046
69062008
69062034
69062056
69062061
69063003
69063005
69090015
69090050
69090053
69090054
69090100
69090101
69090102
69090103
69090107
69090216
69110001
69120001
69120016
69120017
69120018
69120019
69120020
69120025
69120026
69120029
69120030
69120035
69120039
69120043
69120044
69120045
69120053
69130009
69141001
69141002
69141009
69141010
69141011
69141012
69141014
69141025
69141030
69141031
69141039
69141041

Conduit, Flexible, 48mm dia, 1 Meter Long
Cable Gland M20x1.5 22052ull

Nut, Plastic, for M25 Cable Gland

Cable Gland M25x1.5 22553um3x6

Cable Gland M25x1.5 22553um2x4

Cable Gland, M20 x 1.5 x 1 - 6 mm Cable Si:
Cable Gland, With Nut, M32 x 1.5 x 13 - 20
Plug, Cable End For Solenoid Valves Etc
Grommet 2790 Type 2 (Part Of Qil Pipe)
Plug

Grommet

Connector, Base, 1065 Communication Cak
Connector Internal (Female) 1065 Commur
Connector Internal (Male) 1065 Communic
Connector Housing, Cable End 1065 Comm
Connector On Control Box 1082 Battery Co
Plug, Cable End For ISB harnesses

Switch, On/Off for Lighting on SK4070
Switch CA10 A 291-500E Kraus

Switch, Main "E" & "B" Mobiles And 4-Post
Knob, Main Switch (Yellow)

Emergency Stop Button Flat Mushroom, 4-
Holder, Emergency Stop Button Flat Mushr
NC Contactor, For Emergency Stop Flat Mu
Switch, Main, 2070

Switch, Main, Battery Lifts

Holder & 2 Contactors for E-Stop, Multiple
Switch

Switch, Main, Skylift, ECO & Diamond
E-Stop, replaced by 69120018A

Switch, Main, ebright-superior

Relay, Main safety, ebright-superior

Relay, Ebright-Superior, Normally Open
Relay, Ebright-Superior, Normally Closed
Relay, Motor safety, ebright-superior
Button, Push, w/Blk Insert
Holder For 0035 Button
Pushbutton Type 14

Lamp Holder

Yellow Multi LED

Switch, Main, ST 1065 Primary Box

use # 69141177 Contactor, N/O, Siemens
Switch, Main, ST 1072

Button, Push, w/lamp holder & clear lens ir
Lamp For 0035

use # 69141170 Button, Push, Sky lift cons
Contactor, N/C, For Emergency Stop - Used

$155.17
$22.97
$3.02
$24.10
$8.03
$17.39
$22.32
$25.51
$16.07
$27.04
$11.74
$119.44
$130.68
$130.68
$212.08
$296.81
$4.87
$260.83
$257.08
$239.41
$114.08
$190.14
$97.99
$97.99
$570.91
$288.12
$196.02
$227.70
$1,223.25
$430.37
$229.54
$459.05
$255.03
$255.03
$459.05
$81.41
$36.77
$212.08
$108.73
$43.38
$532.91
$53.04
$570.91
$81.41
$12.31
$156.63
$70.70



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

69141050
69141051
69141052
69141053
69141055
69141056
69141061
69141080
69141116
69141122
69141124
69141125
69141127
69141173
69141177
69141178
69141180
69141184
69151002
69151020
69151021
69151026
69152004
69152006
69152008
69153002
69153003
69153004
69154001
69154003
69154004
69156009
69156011
69156012
69156016
69156025
69171000
69171024
69190014
69190016
69190017
69190018
69190023
69190024
69190029
69190056
69190061

69141050
69141051
69141052
69141053
69141055
69141056
69141061
69141080
69141116
69141122
69141124
69141125
69141127
69141173
69141177
69141178
69141180
69141184
69151002
69151020
69151021
69151026
69152004
69152006
69152008
69153002
69153003
69153004
69154001
69154003
69154004
69156009
69156011
69156012
69156016
69156025
69171000
69171024
69190014
69190016
69190017
69190018
69190023
69190024
69190029
69190056
69190061

Switch, Main, Superior Controls

Switch, Main, On NYCT 1082 Power Box
Knob For Standard Main Switch # 6914102!
Knob For NYCTA Main Switch # 69141051 \
Push Button Replacement Set

Switch, Main, Freedom 2-Post

Emergency Stop Button SEE 69141061A
Switch, Kit, W/ Switch, Holder & Contactor:
Tool For Push Button Removal

Switch, Rotating, 2-Pos, Less Contactors, Si
Lens, w/ Holder, Red, for LED Lamp Ass'y
Lamp, LED, for 69141124 & 69141127, Pilo
Lens, w/ Holder, Green, for LED Lamp Ass'y
Switch, Rotating, 3-Pos, w/ Key, Less Conta
Contactor, N/O, Schneider

Contactor, N/C, For Emergency Stop - Used
Contactor, Dual, N/O + N/C, Schneider
Holder for Contactor, Schneider

Relay, Safety

Relay, Motor Starter, Ebright Diamond, EC(
Relay, Motor Starter, Ebright Sky

Main Safety Relay Skylift

When Gone, Use 69152006 Safety Relay
Relay, Magnetic, Motor Starter

Relay, Magnetic, Freedom 2-Post

Thermal Relay (230V-21A)

Thermal Relay 400V-13.5A Including 3RU11
Thermal Relay (575V-8,5A)

Main Safety Relay

Main Safety Relay

Superseded by 69151026 Main Safety Rela
Safety Relay

see 69156011A Relay For 1082 Power Box
Socket, Dinn Rail Mount, for Relay 691560
Relay For 1082 Power Box, 11 pin

Relay, w/ Din Rail Base For Lighting on Ebri
Switch; 188 U1 AV Bernstein

Switch, Limit ; Bernstein For P/J Interlock O
Base, On Cabinet, Ebright Comm Cable & R
Connector, Internal, Female, 4 Pin, Comm (
Connector, Internal, Male, 4 pin, Comm Cal
Cover, Dust, Ebright 24 volt comm cable &
Connector, Housing, Cable end, Ebright 24
Connector, Female, 8 pin, for Ebright Remc
DO NOT USE

Plug, 2-Wire, Lighting to PCB on 69900145
Comm Connector Housing, Cable End, Ebrig

$570.91
$505.59
$570.91
$195.48
$907.89
$462.20
$435.71
$191.95
$16.96
$228.15
$42.90
$47.81
$42.90
$228.15
$53.04
$70.70
$53.04
$16.47
$239.41
$591.83
$940.43
$1,667.38
$308.09
$380.80
$462.20
$500.23
$500.23
$500.23
$733.73
$924.40
$1,712.23
$380.80
$152.11
$44.45
$152.11
$77.79
$364.18
$250.12
$33.20
$26.79
$27.84
$47.53
$46.92
$183.64
$51.02
$16.47
$91.09



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

69190062
69190063
69190064
69202004
69202008
69202009
69202031
69203001
69205006
69206004
69206010
69206011
69206012
69206014
69206015
69206016
69206020
69206021
69206024
69206026
69206102
69206402
69206403
69302016
69302020
69451400
69451420
69481501
69500007
69500009
69500010
69500012
69500018
69500019
69500020
69500023
69500024
69500104
69500204
69500205
69500301
69540007
69540009
69601101
69601102
69601104
69601211

69190062
69190063
69190064
69202004
69202008
69202009
69202031
69203001
69205006
69206004
69206010
69206011
69206012
69206014
69206015
69206016
69206020
69206021
69206024
69206026
69206102
69206402
69206403
69302016
69302020
69451400
69451420
69481501
69500007
69500009
69500010
69500012
69500018
69500019
69500020
69500023
69500024
69500104
69500204
69500205
69500301
69540007
69540009
69601101
69601102
69601104
69601211

Comm Connector Base, Ebright-Superior
Comm Connector Insert, Female, Ebright-Si
Comm Connector Insert, Male, Ebright-Sup
Acoustical Alarm

Acoustical Decent Alarm

Acoustical Decent Alarm In Battery Lifts & ¢
Acoustical Alarm, Ebright Control Box
Battery Cond Meter

Intrinsic Barrier For Skylift

Fuse 200mA For 1082

Fuse 125 mAT

Fuse 500 mAT

Fuse 3, 15 AM

Fuse 1A Slow 250V

Fuse 10A Slow

Fuse 1A Slow

Fuse, Class CC, 1/4 Feraz., 460/575 V
Fuse, Class CC, 1/2 Amp, 208/230 V
Fuse 5A, Type CC

Fuse, 1 amp, type CC

Fuse 200A

Fuse Holder, Dinn Rail Mount Type CC Fuse
Fuse Holder 1082 Battery

Connector, 3-Prong Panel Mount Power Su
Latch For Power Box Used On NYCTA Lifts
Solenoid, Lock Release, Mobile Cols
Solenoid, Lock Release, ST4120, ST4070
Solenoid 24 VDC For Lowering Valve
Transformer 24V 230/400/460/575V
Transformer, ST1065 230V Letkes 12, circu
Transformer ST1065 460V Letkes 12, circul:
Transformer, 230/400V ST 4120, &, 'B', 'C',
Transformer, 208V - 220V, 24V Fluorescent
Transformer, 208V - 440V, 24V LED Lightin;
Transformer, 200-230 V

Transformer, ebright-superior
Transformer, Stepdown, 400v - 575v in, 23!
Battery Charger, Meanwell For Battery Lift
Power Supply, For LED Array Lighting on Pl
Power Supply, For LED Array Lighting on 2-|
Motorcontroller, Earthlift

Encoder For Speed Control On Earthlift w/k
Encoder For Speed Control On Earthlift
EPROM ST1072 / V2.4 Rel 10

EPROM ST1072 / V2.4 Rel 10 61 Inch Limit
EPROM ST1072 / V2.4 Rel 11 54" or 1372m
EPROM ST4250, 4175, 4100

$96.92
$204.02
$204.02
$467.56
$260.83
$272.06
$239.10
$1,685.45
$5,028.51
$2.81
$2.81
$2.81
$2.81
$6.60
$7.27
$2.81
$320.82
$320.82
$236.93
$236.93
$288.12
$53.56
$706.96
$38.03
$114.08
$698.79
$494.88
$152.11
$652.32
$652.32
$1,658.11
$1,440.69
$1,195.94
$1,285.37
$742.29
$612.09
$799.37
$1,016.31
$1,016.31
$705.33
$2,283.16
$188.04
$159.87
$570.91
$374.91
$386.59
$124.79



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

69601301
69601601
69601701
69601801
69601901
69602002
69602012
69602501
69620006
69620007
69700031
69700034
69700035
69700050
69700051
69700060
69700090
69700095
69700110
69700115
69700120
69700150
69700151
69700160
69900021
69900030
69900031
69900032
69900036
69900052
69900058
69900060
69900080
69900090
69900130
69900131
69900132
69900135
69900136
69900141
69900142
69900145
69900146
69900150
69900152
69900154
69900155

69601301
69601601
69601701
69601801
69601901
69602002
69602012
69602501
69620006
69620007
69700031
69700034
69700035
69700050
69700051
69700060
69700090
69700095
69700110
69700115
69700120
69700150
69700151
69700160
69900021
69900030
69900031
69900032
69900036
69900052
69900058
69900060
69900080
69900090
69900130
69900131
69900132
69900135
69900136
69900141
69900142
69900145
69900146
69900150
69900152
69900154
69900155

EPROM ST1055/1072B

EPROM ST1060C & ST1073C

EPROM ST4120

EPROM for Skylift use w/ 69900240 board
E-Prom for ECO

EPROM ST1082 superior controls

EPROM ST1082 NYCT, w/ Lock-out

EPROM 2-Post Freedom Lift

SD Card, Used in Ebright PCB

USB Isolator, used with software update ca
Mounting Kit For Lighting On Mobile Colun
Lamp Assembly, fluorescent, For Platform |
Lamp Assembly, fluorescent, 36W, 4'
Lamp Assembly, fluorescent, 24V For 4-Pos
Mounting Clip For 24V Lamp For 4175,425(
LED Lighting Fixture 2 - LED Engine Kits 1- T
Cable, LED Engine to Harness

Cable, Extension, Lighting, 60cm

Engine For LED Lighting

Cable Set for LED Lighting, Control Box to R
Cable Set for LED Lighting, In Control Box &
LED Array Style Light Bar

Cap, End, for LED Array Style Light Bar
Cable, Interconnect, for LED Array Style Lig
PCB KS 2050

PCB ST1065 (380/415V)

PCB ST1065 (220/240V)

PCB Plug-On ST1065

Push Button Board ST1065

Terminal, Grounding, Dinn Rail Mount, Ebri
Terminal, Grounding, Dinn Rail Mount, skyl
See Part Number 69900090

PCB 230V, For 4070

PCB, Freedom Lift, KS2038/2050/2070 & 2!
PCB ST 1072

Pushbutton Board + Flatcable Set-Ref Cont
PCB Phase Control Board

PCB Main Superior EN Control "No Lockout
PCB Main Superior Control With Lockout N
PCB, Power, ST4100/4175/4250 1055B - 1(
Push Button Board 4175-4250

PCB, Power Board 4120 And Skylift

PCB, Power Board, ECO Lift

PCB, Main, "B" & "E" Mobiles, 69900240 W
Push Button Board SK1055B

PCB, in pendant #34007930

PCB, Control Board For Diamond & Eco Per

$124.79
$127.99
$124.79
$217.44
$105.30
$527.53
$527.53
$696.25
$30.60
$234.02
$124.79
$815.69
$1,114.53
$1,168.62
$32.13
$1,550.19
$255.48
$97.99
$652.32
$1,209.36
$1,522.10
$540.74
$26.32
$73.35
$692.68
$3,635.57
$5,217.76
$1,886.99
$3,832.56
$41.39
$40.81
$2,588.60
$1,468.01
$2,718.04
$3,213.44
$1,522.10
$869.77
$2,419.19
$2,419.19
$3,397.68
$2,473.28
$1,440.69
$786.40
$2,473.28
$2,397.12
$956.38
$1,658.94



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

69900160
69900170
69900180
69900190
69900220
69900230
69900240
69900250
69900300
69900321
69900323
69900340
70900017
70900029
70900048
70900068
70900073
70900074
70900080
70900081
70900082
70900083
70900085
70900086
70900089
70900090
70900091
70900092
70900093
70900094
70900095
70900096
70900098
70900103
70900104
70900105
70900106
70905001
70911103
70913101
70913102
70913401
83301314
89010101
89900050
89930002
92903033

69900160
69900170
69900180
69900190
69900220
69900230
69900240
69900250
69900300
69900321
69900323
69900340
70900017
70900029
70900048
70900068
70900073
70900074
70900080
70900081
70900082
70900083
70900085
70900086
70900089
70900090
70900091
70900092
70900093
70900094
70900095
70900096
70900098
70900103
70900104
70900105
70900106
70905001
70911103
70913101
70913102
70913401
83301314
89010101
89900050
89930002
92903033

PCB, With Digital LCD ST1082 Battery

PCB, Main, "C" Mobiles, 69900240 W/ 696!
PCB, Main, ST4120, 4-Post, 69900240 W/ 6
PCB, Main, Skylift. 69900240 W/ 6960180
PCB, Adapter, ST1082 Battery

PCB, Main , ST1082 Battery

PCB, Control Board, Less EPROM

PCB, Main, ST4100/4175/4250, 69900240 '
PCB, With Digital LCD EarthLift

PCB, Mobile Column Ebright Controls

PCB, Power, Ebright Superior

PCB, Ebright Controls, ECO, Diamond & Sky
3/8 Noise Reducer

Fitting, Elbow, 8mm Push x 1/8" BPPT, Plas
Fitting, Elbow, 6m push X 1/8" BPPT

Noise Reducer 2070/2082

Fitting, coupling, 6mm x 6mm, push to con
Fitting, coupling, 8mm x 8mm, push to con
Silencer, Skylift Cylinder

Air Hose, Coiled, 8mm For Air Lock Release
Silencer, for Skylift, Gen1 Air Valve, Gen 2 L
De-aerator, for skylift lock cylinder

Fitting, "Y", 8mm Compression w/Sleeve
Fitting, Elbow, 8mm push x 1/8" BPPT, All I
Fitting, Quick Disconnect, 3/8” FL Thread x
Hose, Air, Coiled for J/B Air Kit

Fitting, Quick Disconnect, 3/8“ Ml x Fl, for J
Fitting, Straight Nipple, 1/4” x 1/8”
Silencer, for Skylift Air Valve, Gen 2

Fitting, 6m Push x Clip in for Air Valve on Sk
Fitting, "Y", 6mm Push

Use part # 70900096A

Sound absorber, for skylift lock cylinder
Fitting, Outlet Plate, 3/8” Female Threads,
Fitting, Plugged End, for J/B Air Kits
Coupling, for J/B Air Kits

Fitting, Female Thread End, for J/B Air Kits
Cylinder, Pneumatic, Short Stroke, Skylift Ic
Switch, Pneumatic, for Jacking Beam Home
Valve, Pneumatic, for Lock Release, Skylift,
Valve, Pneumatic, for Lock Release, Skylift,
Electro Magnet For Air Valve On Skylift
Sticker, ID Plate

Adapter Stand

Beacon Light. Diamond, Ebright

ECO External Hand Pump Kit

Grease, Autol Top 2000, Cartridge

$2,701.96
$2,473.28
$3,152.92
$3,152.92
$1,059.91
$2,419.19
$2,881.39
$2,473.28
$2,772.66
$2,412.46
$1,347.87
$2,031.32
$76.06
$28.05
$38.56
$43.93
$15.93
$15.93
$90.28
$315.75
$29.19
$119.44
$222.41
$55.58
$5.77
$625.02
$33.92
$16.59
$115.25
$37.48
$204.55
$123.40
$37.48
$80.36
$78.97
$59.72
$68.87
$803.36
$901.28
$815.69
$815.69
$36.22
$100.73
$0.00
$3,947.45
$4,119.12
$137.58



92903608
92951030
92952076
92952077
99900001
99901831
99999901
327001841
327001842
1002130068
1002150224
1002220132
1003740017
1003917010
1003917410
1003917610
1003918038
1003950505
1003970305
1003970306
1003994414
1009190029
1009190075
1018030001
1018030504
1020091510
1020150090
1020500005
1020500007
1020500034
1020500035
1020500035
1020500036
1020500040
1020500045
1024380012
1028030011
1028030012
1031000061
1031344061
1031344063
1033250205
1035310360
1035310428
1035310585
1035310587
1035380779

92903608
92951030
92952076
92952077
99900001
99901831
99999901
32700184-1
32700184-2
1002.13.00.68
1002.15.02.24
1002.22.01.32
1003.74.00.17
1003.91.70.10
1003.91.74.10
1003.91.76.10
1003.91.80.38
1003.95.05.05
1003.97.03.05
1003.97.03.06
1003.99.44.14
1009.19.00.29
1009.19.00.75
1018.03.00.01
1018.03.05.04
1020.09.15.10
1020.15.00.90
1020.50.00.05
1020.50.00.07
1020500034
1020500035
1020.50.00.35
1020500036
1020.50.00.40
1020.50.00.45
1024.38.00.12
1028.03.00.11
1028.03.00.12
1031.00.00.61
1031.34.40.61
1031.34.40.63
1033.25.02.05
1035.31.03.60
1035.31.04.28
1035.31.05.85
1035.31.05.87
1035.38.07.79

DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

Grease, Ceramic

Kit, Touch up Paint, 2-part Epoxy, Grey, for
Paint, Spray,12 oz. can, RAL 3002 red
Paint, Spray,12 oz. can, RAL 1013 off white
Standoff, nylon, for PCB mounting - 10 pcs
Shim, see 41310139

Bridge Rectifier & Capacitor for NY Power E
Roller, Guide Block, ST1082, ST1085, 1IMM
Roller, Guide Block, ST1082, ST1085, 2MM
Clamp .22mm

Nut For Wire Loom 4250

Rubber Grommet For Insp Glass To View Ci
Fitting, Male Thread x 3/8", Barbed, for J/E
Fitting, Elbow, Bulkhead,10S x 10S

Fitting, Tee, 10m, Comp x Swivel x Comp
Fitting, Elbow, 10S x 10S

Hose Burst Check Valve

Straight Adaptor For 4250 Recirculation Bre
Union Elbow For 4250 Air Recirculation Bre
Plug, 1/8" BPPT, w/Seal

Release Valve & Button KO 4040W Lift
Rubber Pad 10.5cm For Lift 370-03-935 20
Rubber Buffer M8x21

Filter

QOil Filter

Plastic Cover

Plastic Tool Tray For 2-Post Lift

Pulley For KO2020

Pulley For KO2022

Slide Plate, 12mm, For Mobile Column Guic
Slide Plate, 13mm, For Mobile Column Guic
Slide Plate, 13mm, For Guide Block Roller c
Slide Plate, 14mm, For Mobile Column Guic
Lock, Upper Part, on Extended Flex Armes, |
Lock, Lower Part, on Extended Flex Armes, |
Roller, ST4120 ramp

Air Tube For 4250 Air Recirculation Breathe
Hose, Braided, 3/8” x 25’, for J/B Air Kits
Sticker, Lube Instructions, ST1072

Sticker, User Instructions, ST2082

Sticker, User Instructions, ST2082, French
Spring For KS2050

Bolt, Hex Head, M5x40

Screw, M6 x 40, Hex Head, S/S

Bolt, M10 x 110

Bolt, M10 X 120, Bolt For Castor

Bolt, Hex Head, M16 x 50, 8.8

$286.92
$265.24
$41.86
$41.86
$16.33
$19.58
$18.22
$212.19
$212.19
$11.79
$10.19
83.21
$60.00
$76.06
$42.03
$76.06
$298.85
$86.76
$97.99
$5.32
$364.18
$130.68
$28.92
$179.42
$580.63
$128.02
$108.73
$364.18
$337.57
$54.02
$54.02
$58.32
$54.02
$257.15
$317.25
$21.52
$38.03
$149.38
$15.99
$14.45
$14.45
$19.81
$1.60
$5.35
$8.56
$8.56
$20.36



1035460566
1035751506
1035790016
1036230170
1036250512
1036300616
1036400411
1036460345
1036550513
1037075008
1037075016
1037075020
1037075024
1037078003
1037078006
1038130110
1038340100
1038340240
1038660266
1038660424
1401101500
1401102540
1500070024
1500070211
1500570005
1500570006
1611174240
1611187260
1611207280
1611235310
3270623701
3270623702
3500072001
3500072002
3500072003
3500780000
3501509001
3501509002
3501509003
3501509004
3501509008
3501519004
3575030300
3575030400
3591510700
3612101000
3621140200

1035.46.05.66
1035.75.15.06
1035.79.00.16
1036.23.01.70
1036.25.05.12
1036.30.06.16
1036.40.04.11
1036.46.03.45
1036.55.05.13
1037.07.50.08
1037.07.50.16
1037.07.50.20
1037.07.50.24
1037.07.80.03
1037.07.80.06
1038.13.01.10
1038.34.01.00
1038.34.02.40
1038.66.02.66
1038.66.04.24
1401.10.15.00
1401.10.25.40
1500.07.00.24
1500.07.02.11
1500.57.00.05
1500.57.00.06
1611.17.42.40
1611.18.72.60
1611.20.72.80
1611.23.53.10
32706237-01

32706237-02

35000720-01

35000720-02

35000720-03

3500.78.00.00
3501.50.90.01
3501.50.90.02
3501.50.90.03
3501.50.90.04
3501.50.90.08
3501.51.90.04
3575.03.03.00
3575.03.04.00
3591.51.07.00
3612.10.10.00
3621.14.02.00

DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

Screw, M10 x 25 Allen Socket Cap

Bolt, Anchor, M10 x 100

Chemical Anchor Capsule

Screw, Speed Control Knob

Screw, M5 x 12

Screw For KS2050

Screw

Screw, Set, M5x12 For Potentiometer Lead
Screw, Set, M8 X 18

Nut, M8, 1/2 Tall

Nut For Base Leg Extend

Lock Nut M20

Hex Nut, 24mm

Nut, Hex, M3

Nut For KS2050

Washer

Circlip, capped, 10mm

Retaining Washer A24 Replaced By 650620
Roll pin, 4mm x 16mm

Roll Pin 6 x 30

Ball For Pallet Jack Cap

Ball For ST 1065

Preformed O-Ring

Collerette

1500.57.0005 Solenoid For 2+2 00.06 Valve
1500.057.00.06 2/2 Lower Valve 4080 Lift
Sealing ring, .25 inch

Sealing Washer 18.7 x 26 x 1

Sealing Washer

Sealing Washer

Rubber Oil Reservoir Plug For 1082 Pallet J:
Retainer Ring For Reservoir Plug For 1082 F
Cable, Less Carrier Chain, PTM & VLM, Free
Chain, Carrier, 6 Liink Section, Freedom Lift
Chain, Carrier, Starter Links L & R hand, Fre
Cylinder, Hydraulic Ram Type 3656 Carlift
Cover For 2-Post Control Box Including Butt
Keyswitch

Switch , Magnetic, EG # LS05.10-NSW
Thermal Relay (ST1065) AEG # BO5-NN
Fuse 5A Slow

Thermal Relay (ST1065 )

Washer, non-metallic, convex, M25, for ST«
Washer, non-metallic, concave, M25, for S
Seal Kit, Cylinder, KO4040W

Seal Kit, Cylinder, KS4045W

Axle, for roller, ST4120 ramp

$5.35
$18.76
$43.38
$1.87
$5.35
$5.35
$8.56
$4.83
$5.35
$5.88
$6.44
$6.81
$6.96
$5.18
$2.68
$3.21
$4.79
$5.35
$4.55
$3.75
$12.86
$12.86
$20.90
$255.48
$277.43
$1,141.84
$1.33
$24.64
$9.34
$26.79
$10.91
$6.89
$411.24
$40.95
$19.91
$7,942.04
$733.73
$445.28
$384.54
$251.83
$3.14
$462.20
$77.48
$77.48
$293.50
$293.50
$63.12



4310060200
4310090001
4310090003
4310090007
4310090008
4310090010
4311160021
4311800013
4311800018
4311800029
4311800086
4311810015
4311810027
4311810104
5100042300
5100080500

4310.06.02.00
4310.09.00.01
4310.09.00.03
4310.09.00.07
4310.09.00.08
4310.09.00.10
4311.16.00.21
4311.80.00.13
4311.80.00.18
4311.80.00.29
4311.80.00.86
4311.81.00.15
4311.81.00.27
4311.81.01.04
5100.04.23.00
5100.08.05.00

DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

Pins, For Jack Stand Height Adjustment
Spring For Axle Stand Column

Thread Bush For Wheel, 3-Head

Pressure Spring For Stands

Bushing, for caster, 3-head stand

Pin, Height Adjusing, For 11.5 Ton 3-Head ¢
Control Valve For MRP

Seal Kit, Cylinder, MRP-120

Shut Off Valve

Spring End Nut

Check Valve

Cylinder, Hydraulic, MRP120, 6 ton, 12" Jac
Velocity Valve, MRP J/B

Hose, 740mm, (HH29) MRP J/B

Channel

Pin, in Hinge Pin, Extended Flex Arms, Free:

04061731212R0 0406-17-312-12-R0O Gear Rack, 71.88", Eco Classic Horiz. Drive
04061931213R0 0406-19-312-13-R0O Gear Rack, 63.75", Eco Classic Horiz. Drive

0411000 REV 00 04110-00 REV 00

0411101C
0411200N
0415201L020
0415201L040
04152015020
04152015040
04152015060
0415202L020
0415202L040
04152025020
04152025040
04152025060
0442500LH
0442500RH
0442600LH
0442600RH
0442700LH
0442700RH
0442800LH
0442800RH
0443100LH
0443100RH
0443700 LH
0443700C
0443900 RH
0443900C
0451200R
04512SB

04111-01C
04112-00N
04152-01-L020
04152-01-L040
04152-01-S020
04152-01-S040
04152-01-S060
04152-02-L020
04152-02-L040
04152-02-5020
04152-02-S040
04152-02-5060
04425-00LH
04425-00RH
04426-00LH
04426-00RH
04427-00LH
04427-00RH
04428-00LH
04428-00RH
04431-00LH
04431-00RH
04437-00 LH
04437-00C
04439-00 RH
04439-00C
04512-00R
04512-SB

Anchor Plate, Fixed Base, Custom, Includes
Stopper Lug, ECO Fixed Scissor, needs P012
Base Plate, Fixed Mechanism, prepped for
Nylatron Block Outer Leg, .020 Larger
Nylatron Block Outer Leg, .040 Larger
Nylatron Block Outer Leg, .020 smaller
Nylatron Block Outer Leg, .040 smaller
Nylatron Block Outer Leg, .060 smaller
Nylatron Block Inner Leg, .020 Larger
Nylatron Block Inner Leg, .040 Larger
Nylatron Block Inner Leg, .020 smaller
Nylatron Block Inner Leg, .040 smaller
Nylatron Block Inner Leg, .060 smaller
Inactive - Centering Link, Slotted, LH, Weldi
Inactive - Centering Link, Slotted, RH, Weld
Centering Link, Slotted Hole, LH, Assembly
Centering Link, Slotted Hole, RH, Assembly
Inactive - Centering Link, Round Hole, LH, V
Inactive - Centering Link, Round Hole, RH, \
Inactive - Centering Link, Round Hole, LH, A
Inactive - Centering Link, Round Hole, RH, /
Inactive - Centering Link, LH, Weldment, Sp
Inactive - Centering Link, RH, Weldment, Sg
Inactive - Centering Link Assembly, LH
Centering Link Assembly, LH, Gen 3
Inactive - Centering Link Assembly, RH
Centering Link Assembly, RH, Gen 3
Inactive - Hydraulic Cylinder ECO

Hydraulic Cylinder Safety Bar

$152.11
$761.05
$21.69
$35.88
$35.88
$369.55
$733.73
$475.58
$924.40
$163.34
$315.47
$6,795.35
$570.91
$625.02
$213.09
$14.07
$0.00
$0.00
$5,200.37
$150.38
$6,049.76
$282.55
$282.55
$282.55
$282.55
$282.55
$416.03
$416.03
$416.03
$416.03
$416.03
$0.00
$0.00
$459.36
$459.36
$0.00
$0.00
$0.00
$0.00
$0.00
$0.00
$0.00
$462.83
$0.00
$462.83
$0.00
$0.00



0453201 REVO1 04532-01 REVO1

0453202 REV1
0612200N
1003917410US
1031217G
1031218G
1205AA
1241200G
1241300G
1244200G
1305500G
1603300N
1605000N
1612200N
1712200R01
1714200R00
189097A
1912200R01

04532-02 REV1
06122-00N
1003917410-US
10312-17G
10312-18G
1205-AA
12412-00G
12413-00G
12442-00-G
13055-00G
16033-00N
16050-00N
16122-00N
17-122-00-R01
17-142-00-R00
18-9097A
19-122-00-R0O1

DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

Lock, Lower, Front Side, Right, Eco PRE-Ger
Lock, Lower, Front Side, Left, Eco PRE-Gen
Base Plate, Moveable Mechanism, preppec
Fitting. Tee, 3/8" JIC, Fem x Male x Male
Plate, Center Section, 3/8” X5” X 172.5”, G
Bracket, Angle, Galvanized, Cable Carrier B
Seal, Hydraulic Pump, SPX units

End Section Cover, Galvanized

Weldment, Floor Cover End Section, Galvar
ECO, Pit End Cover, Reinforced, Gen 4, Gal
Movable Mechanism, Lift Recess Mounted
Movable Mechanism, Lift Recess Mounted
Lift Recess Mounted Hinge Mechanism —Ni
Base Plate, Movable Unit, ECO, Nitrated
Adapter Cradle, 10" Wide

Adapter, H-Accessory

Carrier Weldment, WEB Beam Dolly
Adapter Cradle, 10" Wide, Sideways

2000414522205 20004-145-222-05F Half Shaft, 1" x 3/4" Ends
20041522205R0 2004-15-222-05-R0 1" Half Shaft 3/4 Both Ends

2834BA
21310804
31000766US
31000767US
31050741REVD
31050771US
32006254US
32550102US
32550103US
32556075NY
32556150US
32556283A
32700116US
32700120K
32700120US
32700300US
32706075US
32706201A
32706237A
32706292A
327062928
32731910NEW
32736150RUS
32736150US
32739100S
32739160NEW
32739181A

2834BA
2L31-08-04
31000766-US
31000767-US
31050741-REV-D
31050771-US
32006254US
32550102-US
32550103-US
32556075NY
32556150US
32556283A
32700116-US
32700120K
32700120-US
32700300-US
32706075US
32706201A
32706237A
32706292A
32706292B
32731910-NEW
32736150R-US
32736150-US
327391008
32739160-NEW
32739181A

See P01111

Fitting, Tubing. 90 Ell 8mm Push By 1/4" BF
Cable, Ribbon, 60mm long, for 69900240 F
Cable, Ribbon, 300mm long, for 69900240
Cable, Harness Ass'y, Modified, Lowering /
Cable, Harness Ass'y, Motor Relay Feedbac
Filter, Return, 10 Micron

Shaft, Balancer Pivot, US

Shaft, Balancer To Pallet Jack, US
Hydraulic pipe New York City - specific - lor
Hydraulic Hose U.S.

Oil Plug For 1072 P/J

Top Plate, Beveled Profile, US

Cap Kit For 1082 and Newer Pallet Jack Incl
Cap For Pallet Jack, 1082, US

Balancer, US

Hydraulic Pipe, 1082 & 1073 & New 1060
Wheel, Pallet jack, fits 32706200

Rubber Oil Reservoir For 1082 Pallet Jack Ir
P/J Cap Kit For 'New' 1072 P/J. Including Sh
Cap Kit For 'New' 1072 P/J. 90mm Tall, w/ |
Conversion Kit, To Zigbee Wireless, Low M
Hose, Hydraulic, Earthift - US

Hose, Hydraulic, Battery Lift - US

Control Box, Shell, Battery Lift, Including W
SEE 32739160

Pallet Jack Interlock Assembly, early model

$1,259.35
$1,252.85
$3,809.27
$20.41
$814.73
$266.95
$74.54
$814.73
$0.00
$5,269.71
$0.00
$0.00
$0.00
$5,919.75
$0.00
$0.00
$317.80
$0.00
$0.00
$0.00
$0.00
$19.77
$33.50
$40.16
$512.25
$85.94
$113.82
$20.45
$16.69
$164.46
$283.76
$6.09
$133.90
$94.04
$62.22
$51.77
$184.72
$137.72
$60.98
$219.31
$193.34
$4,323.55
$248.41
$260.83
$3,012.98
$3,023.16
$554.85



32739182A

32739182A

DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

Switch Bushing For Wireless On Pallet Jack

35015090034KW 3501.50.90.03.4KW Switch, Magnetic, 0035 With 4KW Motor

3501509004A

3678AA
37003935NP
38001101US
38001102US
38006108US
38007700US
38007750US
38007768A
38007793E
38007793W
38007901A
3905500G
3931302G
39509100S

3SB30001HA20

41300104VvZ
41300150VZ
41300225VZ
41300230VZ
41300600VZ
41300610VZ
4130078KIT
41310118RVS
41310118VvZ
41310126VZ
41310127VZ
41310130S
41310132vZ
41310134RVS
41310150vZ
41310190VZ
41310225VZ
41310230VZ
41310600R
41310600VZ
41310610VZ
41310920VZ
41310925WB
41315305VZ
41317365VZ
42504300VZ
42504400vZ
42509100VZ
44200DP

3501.50.90.04A

3678-AA
37003935NP
38001101-US
38001102-US
38006108-US
38007700-US
38007750-US
38007768A
38007793E
38007793W
38007901A
39055-00G
39313-02G
395091008

3SB3000-1HA20

41300104-vZ
41300150-vZ
41300225-VZ
41300230-VZ
41300600-VZ
41300610-VZ
4130078KIT

41310118-RVS

41310118-vZ
41310126-VZ
41310127-VZ
41310130S

41310132-vZ

41310134-RVS

41310150-vZ
41310190-vZ
41310225-VZ
41310230-VZ
41310600R

41310600-VZ
41310610-VZ
41310920-VZ

41310925-WB

41315305-VZ
41317365-VZ
42504300-VZ
42504400-VZ
42509100-VZ
442-00DP

Thermal Relay (ST1065) OEM GE # RT1S
Suction Tube With Filter, SPX

Saddle With No Rubber Pad

Cover, Hydro Unit, ST1085

Cover, upper, Superior controls lifts w/ wel
Spacer, Battery Lift Cabinet, New Style
Control System Complete, Wireless
Cabinet, Wireless Ebright, Complete With
Repair Kit, Ebright Control Box Cover (for o
Panel, Front, Ebright Earthlift, w/ Button Pz
Panel, Front, Ebright Wireless, w/ Button P
Template for Ebright Control Box Repair
39" Movable Mechanism, Lift Recess Mour
39" Transition Plates (Closure) Galvanized
Air Kit With 8' Air Pipe For ST4120,4175,42
Emergency Stop Button

Lock, Lower, Surface Mount, Skylift, Gen 1,
Lock, Upper, Surface Mount, Skylift, Gen 1,
Lock, Upper, Surface Mount, Skylift, Gen 2,
Lock, Lower, Surface Mount, Skylift, Gen 2,
Cylinder, Hydraulic, Skylift, Surface Mount,
Cylinder, Hydraulic, Skylift, Surface Mount,
Cable Set, to PCB-P1,P2,P3,P4 & to Transfo
Floor Plate, Stainless Steel, Skylift

Base Plate, Galvanized For Skylift

Plate, Spacer, for Hinge Plate on Skylift, 1m
Plate, Spacer, for Hinge Plate on Skylift, 2m
Chain, Cable & Hose Carrier, 8 Link Section,
Plate, Spacer, for Hinge Plate on Skylift, 0.5
Floor Plate, Stainless Steel, Skylift

Lock, Upper, Flush Mount, Skylift, Gen 1, W
Spacer, for Foot, Skylift, Gen 2, Flush Moun
Lock, Upper, Flush Mount, Skylift, Gen 2, W
Lock, Lower, Flush Mount, Skylift, Gen 2, W
Cylinder, Hydraulic, Skylift, Flush Mount, G
Cylinder, Hydarulic, Skylift, Flush Mount, Gt
Cylinder, Hydraulic, Skylift, Flush Mount, G
Plate, Stop, for RROP, Galv. for Washbay
Hinge Plate, for RROP, Galvanized
Weldment, End plate, Skylift runway

Fill In Piece For Jacking Beam On Skylift-gal
Stop Plate, Flip up, for Drive On Ramp, Gal\
Wheel Stop, Galvanized, 4250 & Skylift
Ramp, Drive On, Transition Plate, Galvanize
Sump Pump Option, Diamond Lift

$52.42
$616.83
$299.03
$0.00
$170.23
$369.45
$157.81
$40.81
$8,170.23
$7,993.65
$329.52
$2,983.91
$2,983.91
$193.73
$0.00
$0.00
$747.94
$68.73
$1,944.93
$2,811.03
$2,568.61
$2,249.41
$6,368.21
$6,523.28
$587.77
$4,820.16
$1,178.27
$44.02
$44.02
$170.20
$44.02
$4,820.16
$3,603.89
$413.79
$2,788.73
$2,616.67
$2,160.94
$6,958.19
$6,631.99
$742.94
$1,105.00
$263.01
$108.57
$900.00
$783.61
$652.32
$0.00



4CU61
50B3445
59000302NY
60203002A
60700092US
60700131A
60700156A
60700305US
65002612VZ
65050140VZ
65051044VZ
65055024V7Z
65055028VZ
65213367VZ
65213534VZ
68033221NM
68033226NM
68034221NM
68035629NM
68035927NM
68036024NM
68036729NM
68036927NM
68038127NM
68038427NM
68039033S
68039081NF
68056729NM
68076024US
68076224US
68077024CA
68077224CA
68700450US
68790037US
68900009US
69004002A
690610465
69090106A
69090107A
69090107B
69090108A
69090109A
69090111A
69090112A
69090113A
69090114A
690901148

4CU61
50B3445
59000302NY
60203002A
60700092-US
60700131A
60700156A
60700305-US
65002612-VZ
65050140-VZ
65051044-VZ
65055024-VZ
65055028-VZ
65213367-VZ
65213534-VZ
68033221NM
68033226NM
68034221NM
68035629NM
68035927NM
68036024NM
68036729NM
68036927NM
68038127NM
68038427NM
68039033S
68039081NF
68056729NM
68076024-US
68076224-US
68077024-CA
68077224-CA
68700450-US
68790037-US
68900009-US
69004002A
69061046-S
69090106A
69090107A
69090107B
69090108A
69090109A
69090111A
69090112A
69090113A
69090114A
690901148

DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

Capacitor, Start, 330V Max Single Phase/M
Snap On Suppressor, 31mm 260ohm, Grad:
Hydraulic Pipe New York City - specific - Shq
Gas Spring With Clevis's And Clips

Sticker, "Risk of Electrical Shock", English &
Sticker, Caution

Sticker, Load Distribution ST4175

Sticker, Home Light

Bolt, Hex Head, Gr 8.8, Plated-galvanized, |
Nut, Hex, 16M-galvanized

Nut, Hex,, M20, Galvanized

USE 65355024 forWasher,Flat, M16, galvar
Washer A20, galvanized

Screw, Countersunk, M8x30, Galv

Screw, Flathead, Countersunk M16x60 Alle
Hydraulic Unit, Freedom Lift - SK2.16 - 230,
Hydraulic Unit, Freedom Lift - SK2.20 - 230,
Hydraulic Unit, Freedom Lift - SK2.16 - No |
Hydraulic Unit, ST1060C, 1-Phase, 208V - N
Hydraulic Unit, ST1073S, ST1082S, 1-Phase
Hydraulic Unit, ST4120, 3-Phase 208/460, |
Hydraulic Unit, ST1060S, 3-Phase 208/460\
Hydraulic Unit, Mobiles , 4175, 4250, 208/«
Hydraulic Unit, Earthlift, 1.2cc, 3X24VAC, 3.
Hydraulic Unit, ST1075, 1082, 1085, Batter
Reservoir, 75L, For Skylift, w/Motor Flange,
Tube Kit for Mobile Col Pump Unit, No Filte
Hydraulic Unit, 2082 3 x 208/460V, No Mot
Power Unit ECO Lift, L-Prom Motor

Power Unit, Movable ECO Lift, L-Prom Mot
Hydraulic Unit, ECO, Fixed, 575V

Hydraulic Unit, ECO, Movable, 575V
Tubing Fitting For Hydraulic Line, US ( A931
Union

Hydraulic Oil, BIO, 55 Gallon Drum

Cable, Charger Power Supply For Battery Li
Conduit, Flexible, 48mm dia, 25 cm
Housing, Cable End 1082 Battery Communi
Cover With Tether For Base Connector On
Connector On Control Box 1082 Battery Co
Female Plug End 1082 Battery Communicat
Male Plug End 1082 Battery Communicatio
Connector Internal (Female) 1055/1072/1C
Connector Internal (Male) 1055/1072/108.
Connector Housing, Cable End 1055/1072/
Latch For Comm Connector On Control Box
Connector Base 1055/1072/1082 Commun

$44.15
$17.98
$76.62
$308.20
$9.11
$17.86
$25.51
$0.00
$33.00
$4.31
$9.10
$4.23
$3.83
$2.68
$11.79
$4,058.45
$2,385.40
$3,357.33
$4,802.13
$2,504.89
$3,657.19
$3,111.42
$3,164.18
$3,274.93
$4,254.79
$3,204.52
$218.63
$2,541.94
$0.00
$0.00
$0.00
$0.00
$62.12
$4.55
$12,134.20
$14.56
$42.68
$110.66
$63.55
$114.19
$57.08
$54.76
$157.29
$157.29
$147.96
$29.13
$172.45



69120016C
69120018A
69141061A
69141115A
69141176A
69156011A
69206004A
69206010A
69206011A
69206012A
69206014A
69206015A
69206016A
69206022A
69206024A
69206026A
69206102A
69500104A
69500204A
69500205A
69900031L
70900081A
70900096A
92952076A
92952077A
A0000110
A0000112
A0000210
A0000310
A0000312
A0000608
A0000709
A0000812
A0001020
A0001210
A0008216
A00084
A00153
AO00153A
A0019636
A0112200
A189150
A3012F00
A9310937
AP00504
AS10000

ASSY CHG 5658 ASSY CHG 5658

69120016C
69120018A
69141061A
69141115A
69141176A
69156011A
69206004A
69206010A
69206011A
69206012A
69206014A
69206015A
69206016A
69206022A
69206024A
69206026A
69206102A
69500104A
69500204A
69500205A
69900031L
70900081A
70900096A
92952076A
92952077A
A00001-10
A00001-12
A00002-10
A00003-10
A00003-12
A00006-08
A00007-09
A00008-12
A00010-20
A00012-10
A00082-16
A00084
A00153
AO00153A
A00196-36
A01122-00
A189150
A3012F-00
A93109-37
AP00504
AS100-00

DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

Switch, Main, "E" & "B" & "C" Mobiles And
Emergency Stop Button Assembly Flat Mus
Emergency Stop Button New 'BIG' Style, Inc
Pushbutton / Lamp Socket For ST1072, 105
Switch, Rotating, 2-Pos,W/Contactor & Hol
Relay For Superior Control & Power Box, 8
Fuse 200mA For 1082

Fuse 125 mAT

Fuse 500 mAT

Fuse 3, 15 AM

Fuse 1A Slow 250V

Fuse 10A Slow

Fuse 1A Slow

Fuse 6.3A, slow blow, on 69900323 PCB
Fuse 5A, Type CC

Fuse, 1 amp, type CC

Fuse 200A

Battery Charger, Meanwell For Battery Lift
Power Supply, For LED Array Lighting on Pl
Power Supply, For LED Array Lighting on 2-|
PCB ST1065 (220/240V) Less Plug On Boarc
Air Hose, Coiled, 8mm For Air Lock Release
Air Hose, Coiled, 6mm For Air Lock Release
Paint, Spray, 12 oz. Can, RAL 3002 Red
Paint, Spray, 12 oz. Can, RAL 1013 Off Whit
Nut, Hex, 5/8"-10

Hex Nut, 3/4"-10

Washer, Split Lock, 5/8" Zinc Plated
Washer, Plain 5/8" Diameter, zinc plated
Washer, Plain, zinc plated, 3/4"

HHCS, 3/8 x 1, GR 5, Zinc Plated

Locknut, 9/16"-12, Nylon Insert

Screw, HHCS, GRS, Plated, 1/2-13 X1 1/2
Bolt, Hex Head, 5/8-11 x 2-1/2", Grd 8, Yell
Bolt, Hex, 3/4-10x 1 1/4"

Fitting, Union, Push to Connect, 5/32" Air L
Tubing, Vinyl Air Line, 5/32", Per Inch
Hose, Hydraulic, 3/8", #6 x Inch

Hose, Hydraulic, 3/8", #6 x Foot

Bolt, Hex Head, Grade 5, 9/16"-12 X 4-1/2"
Base, Adapter Ass’y, ECO

Caster, Swivel, 5" for WEB Beam Dolly
Fork, Manual, used to Position Flip Up Adaj
See 68700450-US - Tubing Fitting For Hydr:
Pump, Double Action, For ECO Classic
Adapter Stand

Assembly Charge IGUS Cable

$321.35
$345.84
$147.42
$43.42
$261.94
$15.68
$3.14
$3.14
$3.14
$3.14
$7.41
$8.16
$3.14
$1.75
$48.40
$47.03
$100.61
$495.40
$272.40
$336.70
$2,431.56
$58.20
$42.02
$48.45
$48.45
$3.47
$0.00
$1.29
$3.47
$0.00
$2.04
$3.06
$6.08
$12.13
$0.00
$10.14
$0.22
$2.16
$5.22
$23.51
$2,990.21
$137.34
$0.00
$62.12
$0.00
$2,071.49
$0.00



AWBP Retrofit K AWBP Retrofit Kit

DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

AWBP Retrofit Kit for Diamond Lifts

Bridge Bracket, Quick Turn, Special Reinfor:
Weldment, Custom 8.75” Quick Turn Suppt¢
Battery Control System New Style Digital Ci
Beacon Light. Diamond

Beacon Light. Diamond, Ebright

Lock, Ass'y, for Mohawk 2-Post Model TP-1
Tube ass’y no 2-0886, Wheel-Tronic 2-post
Velocity Fuse no 6-0422, Wheel-Tronic 2-p«
Arm Restraint ass’y no 1-2038, Wheel-Tron
Bleeder Tool and Funnel

Cover, 9" Access, Fixed Lift Weldment Rev |
Weldment 35.25 Inch, Access Cover Fixed L
Weldment, Access Cover Fixed Lift

CABLE CARRIER / CABLE CARRIER ASS Cable Carrier Assembly Parts

9 3/4" Bridge Bracket With Diamond Plate
Bridge Bracket Special

Bridge Bracket

Bridge Bracket, ECO

Bridge Bracket, Special, 2"

CBB60B450F406 CBB60B-450F406M: Capacitor, Run, 450V Max Single Phase / 4(

B0151700 B01517-00
B0251800 B02518-00
BATCONSYS BATCONSYS
BEACONOO BEACON-00
BEACONEB BEACON-EB
BH734229 BH-7342-29
BH779042 BH-7790-42
BH779043 BH-7790-43
BH779822 BH-7798-22
BTFOO1 BTF-001
C0109000 C01090-00
C0136100 C01361-00
C0139100 C01391-00
CB42200 CB422-00
CB52200 CB522-00
CB53200 CB532-00
CB62200 CB622-00
CB63200 CB632-00
CBV61011 CBV610-11
CBV61012 CBV610-12
CBV80000 CBV800-00
CD16MAGYN  CD16MA-GY-N
CD20MRGYN  CD20MR-GY-N
CD20MRTE CD20MR-TE
CD22M6GYN CD22M6-GY-N
CD22MAGYN  CD22MA-GY-N
CD25M3GYN CD25M3-GY-N
CD32MRGYN  CD32MR-GY-N
CF22200 CF222-00
CF22200R00 CF222-00-R00
CF22400 CF224-00
CF22Y00 CF22Y-00
CF41201 CF412-01
CM22200 CM222-00
COMP4COMPLE COMP4ACOMPLETE
CS81000 CS810-00
CS90001 CS900-01
CTA17 CTA-17
Cv102pP Cv102P
Cvi03pP Cv103P
CW32200 CW322-00
CW32200G CW322-00-G
CWB79000 CWB790-00
CWB97000 CWB970-00

Panel, left/right, Diamond 64/96 Console
Panel, front/rear, Diamond 64 Console
Remote Hanger Assy

Cable Gland, With Nut, M16 x 1.5 x 1 Hole -
Cable Gland, Wth Nut, M20x1.5x1 -6 mn
Cable Gland, M20 x 1.5 x 1 ea 6 mm Cable !
Cable Gland, With Nut, M20 x 1.5 x 2 Each |
Cable Gland, With Nut, M20x 1.5x 1, 10 - :
Cable Gland, With Nut, M25x1.5x 2 Ea 8r
Cable Gland, With Nut, M32 x 1.5 x 13 - 20
Weldment, Cover, Fixed Scissor, Aluminum
Welded alum cover with dish support
Weldment, Cover, Modified, Aluminum
Cover, Aluminum, Fixed, Yellow

Wheel Block, UHMW, 1.5x11.75x23.75, F &
Cover, Movable, 21.25" x 27.25", Diamond
4 Valve/EPROM Package Complete 4 Each :
Hanger, Remote/Cable, ECO

Plate, For Pendant Receptacle On Console
Cable Track Assembly For 17' Travel Box
Check Valve

Check Valve 2507AA

Wall Mount Bracket

Bracket, Wall Mounted, Galvanized
Control Box Assembly, AWBP

CWB 90 Electrical Control Panel Assembly

$0.00
$0.00
$1,711.05
$3,838.09
$0.00
$0.00
$891.18
$220.74
$233.61
$554.29
$0.00
$1,360.33
$0.00
$0.00
$0.00
$0.00
$2,816.87
$0.00
$0.00
$0.00
$137.59
$336.44
$540.15
$1,261.52
$9.78
$14.08
$41.17
$24.62
$17.86
$32.05
$33.83
$2,049.81
$0.00
$1,105.09
$0.00
$718.96
$1,017.44
$2,495.98
$0.00
$195.02
$0.00
$0.00
$108.35
$0.00
$294.69
$0.00
$0.00



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

D011601
D011602
D013201
D013202
D13000
D19000
D19200
D19600
D21400R00
D21404
D21405
D25000
D26000
D28000 R0OO
D28500
D29000 ROO
D35217
D35301
D35302
D35303
D355E01
D355E02
D357E01
D36000
D36000CK
D36001
D36001CK
D36004
D36005
D36400
D36401
D36402
D37000
D37000FT
D37001
D37002
D37003
D37005
D37400
D37600
D37600R
D43500
D43501
D43700
D43701
D43702
D43800

D0116-01
D0116-02
D0132-01
D0132-02
D130-00
D190-00
D192-00
D196-00
D214-00-R0O0
D214-04
D214-05
D250-00
D260-00
D280-00 ROO
D285-00
D290-00 ROO
D352-17
D353-01
D353-02
D353-03
D355E-01
D355E-02
D357E-01
D360-00
D360-00CK
D360-01
D360-01CK
D360-04
D360-05
D364-00
D364-01
D364-02
D370-00
D370-00FT
D370-01
D370-02
D370-03
D370-05
D374-00
D376-00
D376-00-R
D435-00
D435-01
D437-00
D437-01
D437-02
D438-00

Shim, for Cylinder Casting, 16 ga.,1-hole, 1.
Shim, for Cylinder Casting, 16 ga., 2-hole, 1
Shim, for Cylinder Casting, 20 ga. ,1-hole, 1
Shim, for Cylinder Casting, 20 ga., 2-hole, 1
Tool, Diamond Cylinder Lifter

Fluid Notification system, Diamond

Fluid Notification System, With Wall Plate,
Fluid Notification Plate, DIA 64/96
Breather, Ass'y, Water Tight, w/ Plate & O-
Plate, Water Tight Breather

Breather, Water Tight, Diamond Bolster
Bolster, Special, 36" Long, DIA

Head Plate, Transit Style

Bolster, Special, 44" Long, DIA

Solid Steel Bolster Assembly Rev 01

Solid Steel Bolster, Diamond 64

Energy Chain, Hoses & fittings for Diamond
Plate, Bottom Tie, DIA

Rod, Tension DIA

Bushing, Lock DIA, Plastic

Shroud,Debris, for Diamond Movable Pisto
Clip, Push on, for shroud

Filler Cover LH Mov Cass .25" x 15.5" x 18.4
Obsolete, see D360-00CK

Bar, Lock Assembly, DIA, Rev 2021

Lock Bar, Top Section, Diamond Lift

Lock Bar, Top Section, Diamond Lift, Rev 2(
Bar, Lock Connection

Pin, Lock Bar Pivot

Casting, Cylinder Head DIA

Block, Tilt Prevention

Dip Stick, Casting, Diamond

Lock, Pivot Assembly DIA

Lock, Pivot Assembly DIA, FIELD TEST
Lever, Lock Pivot

Pin, Lock Pivot

Latch, Lock Assembly

Cover, Lock Assembly, DIA

Diamond Piston Subassembly

Cylinder, Ass'y, Hydraulic, Diamond
Cylinder, Ass'y, Hydraulic, Diamond, Factor
Balance Assy, Rear Cover, Diamond Lift
Bushing, Rear Balance, Diamond Lift
Linkage, Rear, Upper

DO NOT USE, Use # D437-00

Weldment, Linkage, Rear, Upper

Linkage, Rear, Lower

$12.19
$18.52
$8.87
$17.55
$42.12
$2,642.93
$2,642.93
$804.24
$427.66
$162.14
$231.06
$0.00
$0.00
$0.00
$227.00
$1,582.52
$0.00
$329.16
$442.66
$279.70
$227.00
$32.43
$227.00
$0.00
$9,071.91
$2,817.27
$5,258.15
$22.11
$28.37
$4,491.36
$0.00
$0.00
$1,037.72
$1,037.72
$0.00
$0.00
$332.40
$154.04
$32,884.66
$24,228.24
$17,896.54
$2,655.09
$123.03
$478.33
$0.00
$328.34
$895.84



D43801
D43802
D43900
D44200
D44600
D44706
D453501
D45800
D45808
D45809
D48400LH
D48400RH
D48600
D48700 Rev 00
D51700
D52200
D52203
D57000
D5700001
D57005
D57200
D61221
D61512017
D61600
D61602
D61603
D622P01
D625CE16
D625CE16A
D68020401
D68100
D68120400
D68200
D68300
D68700
D72000
D72001
D72099
D77101
D77102
D77103
D77104
D81000
D82000
D83300
D87000
D90600

D438-01
D438-02
D439-00
D442-00
D446-00
D447-06
D4535-01
D458-00
D458-08
D458-09
D484-00LH
D484-00RH
D486-00
D487-00 Rev 00
D517-00
D522-00
D522-03
D570-00
D570-00-01
D570-05
D572-00
D612-21
D615-120-17
D616-00
D616-02
D616-03
D622P-01
D625CE-16
D625CE-16A
D680-204-01
D681-00
D681-204-00
D682-00
D683-00
D687-00
D720-00
D720-01
D720-99
D771-01
D771-02
D771-03
D771-04
D810-00
D820-00
D833-00
D870-00
D906-00

DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

Linkage, Rear Lower Cover

Linkage, Rear Lower Bar

Weldment, Rear Balance, Diamond

Do Not Use

Frame, Wheel dish, Diamond Lift, inc hdwe
Wheel Dish Brace .25" x 2" x 16.88"
Bushing, Rear Balance

Guide Rail, Rear Cover, Diamond Lift
Guide Rail, Rear Cover

Bracket, Rear cover mount

Plate, Cover, Rear, Left Diamond lift.

Plate, Cover, Rear, Right Diamond lift.
Weldment, Rear Bridge, Diamond
Weldment, Rear Bolted Cover, Diamond
Weldment, Extrusion Clamp

Carriage Weldment RH & LH

Bearing, Slide, DIA

Drive Motor Ass’y, Horizontal Drive Unit, D
Drive Ass’y, Horizontal Drive Unit, Less Mot
Shaft, Drive

Weldment, Drive Motor, Diamond Frame
Cover, Front, on Movable Ass'y

Transition Plate, Closure, Diamond w/10 ft
Cover, Pit, Extruded, Assembly

Cover, Extruded, Starter Element, Diamonc
Guide Block and Support for cover extrusio
Pipe, Plastic, 1/2"

Edmonton Cover Mov Pocket .38" x 12.625
Edmonton Cover Mov Pocket .38" x 12.625
Bar, Alignment, for Cover Guide
Weldment, Cover Guide Support, 10 pit
Turn Around for 17' Diamond Box

Bracket, Suspension, for Cover Guide on 17
Weldment, Cover Guide Support, 17 pit
Cover, Removable, on Pit for Movable Unit
Power Unit D64, Assembly, DIA

Block, Diamond Pump Mount, 1.5x5 x5, 6
Do Not Use

Gear Rack, 77.5" Long, for Diamond Lift
Gear Rack, 58.64" Long,for Diamond Lift
Gear Rack, 18.00" Long, for Diamond Lift
Gear Rack, 9.00" Long, for Diamond Lift
Covers, Semi Permanent, Narow Width Em
Base, Adapter, Sliding, for Diamond Bolster
Covers, Semi Permanent, Narow Width Em
Cover, Assembly, Plumbing, Diamond lift
Control Console, Sloped Top Cover, Diamol

$121.61
$312.13
$482.37
$0.00
$689.52
$60.41
$0.00
$0.00
$283.80
$32.43
$1,897.07
$1,897.07
$1,337.69
$620.20
$299.97
$0.00
$166.20
$6,728.94
$3,554.99
$279.70
$976.92
$0.00
$0.00
$433.73
$458.06
$105.40
$1.63
$227.00
$227.00
$308.07
$0.00
$7,831.51
$2,610.50
$2,237.57
$1,783.57
$25,647.80
$275.64
$0.00
$0.00
$0.00
$0.00
$0.00
$4,175.19
$2,582.13
$10,024.50
$235.11
$0.00



D91012
D91900
DB00110
DB00113
DB00117
DB044000
DB084000
DB086000
DBQ390400
DBQ6158717
DC11400
DCAA200
DEB06401
DIACONVKIT
DLCUS200
DM25GY
DP31CS
DP44000

D910-12
D919-00
DB001-10
DB001-13
DB001-17
DB0440-00
DB0840-00
DB0860-00
DBQ3904-00
DBQ615-87-17
DC114-00
DCAA2-00
DEB064-01
DIACONVKIT
DLCUS2-00
DM-25-GY
DP31CS
DP440-00

DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

Panel, front/rear, Diamond 96 Console
Reservoir, Assembly for Diamond 3 piston,
Energy Chain & Hoses, Ass'y, for Diamond
Energy Chain & Hoses, Ass'y, for Diamond
Energy Chain & Hoses, Ass'y, for Diamond
Hose Ass'y, 1/4" x 40', w/Fittings, From Cor
Hose Ass'y, 1/2" x 40', w/Fittings, From Cor
Hose Ass'y, 1/2" x 60', w/Fittings, From Cor
Hose Ass'y, 1/4" x 101", w/Fittings, Thru Ct
Tranisiton Plate, Short, for DIA Quick Turn
Guide, for carrier chain, Diamond Lift
Energy Chain for Diamond 10 ft. Pit

Panel, Front/Rear, Diamond & ECO Console
Diamond Conversion Kit S8 Diamond
Tube, Hydraulic, Suction, Small

Plug, Dome M25 x 1.5, Grey Plastic
Battery, 12V Maintenance Free Cycle Servi
Shelf, Sump Pump, Diamond Lift

DQ6158717REV( DQ615-87-17REV01 Transition Plate, Closure, Diamond w/39" T

DRCBCO02
DUC161029HB
DUC16103014
DWO01AA
DWO001BC
DW34500LH
DW34500RH
DWX0000
E00001
E000048B
EO0009B
E00013
E00021
E00022
E00023
E00024
E00025
E00027
E00028
E00029
EO0030
E00031
E00032
E00060
E00076
E00079
E00080
E00081

DRCBC-02

DUC-16.10.29.HB
DUC-16.10.30.14

DWO001-AA
DWO001-BC
DW345-00LH
DW345-00RH
DWX00-00
E00001
E00004-B
E00009-B
E00013
E00021
E00022
E00023
E00024
E00025
E00027
E00028
E00029
E00030
E00031
E00032
E00060
E00076
E00079
E00080
E00081

Aluminum Trench Cover, 1 Piece
Capacitor, Run, 377V Max / 40 mf, For SK r
Capacitor, Run, V max / 50 mf Ducati, For 2
Energy Chain & Hoses, Ass'y, for Frame Tyg
Energy Chain & Hoses, Ass'y, for Frame Tyg
Cover Plate, Diamond, Fixed Piston, Left He
Cover Plate, Diamond, Fixed Piston, Right F
Gear Rack, 43.98 inch, Diamond Frame
Switch, Disconnect, ECO Classic

40A 600V Overload Relay

Circut Breaker 32A 3-Pole

PLC, Classic Eco, Programmed

Handle, Disconnect, Eco Classic

Switch, 3-position, ECO

Contact Block, N/O

Contactor, NC

Switch, Selector, 3 Position, 22mm
Pushbutton, 22mm, ILL

Button, Red, Lowering

Lamp, Pilot, Red

Button, E-Stop, Red

Button, E-Stop Reset, With Green Light
Bracket, Backing

Terminal, Grounding, Din Rail Mount, Eco
Plate, ID, Power on Switch

Plate, ID, E-Stop Button

Connector, RT Angle, #18, Clear Finish
Connector Clamp, With Rubber Bushing, #1

$0.00
$0.00
$0.00
$0.00
$0.00
$502.64
$648.57
$916.12
$0.00
$0.00
$920.16
$1,337.69
$353.77
$9,714.00
$77.01
$4.49
$315.62
$0.00
$0.00
$131.58
$39.71
$54.89
$3,121.26
$2,448.36
$708.17
$708.17
$547.23
$298.60
$0.00
$0.00
$0.00
$262.18
$109.64
$56.34
$0.00
$0.00
$75.84
$36.42
$220.58
$189.81
$68.91
$243.99
$51.13
$17.34
$17.34
$214.94
$72.38



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

E00082
E00083
E00084
E00085
E00086
EO0087
EO0088
E00093
E00095
E00096
EO0098
E00100
E00108
E00109
E00110
E00112
E00113
E00114
E00115
E00116
E00117
E00118
E00121
E00123
E00124
E00130
E00131
E00132
E00132 IGUS
E00134
E00140
E00141
E00148
E00149
E00150
E00151
E00152
E00153
E00154
E00162
E00167
E00171
E00172
E00173
E00175
E00951
E22ML2

E00082
E00083
E00084
E00085
E00086
E00087
E00088
E00093
E00095
E00096
E00098
E00100
E00108
E00109
E00110
E00112
E00113
E00114
E00115
E00116
E00117
E00118
E00121
E00123
E00124
E00130
E00131
E00132
E00132 IGUS
E00134
E00140
E00141
E00148
E00149
E00150
E00151
E00152
E00153
E00154
E00162
E00167
E00171
E00172
E00173
E00175
E00951
E22ML2

Crimp Pin, Silver Plated, SZ 16

Wall Receptacle Amphenol Receptacle, Cor
Crimp Socket Contacts 10 Each Required Al
Cap Screws, 4-40 4 Required Amphenol Ret
Locknut 4-40 4 Each Required Amphenol Rq
Connector, RT Angle, on Classic Remote
Connector Clamp, Fits EO0083

Contactor, Main, ECO

Relay, Motor Starter, ECO - Superseded to
IS Barrier

Alarm, Acoustical, ECO lift

Home Light - Blue

Plug, Mate-N-Lock, 4P, Double Row

Pin, Contact, Mate-N-Lock 22-18 AWG
Ring Tongue Terminal 12-10 AWG, #8

Plug, 4-wire, for ECO valve cable harness
Pin, for Plug E00112, Std Crimp

Pin, for Plug E00112, Wide Crimp

Cap, Connector, Mate-N-Lock 4P, Female, [
Socket, Contact, Mate-N-Lock 22-18 AWG
Lumborg M8 Field Connector (Female) 3W
Lumborg M8 Field Connector (Male) 3W EC
Cord Grip

Cord Grip

Locknut, Cord Grip

Relay, Power

Base, for Relay, Din Rail Mount

Flex Cable 12x18 AWG, Pendant Cable

Igus CF5 Cable Sold By The Foot

Cable, Inclinometer, 3XAWG22, x inch
Connector, Din Rail Mount, Single

Lamp, Green LED, 24 vdc

Button, E-Stop, Classic ECO Panel

Button, Momentary, Red, Classic ECO Pane
Button, Momentary, Black, Classic ECO pat
Button, Momentary, Green, Classic ECO Pa
Switch, Selector, 3-Position, Maintained, Cl
Contactor, Normally Open, Classic ECO Pan
Switch, Selector, 3-Position, Spring Returne
PLC, for Classic ECO, CPU 222 8DI 6DO
Contactor, Normally Closed, Classic ECO Pa
Tape Switch, ISB, Isolator/Amplifier, SKYIift
Tape Switch, Din-Rail Base, Isolator/Amplifi
Tape Switch, Power Supply

Lamp, Amber LED, 24 vdc

Button, E-Stop, Eco Classic pendant

Stop Button, Red Button Only, For ECO Lift

$6.50
$308.98
§7.79
$1.56
$1.35
$368.37
$95.33
$539.12
$227.94
$1,936.87
$302.48
$0.00
$0.00
$0.00
$0.00
$3.03
$0.42
$1.29
$10.84
§7.79
$194.15
$167.27
$31.22
$54.48
$13.62
$82.34
$69.34
$2.60
$0.00
$0.42
$19.93
$161.16
$282.11
$65.01
$65.01
$65.01
$112.67
$84.93
$125.25
$6,452.79
$84.93
$1,330.32
$258.76
$632.36
$190.51
$0.00
$0.00



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

E48R00 E48R00 Legend Plate, Front Panel, Includes EO0071 $55.03
EC0603314 EC0603314 DO NOT USE $0.00
EC0603316 EC0603316 Sticker, Vinyl, Eco 60 Logo on Scissor $95.33
ECO GAUGE KIT ECO GAUGE KIT ECO Gauge Kit S0.00
ECO HOME LIGH ECO HOME LIGHT K Home Light Retro Fit Kit $0.00
ECO Hose ECO Hose ECO Additional Hose and Cable by Foot S0.00
ECO0603313L09 ECO0603313-L099/ Spider Coupling $0.00
ECO0604 ECO0604 use ECO0604-00 $0.00
ECO060400 ECO0604-00 Hose Ass'y, 3/8" x 50", w/fittings, Bulkheac $234.02
ECO080600 ECO0806-00 Hose Ass'y, 1/2" x 75", w/fittings, Bulkheac $264.78
ECO100400 EC01004-00 Hose Ass'y, 1/4" x 159.5", w/Fittings, Thru | $0.00
ECO100600 ECO1006-00 Hose Ass'y, 3/8" x 210.5", w/Fittings, Thru S0.00
ECO100800 ECO1008-00 Hose Ass'y, 1/2" x 212.5", w/Fittings, Thru | $342.35
ECO130400 ECO1304-00 Hose Ass'y, 1/4" x 179.0", w/Fittings, Thru | $312.02
ECO130600 ECO1306-00 Hose Ass'y, 3/8" x 228.5", w/Fittings, Thru | $419.07
ECO130800 ECO1308-00 Hose Ass'y, 1/2" x 230.5", w/Fittings, Thru | $439.44
ECO170400 ECO1704-00 Hose Ass'y, 1/4" x 201.5", w/Fittings, Thru | $330.22
ECO170600 ECO1706-00 Hose Ass'y, 3/8" x 252.5", w/Fittings, Thru S444.62
ECO170800 ECO1708-00 Hose Ass'y, 1/2" x 254.5", w/Fittings, Thru | $465.86
ECO603201A ECO603201A Power Unit Complete, ECO60 Classic S0.00
EC0603304 ECO603304 Coupling Hub, With Keyway $110.51
EC0603305 EC0603305 Bolt, Flange, HHFB, 1/2-13 X 1-1/2, Eco $11.71
EC0603313 ECO603313 Coupling, Spider, L099/100 Plastic $159.05
ECO603314 EC0O603314 Sticker, Vinyl, ECO 60, Leg Sticker $18.63
ECO0603316 ECO603316 Sticker, Vinyl, ECO 60, Head Plate Sticker $95.33
EC0603320 EC0603320 Safety Card $37.26
EC0603329 ECO0603329 Shipping Lumber 2" X 4" X96" Long $1.01
ECO603332 EC0O603332 Hose, Hydraulic, 1/2", #8, x Inch S2.16
ECO603332A  ECO603332A Hose, Hydraulic, 1/2", #8, x Foot $5.49
ECO603333 ECO603333 Tubing, Polyethylene, 5/32" OD $0.42
ECO603334 EC0603334 Tubing, Polyethylene, Black, 1/4" x Inch $0.42
ECO603338A ECO60-3338A Pendant Assembly, ECO 60, Classic S5,985.42
ECO603503A  ECO60-3503A Quick Release Upgrade ECO Classic Pendan ~ $1,087.75
ECO603603A ECO60-3603A Pendant Assembly, ECO 60 Classic, W/ Amg S0.00
ECO60BV5300 ECO60BV5300 IGUS Remote Cable Replacement 53" $0.00
ECO60RCSTD ECO60RC-STD Cable, Replacement For ECO Remote, 35' S0.00
ECO903103A  ECO090-3103A Pendant, Optional, ECO 90 $0.00
EC0O903314 EC0903314 Sticker, Viny,| ECO 90, Leg Sticker $18.63
EC0903316 EC0903316 Sticker, Vinyl, ECO 90, Head Plate Sticker $0.00
ECO903338A EC0O903338A Pendant Assembly, ECO 90, Classic $7,595.86
ECOEHP ECO-EHP ECO External Hand Pump Kit $4,119.12
ECOFIXED ECOFIXED Fixed Mechanism, Classic ECO $44,203.16
ECOFIXEDN ECOFIXED-N Fixed Mechanism, GEN 4, With W44 Steel - $0.00
ECOHOSEKIT ECOHOSEKIT Hose Kit, Hydraulic (6 Pieces), ECO $0.00
ECONSYS ECONSYS Complete Electronic Control System Conve $1.80
ECOPARTKIT ECO-PART-KIT ECO Part Kit S0.00
EFPTTCF EFP-TTC-F Hydraulic Unit, TTC ECO only, Fixed, SPX, 5. $11,594.66



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

EFPTTCM EFP-TTC-M Hydraulic Unit, TTC ECO only, Moveabe, SP  $9,952.22
EMATO0100 EMATO01-00 Tool, Mounting Pin, Long, for ECO Scissor A $812.68
EMATO0200 EMATO02-00 Tool, Mounting Pin, Short, for ECO Scissor / $470.51
FC25 FC-2.5 Valve, flow control. 2.5 gpm, ECO SPX pow: $144.48
Festoon 4000 Festoon 40-00 Festoon Assembly, (used with Part# T1231. $0.00
Festoon 6000 Festoon 60-00 Festoon Assembly, (used with Part# T1231. $0.00
FestoonMarta Festoon-Marta Festoon System For Remote Pendant $0.00
FTA2A10QV25S& FTA2A10QV25S8A Filter Assembly, Classic, ECO 60 & 90 S0.00
Gaugekit Gaugekit 5000 psi Gauges w/10s fittings, set of 4 w/( $567.50
GM11267 G-M11267 Gasket, Cork, Valve Body on ECO Classic $125.67

HA634V54BA05: HA634-V54-BA05-3 Plug, w/Wire, for ECO Classic Valve Solenoi $108.35
ICN3P32SC351 ICN-3P32-SC-351  Ballast For Lighting On Mobiles Old 'ESI' # E $118.34
IOP2P59SC351 |0P-2P59-SC-351  Ballast For Lighting On Platform Lifts Old 'E: $135.22

KP31DK KP31DK Pump, hydraulic, for ECO power unit $563.37
KWRM15015 KWRM15015 Cable, Ext., for Zigbee Relocation $101.76
MEG041302322( MEG-0413-02-322-(Bridge, Full, ECO Classic w/ 42" Wide Pit $1,820.13
MEG050827122( MEG05082712200F Lifting Adapter Front Orion 5.5 x 3.7 $0.00
MFG040612 MFG-0406-12 Half Shaft, Drive, Carriage S0.00
NM25GY NM-25-GY Nut, Binding M25 x 1.5, Grey Plastic $5.25
OilTellus Oil-Tellus Hydraulic Oil, Tellus, 5 Gallon Pail $656.55
OPVL49200 OPVL49200 Factory Install of Digital Weight Gauge fort  $1,162.24
OPVL89001 OPVL89001 Extra Remote Cable, Sold in 5' Increments S0.00

OPVLANTISKID OPVLANTISKID Stertil-Guard Anti-Skid, Repair Kit, 9.3L, Gre =~ $2,193.68
OPVLANTISKIDRI OPVLANTISKID-RED Stertil-Guard Anti-Skid, Repair Kit, 9.3L, Rec ~ $1,013.40

P0O0001 P0O0001 Bearing, Journel, Composite Polygon 2" ME $107.48
P00002 P00002 Nut, Hex, Gr 5, 1/2" $1.74
PO0004 PO0004 Washer, Flat, Plated, 1/2", USS $1.74
P00010 P00010 Bolt, Hex Head Cap, grd 5, %" x 2” $7.37
P00012 P00012 Washer, Lock, 1/2” $1.29
P0O0013 P00013 Nut, J-Nut $3.90
P00015 P00015 Bolt, SHCS, GR 8, Black, 1/2"-13 x 2 1/2" $0.00
P00018 P00018 Washer, Lock, Plated, 1/4" S0.42
P00019 P00019 Washer, Flat, Plated, SAE 1/4" $0.42
P000217 P000217 Bearing Journel, Composite, 1-3/4" length $88.41
P00025 P00025 Bolt, Retaining (Black) 3/8 X 2-1/2 PUR-000 $6.50
P000263 P000263 Stainless Steel 1/2 - 13 x 2 FHCS $0.00
P00028 P00028 HHCS GR5 Plated 1/2"-13 x 1 1/4" ECO 60 $5.21
P000283 P000283 Riv-Nut $0.00
P0O0030 P00030 Velocity Fuse, ECO $597.18
P00032 P00032 Screw, Button Head, S/S, 1/4"-20 X 1/2" $1.29
P00039 P00039 Bolt, 1/2"- 13 x 2" $0.00
PO0057 PO0057 Fitting, Zerk Grease 1/8" NPT, DIA S4.87
P0O0059 P0O0059 Bolt, Hex Hd, Gr 5, 3/8-16 3/4 $0.00
P0O0067 P00067 Screw, HHCS, Plated, 1/2-13 X 2.5 $3.47
P0O0068 P00068 replaced by P00256 $0.00
P0O0069 P00069 Washer, Flat, Plated, SAE 3/8" S0.42

P0O0105 P00105 Nut, Hex, Black, 10-24 $0.00



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

P0O0136
P0O0139
P00141
P0O0150
P00150SS
P0O0165
P00178
P00183
P00187
P00189
P00214
P00214SS
P00215
P00216
P00217
P00219
P00223
P00224
P00229
P00230
P00233
P00236
P00237
P00239
P00242
P00243
P00249
P00251
P00256
P00258
P00261
P00262
P00263
P00265
P0026501
P00268
P00269
P00270
P00271
P00273
P00278
P00280
P00281
P00282
P00283
P00285
P00291

P00136
P00139
P00141
P00150
P00150SS
P00165
P00178
P00183
P00187
P00189
P00214
P00214SS
P00215
P00216
P00217
P00219
P00223
P00224
P00229
P00230
P00233
P00236
P00237
P00239
P00242
P00243
P00249
P00251
P00256
P00258
P00261
P00262
P00263
P00265
P00265-01
P00268
P00269
P00270
P00271
P00273
P00278
P00280
P00281
P00282
P00283
P00285
P00291

Washer, Flat, Plated, USS 0 3/4, Zinc Steel
Screw, HHCS, GR5, Plated, 1/2-13 X 3
Screw, HHCS, GRS, Plated, 1/2-13 X1 1/2
Washer, Flat, Plated, SAE 3/4"

Washer, Flat, S/S, SAE 3/4"

Muffler, 1/8" ECO

Nut, Hex, Gr 5, plated, %"”-10

Fitting, Elbow, Bulkhead, 1/2" JIC, #8
Screw, HHCS, GRS5, Plated, 3/4-10 X 3
Washer, Lock, Plated, 3/4”

Washer, Flat, Plated, SAE 5/8"

Washer, Flat, S/S, SAE 5/8"

Washer, Flat, Plated, SAE 1/2 DIA

Roll Pin 1/4 X 1 PUR-00216-00

Bearing, Journel, Composite Polygon, 2" di:
Bolt, Black Finish, 3/8-16 X 1

Cylinder, Pneumatic, lock release, ECO thru
Switch, Limit, Air, ECO

Bolt, SHCS, GR 8, Black, 10-24 x 1 1/2"
Muffler, Air, Eco Classic

Drive Motor ECO Low Speed High Torque
Extrusion, Pit Cover, 45.25", ECO Thru G-4
Gear, Spur, Hardened, For 3/4" Shaft
Coupling Hub half shaft side, 3/4", ECO Clat
Fitting, Straight Union, Bulkhead, 3/8" JIC, 1
Fitting, Straight Union, Bulkhead, 1/4" JIC, 1
Fitting, Elbow, Bulkhead, 3/8" JIC, #6
Fitting, Elbow, 10m x 6m, ECO

Screw, Button Head, S/S/, 1/4-20 X 3/4
Zinc Plated Alloy STL Button SHCS 1/2-13X1
Fitting, Push To Connect, 1/4 "

Fitting, Push To Connect, 5/32"

Screw, Flat Head, Hex socket, 1/2-13 x 2, S,
obsolete Saddle Stop Assembly With Spring
Pin, Quick Release on Adapter Base, less Kr
HHCS, GR5

Nut, Hex

Bolt, Shoulder, PUR-00212-00

Bearing, Journel, Bronze, PUR-00192-00
Screw, Zinc Plated .50"X13X1.25"

Fitting, Elbow, Swivel Nut, 3/2" JIC, #6
Screw, Allen Soc. Cap, Alloy, Zinc Plated Fin
Rivet, Blind, 3/16" x .626 S/S
Riv-nut, 3/8" x .150

Nut, Riv, %"

Screw, HHCS, GRS, Plated, 1/2-13 X 1/2
Chain, Cable and Hose Carrier, Single Link, |

$0.42
$2.39
$0.00
$2.16
$6.08
$37.26
$5.63
$25.13
$16.90
$3.03
$1.29
$2.60
$0.87
$0.00
$88.41
$3.03
$265.23
$815.15
$1.74
$151.25
$8,102.17
$746.69
$621.02
$304.89
$24.38
$31.45
$0.00
$30.76
$1.74
$11.71
$32.50
$57.21
$9.53
$0.00
$130.43
$0.00
$0.42
$0.00
§7.79
$11.26
$15.16
$2.60
$3.03
$6.50
$10.40
$12.13
$13.43



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

P00318
P0O0319
P00320
P00321
P00323
P00325
P00329
P0O0330
P0O0331
P00397
P00402
P00403
P00404
P00405
P00406
P00407
P00408
P00409
P00410
P00412
P00413
P00414
P00415
P0O0416
P00426
P00427
P00428
P00429
P00430
P00431
PO0431A
P00433
P00434
P00436
P00437
P00441
P00442
P00444
P00445
P00446
P00459
P00463
P00467
P00468
P00470
P00471
P00476

P00318
P0O0319
P00320
P00321
P00323
P00325
P00329
P0O0330
P00331
P00397
P00402
P00403
P00404
P00405
P00406
P00407
P00408
P00409
P00410
P00412
P00413
P00414
P00415
P00416
P00426
P00427
P00428
P00429
P00430
P00431
PO0431A
P00433
P00434
P00436
P00437
P00441
P00442
P00444
P00445
P00446
P00459
P00463
P00467
P00468
P00470
P00471
P00476

Gear, Spur, 14 1/2, 6P, 12 Teeth 2" Pitch EC
Mounted Bearing, 1"

Shaft Coupling, With Splines

Machine Key 1/4" x 1/4" x 12" Length
Bearing, Mounted, 1 1/4"

Bolt, Plated, 3/8 X 3, Gear Rack

Knob, Quick Release Pin on Adapter Base
Chain, End Links, Pair, Cable & Hose Carrier
Fitting, Elbow, Union, 1/2" FIP

Valve, Air, 24V, for locks, ECO & Diamond
Clamp, Hose, ECO

Connector, Straight Threaded, ECO

Fitting, Elbow, Swivel Nut, 1/2" JIC, #8
Fitting, Straight Union, Bulkhead, 1/2" JIC, 1
Fitting, Push to Connect, 1/4" Push x 1/4" F
Fitting, Elbow, 5/32" od x 5/32" od, Push tc
Hose, 1/4" Coil, ECO Lift

Connector For Coil Hose 1/4" X 1/4" npt EC
Fitting, Pneumatic, Eco

Fitting, Tee, %4” od x %4” od x %4” od, Push to
Fitting, Reducer, %” od x 5/32” od, Push to
Spiral Wrap

superseded to # P00436 Fitting, Union Ell, !
Fitting, Tube Reducer, 3/8" x 1/4”

Fitting, Crimp on, 1/2" JIC, Female Swivel, #
Fitting, Crimp on, 3/8" JIC, Female Swivel, #
Fitting, Crimp on, 1/4" JIC, Female Swivel, #
Fitting, Crimp on, 3/8" Male Thread w/O-Ri
not used

Hose, Hydraulic, 1/4", #4, x Inch

Hose, Hydraulic, 1/4", #4, x Foot

Fitting, Push to Connect, 1/4" Push x 1/4" }
Fitting, Male Adapter, 1/4" Push to Connec
Fitting, Air, Swivel, 1/4" x 1/8"

Fitting, Y, %” od x %” od x %" od, Push to Cc
Fitting, Bulkhead Nut, #6

Fitting, Bulkhead Nut, #8

Valve, Lowering, Double Poppet, Ver. 3.2, (
Screw, 4-40x1%”, Zinc Plated

Nut, Hex, 4-40, Zinc Plated

Adapter

Test Coupling FF14784

O-Ring

Ring

Cable, PCB to Unlock solenoid, ECO & Diamnr
Cable, w/ plug for P00397 Valve, for locks,
Cap, #4

$299.02
$0.00
$694.67
$8.24
$150.28
$12.13
$39.00
$67.59
$0.00
$305.95
$0.00
$0.00
$0.00
$29.48
$28.09
$23.84
$93.17
$72.38
$76.71
$71.51
$50.27
$0.00
$0.00
$0.00
$37.26
$34.67
$28.17
$38.58
$0.00
$1.74
$3.99
$0.00
$39.00
$38.58
$0.00
$8.66
$8.66
$1,287.51
$0.00
$0.00
$29.80
$612.48
$4.25
$21.28
$169.01
$52.00
$0.00



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

P00477
P00478
P00481
P00482
P00483
P00484
P00489
P00497
P00498
P00499
P0O0500
P00502
P0O0507
P0O0508
P0O0509
P0O0511
P0O0513
P0O0514
P00529
P0O0537
P00540
P00541
P00548
P0O0550
P0O0551
P00552
P0O0554
P0O0555
P0O0556
P0O0557
P00561
P0O0578
P0O0580
P00581
P00582
P00584
P0O0585
POO585KIT
P0O0587
P005882
P0O0590
P0O0591
P00600
P00601
P00602
P00603
P00604

P00477
P00478
P00481
P00482
P00483
P00484
P00489
P00497
P00498
P00499
P0O0500
P00502
P00507
P0O0508
P00509
P0O0O511
P0O0513
P0O0514
P00529
P00537
P00540
P00541
P00548
P0O0550
P0O0551
P00552
P00554
P0O0555
P00556
P0O0557
P0O0561
P0O0578
P0O0580
P0O0581
P00582
P00584
P0O0585
POO585-KIT
P0O0587
P00588-2
P0O0590
P0O0591
P00600
P00601
P00602
P00603
P00604

Cap, #6

Cap, #8

Hex Nipple 3/8 X 1/4 C3069x6x4

Test Hose Assy 60" FF14798

Filter, Qil, ECO Classic

Breather, ECO Classic

Screw, set, Allen socket, knurled-cup point
Connector, Cord .375-.5 1"

Valve, Main, Classic ECO

Cover, Dust, for Amphenol Connector on C
Switch, Pressure Sensor, Lock Open

Coil, Solenoid, Main lowering Valve, Classic
Motor, Hydraulic, Low Speed, High Torque,
Gear, Beveled, for Drive Unit in Diamond
Bearing, flange mount, 1” bore

Cylinder, Pneumatic, Lock Assembly
Washer, Split Lock, 5/8" Zinc Plated

Screw, Socket Head Cap, 5/8”x2%, FT, DIA
Glass, Oil Level Gauge, ECO Qil Tank

Valve, Lowering, Single Poppet, Ver. 3.1, Cl
Fitting, EIbow, Swivel Nut, #4

Valve, Pressure Relief, drive Motor, Classic
Screw, Socket Head Cap, 1/4-20x11/2, S/
Bolt, Serrated Flange, Hex Head, Diamond |
Bearing, Flange Mount, Diamond, Dive Ass'
Bolt, HHCS, 7/16"-20 x 1", Gr 8, Full Thread
Bolt, SHCS, 3/8-16 x 1.375. Diamond
Screw, Flat Head Self-Drilling Screw, #12X1
Hydraulic Unit, ECO, Fixed, SPX, 230/460V :
Hydraulic Unit, ECO, Movable, SPX, 230/46
Spring, Gas, Diamond Lift

Grommet, Sealing, 4" Pipe

Bearing, Igus, Lock Bar Pivot

Encoder, Linear, ( potentiometer ) for ECO
Set Screw, Diamond Lift

Pin,Roll, for Locking Bar

Piston, Hydraulic, Telescopic, Hi Pressure (F
Piston, Install Kit

Nut, Flange Lock DIA

Screw, FHMS, 1/2"-24 x 1/2", Phillips

RF Cover - Plastic

Screw, Socket Head Cap, Alloy, Gr 8, 3/4-1¢
Valve, Retracting Release, ECO90 Classic
Cartridge, Flow Control, Adjustable
Adapter, 1/2 X #8

Adapter, 3/8 X #6

Test Port Adapter

$0.00
$0.00
$0.00
$658.71
$829.89
$0.00
$2.04
$82.29
$727.19
$68.91
$571.16
$269.12
$3,307.72
$672.90
$112.67
$181.92
$0.81
$23.92
$177.68
$761.43
$0.00
$368.37
$3.99
$7.71
$206.73
$0.00
$1.46
$0.00
$5,555.72
$6,893.09
$132.86
$40.14
$32.43
$3,199.53
$7.13
$7.71
$10,133.94
$14,807.72
$22.70
$0.81
$119.56
$27.33
$0.00
$744.51
$0.00
$0.00
$0.00



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

P00605
P00607
P00608
P00609
P00613
P0O0615
P0O0616
P0O0617
P00619
P00620
P00623
P00628
P00629
P00630
P00632
P00633
P00634
P00639
P00640
P00648
P00649
PO0649A
P00651
P00652
P00654
P00656
P00662
P00671
P00672
PO0672DIA
PO0672ECO
P00682
P00683
P00703
P0O0774
P0O0785
P00797
P0O0798
P0O0799
P0O0803
P0O0857
P0O0858
P0O0860
P0O0861
P0O0865
P00866
P0O0879

P00605
P00607
P00608
P00609
P00613
P00615
P00616
P00617
P00619
P00620
P00623
P00628
P00629
P00630
P00632
P00633
P00634
P00639
P00640
P00648
P00649
PO0649A
P00651
P00652
P00654
P00656
P00662
P00671
P00672
P00672-DIA
P00672-ECO
P00682
P00683
P00703
P00774
P0O0785
P00797
P00798
P00799
P0O0803
P00857
P0O0858
P00860
P00861
P00865
P00866
P0O0879

Adapter, 1/4 X #4

Hydraulic Unit, ECO, Fixed, SPX, 575V, 3 Ph
Hydraulic Unit, ECO, Movable, SPX, 575V, 3
AWBP PLC With Screen

Bushing, Flange, Diamond Lift

Screw, Hex hd 5/16-18 x 1 1/14

Bearing, Flange mount, Diamond, Rear Bal:
Socket Head Shoulder Screw, 18-8, 3/8 Sha
Washer, Flat, 3/8, 18-8 Stainless Steel
Bearing, Sleeve - G300

Screw, Hex Hd 5/8-11 x 2-3/4, Gr8, Zinc
Sensor, Oil, Ultra-Sonic, C-G Plastic Barrel, |
Wiper, DIA Superseded by P01117
Bearing, DIA Superseded by P00964

Valve, Pressure Compensated Flow Control
Cable Asembly, Lock Bar, Diamond
Shackle, 5/16", Stainless Steel w/screw pin
Tape Switch, Resistor,1K

Urethane Spring, Diamond

Gasket, Tank Lid to Tank, Eco SPX hydr unit
Valve, Float, for Fluid Notification System
Valve, Float, for Fluid Notification System
Spring, Slotted Pin 7/32" x 2 1/4", DIA
Clamp, for Riser Pipe on Sump Pump Ass'y
Adapter, PVC, Male NPT x Soc, for Riser Pip
Spring, tension, for rear cover mechanism
Screw, Socket Head, Shoulder, 5/8 x 1 %, ¥
Fitting, Crimp on, Elbow, 1/2" JIC, Female S
Replaced by P00672-ECO or PO0672-DIA
Eprom, DIA, use w/ pcb 69900240

Eprom, ECO, use w/ pcb 69900240
Extrusions, Pit Cover, 43.5", ECO G-5/G-6, /
Plug, Pipe, 1/8" Black Iron, DIA

15 K Resistor

Switch, Selector, Special for TTC ECO 90
PCB, Power Board, Special for TTC ECO 90
Clevis, Piston, Lock Release, Gen 6
Bracket, Pivot, Lock Release, Gen 6, set of .
Cylinder, Pneumatic, lock release, ECO Gen
Clip, Retainer, Lock Release, Gen 6

Chain, Cable and Hose Carrier, Single Link, |
Chain, End Links, Pair, Cable & Hose Carrier
Resistor, % Watt-47K ohm, DIA

Nut,

Switch, Selector, for Pendant

Switch, Selector, 3-Position, Spring Returne
Switch, Rotary, 3 Position, Rotary, TTC Con:

$0.00
$6,976.29
$8,074.01
$5,025.97
$24.33
$5.90
$24.33
$44.59
$0.81
$16.21
$0.00
$1,503.87
$437.79
$126.47
$299.97
$226.61
$0.00
$1.47
$109.44
$80.02
$3,013.31
$1,628.45
$0.41
$37.71
$12.85
$143.09
$18.40
$121.35
$0.00
$64.09
$64.09
$569.45
$0.00
$0.00
$303.10
$2,539.09
$69.77
$63.71
$231.42
$2.60
$24.33
$101.34
$0.00
$0.62
$218.42
$119.28
$247.02



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

P0O0899
P0O0911
P00912
P0O0955
P00964
P00966
P00967
P00968
P00969
P0O0970
P00971
P00972
P00974
P00985
P01000
P01001
P01002
P01003
P01005
P01005C
P01019
P01025
P01027
P01032
P01043
P01044
P01045
P01049
P01051
P01052
P01061
P01062
P01063
P01064
P01068
P01070
P01071
P01072
P01073
P01074
P01075
P01076
P01077
P01083
P01096
P01097
P01098

P00899
P0O0911
P00912
P0O0955
P00964
P00966
P00967
P00968
P00969
P00970
P00971
P00972
P00974
P0O0985
P01000
P01001
P01002
P01003
P01005
P01005C
P01019
P01025
P01027
P01032
P01043
P01044
P01045
P01049
P01051
P01052
P01061
P01062
P01063
P01064
P01068
P01070
P01071
P01072
P01073
P01074
P01075
P01076
P01077
P01083
P01096
P01097
P01098

Full Coupling, 1 inch, Diamond, Sump Pumg
Fuse Holder

Fuse, 1 amp

Valve, Air, w/solenoid,

Bearing, Casting, Diamond ( MAIN SEAL ) Fc
Plastic Bottle, 4 oz, W/Yorker Lid

Valve, Lowering, 3-Way, N/C, Diamond
Valve, Ball Type Check, Diamond Lift
BIODEGRADABLE WAYLUBE 68 (DIA)

Shim, 0.005", Diamond, Fixed Cylinder Asse
Shim, 0.010", Diamond, Fixed Cylinder Asse
Shim, 0.020", Diamond, Fixed Cylinder Asse
Fitting, 3/8" Female Thread x Barbed
Screw, Socket Head Cap, Stainless Steel, 10
Motor, SPX, 575 volt, ECO / Diamond
Valve, Drive Reverse, ECO Lift, SPX VF6004
Valve, Drive Select, ECO Lifts, SPX VF9286H
Replaced by X00823 --- Valve, Lowering, EC
Motor, SPX, 240-460 V, 3-ph, ECO / Diamot
Motor, 240-460 V, 3-ph, ECO Classic Only
Trolley, for Pendant Festoon, SD CT 03 A SE
Valve, Lowering, Blue Knob, Diamond Lift
Coil, Eco & Diamond Lowering & Eco Drive
Plug, Cavity, for Diamond Valve Upgrade.
Label, Caution for Beacon Light

Cylinder, Hydraulic, Eco, Gen 6 Only

Pump, Sump, CF10, for Diamond, New Sty
Fitting, Adapter, 1/2" NPT Male x 1/2" soc
Fitting, Elbow, 1/2" Soc x 1/2" soc

Filter, Suction, for Diamond Sump Pump
Kit, Cartridge Valve, for PO0557, Movable F
Kit, Cartridge Valve, for PO0556, Fixed Pow
Kit, Hyd Pump, for P0O0557, Movable Powel
Kit, Hyd Pump, for PO0556, Fixed Power Ur
Fitting, Adapter, 90 deg. Ell

Manifold, Hydraulic Unit, Fixed Piston, Diar
Manifold, Hydraulic Unit, Movable Piston, I
Valve, Lowering, Red Knob, Diamond Lift
Valve, Pressure Relief, Lift Function, Diamo
Valve, Drive Select, Diamond Lifts

Valve, Drive Reverse, Diamond Lifts

Valve, Pressure Relief, Drive Function, Dian
Coil, Diamond Drive Select & Drive Reverse
Reservoir Vent, Diamond

Pump, Hydraulic Unit, Single Directional, Di
Bolt, Shoulder, 5/16", Allen Socket
Washer, Flat, UHMW .385 ID .625 OD .062

$106.34
$268.68
$190.68
$693.16
$235.11
$11.15
$0.00
$206.73
$3.65
$0.70
$16.85
$24.75
$0.00
$27.33
$2,852.83
§752.75
$1,505.07
$0.00
$2,413.84
$3,163.56
$555.34
$336.44
$304.01
$149.99
$10.84
$8,593.61
$1,467.40
$0.81
$0.81
$0.00
$3,041.79
$1,000.64
$762.30
$591.97
$11.40
$0.00
$0.00
$336.44
$0.00
$227.00
$263.49
$0.00
$149.99
$44.59
$1,333.63
$8.39
$1.29



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

PO1101
PO1110
PO1111
PO1112
P0O1117
P01125
P01129
P01129SS
P0O1131
P01131SS
P01132
P01141
P01141C
P01142
P01145
P0O1151
P01152
P01154
P01155
P0O1156
P0O1167
P01170
P01172
P01177
P01178
P01197
P01236
P01236C
P01237
P01253
P01254
P01255
P01264
P01265
P01277A
P01285
P01299
P01300
P01301
P01309
P01332
P01337
P01373
P0471203
P0620
P101100RV3
PS31

P0O1101
P01110
PO1111
P0O1112
P01117
P01125
P01129
P01129SS
P01131
P01131SS
P01132
P01141
P01141C
P01142
P01145
P0O1151
P01152
P01154
P01155
P01156
P01167
P01170
P01172
P01177
P01178
P01197
P01236
P01236C
P01237
P01253
P01254
P01255
P01264
P01265
P01277A
P01285
P01299
P01300
P01301
P01309
P01332
P01337
P01373
P04712-03
P0620
P-10-1-100-RV3
PS3.1

Test Port Adapter, ECO Classic

Spacer, Gear Rack, Zinc Plated

Gasket, Manifold to Tank, cork,

Pump, for ECO SPX hydraulic unit

Wiper Ring, Diamond Cylinder

Do Not Use

Ring, Retaining, for 5/8" Shaft Dia. (ECO)
RETAINING RING, Stainless Steel, for 5/8" S
Washer, Wave Disc Spring Washer, ECO Ce
Washer, Wave Disc Spring Washer, Stainles
Washer, Flat, millspec plastic, 3/4”

Grease, Molykote P40, Centering Links
Grease, Centering Links

Grease Container, EMPTY, for Centering Lir
Warning Label, Operator Instructions
O-Ring, Qil Resistant Buna-N, % Fractional '
O-Ring Oil Resistant 1/8 Fractional Width
Bolt, for top of lock bar

Washer w/ rubber seal, for bolt on top of I¢
Pin, Roll, for Top of Lock Bar

Connector, for Interconnect Sys Cable
Connector, 3-terminal PCB

Contactor, for P01172

Wiper Ring, Diamond Cylinder

Kit, Seal & O-Ring, Diamond Cylinder
Screw, Hex Head Bleeder, w/ O-ring
Sensor, Oil, Ultra-Sonic, P-F Metal Barrel, D
Cable, for P01236 Ultra-Sonic, Sensor, Dian
Set Screw, Stainless Steel used with Stoppe
Bolt, Custom, 1/2-13, w/Epoxy Thread Trez
Bolt, Custom, 5/8-11, Oversized Repair Bols
Plastic Cap, Gen 3 Centering Links

Pin, Clevis, Zinc Plated 3/8" X 1-1/8"

Pin, Cotter, Zinc Finished, Extended Prong,
Grease Gun, for P40 Molykote Grease

Seal Kit for P01096 Pump, Diamond

D100 Crimper Tool and Stand w/Die sets
T4120-14/Red 14MM T420 Die Set Red
T420-19/Green 19MM T420 Die Set Green
Seal, Shaft, Hydraulic Pump, SPX units

Seal Kit, Cylinder, Skylift

Grease Fittings, ECO

Manifold, Fixed Hydraulic Unit, Complete w
do not use: see 04712-03

Sleeve Bearing, Diamond Lift

Suction Strainer, For Eco Classic

Pump, for ECO SPX hydraulic unit (See P01

$468.04
$13.87
$170.75
$519.62
$506.70
$0.00
$1.66
$6.50
$7.08
$2.60
$10.40
$0.00
$181.59
$0.00
$8.66
$20.68
$2.04
$142.69
$21.09
$5.28
$0.25
$24.09
$0.29
$121.21
$466.16
$32.43
$826.93
$48.25
$28.17
$33.80
$37.26
§7.37
$3.90
$0.42
$0.00
$308.07
$3,729.29
$74.54
$74.54
$74.54
$619.71
$74.54
$1,633.59
$0.00
$0.00
$0.00
$537.37



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

PUR0023700
PUR0023800
PUR0023900
Q2161000
Q2161001 LH
Q2161002 RH
Q2161100
Q2162000
Q221300
Q221400
RB48700
RBV09000
RC52000
REHAB ECO
RRC700R 01
RRC800G
RS0415201
RS0415202
RW37200G
S8LDD024
SKOD24
SUPCONSYSP
SUPCONSYSS
T1231200
V389670E20
VD290115
vD290119
VD300115
VEINCEMRV
VF4010
VF6004
VF9286H
VH1009130
VH10091310
WD355 X 185
X00046A
X00283
X00308
X00469
X00823
X00946
X00947
X00948
X00949
X00950
X00951
X00952

PUR-00237-00
PUR-00238-00
PUR-00239-00
Q21610-00
Q21610-01 LH
Q21610-02 RH
Q21611-00
Q21620-00
Q2213-00
Q2214-00
RB487-00
RBV090-00
RC520-00
REHAB ECO
RRC7-00R 01
RRC8-00G
RS-04152-01
RS-04152-02
RW372-00G
S8LDD024
SKOD-24
SUPCONSYS-P
SUPCONSYS-S
T12312-00
V389670E20
VD290115
VvD290119
VD300115
VEI-NC-EM-RV
VF-4010
VF-6004
VF-9286H
VH100913-0
VH100913-10
WD-35.5X 18.5
X00046-A
X00283
X00308
X00469
X00823
X00946
X00947
X00948
X00949
X00950
X00951
X00952

Spur Gear, 10 Pitch X 16 Tooth

Mounted Bearing, 3/4"

Shaft Coupling, 3/4 - Key X 7/8 - 13 Spline
Quick Turn

End Section, Wall Assembly, Gen 4 ECO
End Section, Wall Assembly, Gen 4 ECO
Weldment, End Section Assembly

Quick Turn, End Section, Special
Weldment, Flush Mount, Quick-Turn End, L
Weldment, Flush Mount, Quick-Turn End, F
Weldment, End Cover, Diamond

Optional Remote ECO90

Carriage Assembly

Refurbish ECO, Both Mechanisms
Extension, Drive Side, Turn Around, RW
Wledment, End Section Cover, MF RW, Gal
Nylatron Block, Outer Leg, Greaseable
Nylatron Block, Inner Leg, Greaseable
Weldment, Fixed Cover, RW, Galvanized
Coil, DIN, 24VDC

Self Evacuating Oil Drain, 24 Gal. Capacity v
Superior Control System Primary - Complet
Superior Control System Secondary - Comp
Festoon Part Assembly (Hanger for Festoor
Lowering Valve

Eye Ring, Lifting Lug, Used to lift Diamond (
Special Adapter, to Remove Top of Diamon
Keeper Plate, Keeps Inner Piston from Goir
Lowering Valve BV Controls

VALVE MAN., 24V, 2 WAY NC, ECO

VALVE BODY, 24V, 2P4W, ECO

VALVE, 24V, 3W2P, ECO

Fabric Cover, Movable - 2 Required Per Mo
Fabric Cover, Fixed - 2 Required Per Fixed N
Wheel Dish 35.5 X 18.5

Locknut

Nut, Hex, 10-24

Reservoir Vent, Skylift

Cord Grip

Valve, Lowering for BV ECO, Red Alum Knol
Push Button, Non Metalic ECO Lift
Operator Grn PB ECO Lift

Push Button, Non Metal ECO Lift

Selector Switch ECO Lift

Selector Switch ECO Lift

Emergency Stop 22.5mm ECO Lift

Contact Block ECO Lift

$0.00
$0.00
$0.00
$0.00
$0.00
$0.00
$0.00
$6,067.10
$0.00
$0.00
$4,877.64
$0.00
$8,301.73
$21,668.21
$603.99
$603.99
$286.89
$398.69
$4,877.64
$0.00
$1,717.30
$3,838.09
$3,838.09
$3,061.72
$0.00
$405.36
$405.36
$405.36
$533.04
$715.06
$671.72
$1,256.76
$10,771.27
$0.00
$0.00
$0.00
$1.29
$46.83
$0.00
$883.63
$173.35
$173.35
$173.35
$421.66
$255.68
$826.86
$264.78



DocuSign Envelope ID: 5B3C13C4-68F7-4DF4-8749-4EA777A1F558

X00953
X00955
X00956
X01033
X603300
X99994
X99995
X99996
X99997
X99998
X99999

X00953
X00955
X00956
X01033
X603300
X99994
X99995
X99996
X99997
X99998
X99999

Diode ECO Lift

Cord, SO, 16-10 x Inch
Connector, Cord, 3/4 x .5 Kit

Relay, Eco Lifts

Gear Rack, no holes, no paint

Cable Carrier Assembly, 17' Box, ECO
Cable Carrier Assembly, 13' Box, ECO
Emergency Stop-3SB3500-1TA20 ECO Lift
Miscellaneous Hardware ECO Lift
Contactor- 3SB3400-OC ECO Lift
Contactor- 3SB3400-0OB ECO Lift

XA14692010501 XA-146920105011 Retractable Reel, With 1/8" X 50' Cable

$0.00
$1.09
$1,057.41
$177.68
$858.07
$0.00
$0.00
$0.00
$0.00
$0.00
$0.00
$0.00



